SUBMITTAL TO THE BOARD OF SUPERVISORS COUNTY OF RIVERSIDE, STATE OF CALIFORNIA





FROM: TLMA - Transportation Department

SUBMITTAL DATE: December 8, 2011

SUBJECT: Construction of Roundabout, Rancho California Road and Anza Road, Temecula

Valley (Wine Country) area.

RECOMMENDED MOTION: That the Board of Supervisors:

- 1. Approve one Addendum to the specifications and plans, issued prior to the November 01, 2011 bid opening.
- 2. Accept the low bid of Mamco, Inc. of Riverside, CA in the amount of \$1,527,163. Award the contract to that firm and authorize the Chairman of the Board to execute the contract documents.

Director of Transportation

JCP:jrj:rr

Departmental Concurrence

FORM APPROYED COUNTY COUNSE

(Continued On Attached Pages)

FINANCIAL

Current F.Y. Total Cost:

\$ 1,527,163

In Current Year Budget: **Budget Adjustment:**

Yes No

DATA

Current F.Y. Net County Cost: Annual Net County Cost:

\$ 0

For Fiscal Year:

2011/2012

SOURCE OF FUNDS: DIF Major Improvement Fund 30525 (61.0%),

Measure A (36.0%), Rancho California Water District (1.8%), County Parks

District (0.8%), Metropolitan Water District (0.4%) There are no General Funds used in this project.

Deleted Per A-30

Positions To Be

Requires 4/5 Vote

C.E.O. RECOMMENDATION:

APPROVE

County Executive Office Signature

MINUTES OF THE BOARD OF SUPERVISORS

On motion of Supervisor Buster, seconded by Supervisor Tavaglione and duly carried, IT WAS ORDERED that the above matter is approved as recommended.

Ayes:

Buster, Tavaglione and Benoit

Navs:

None

Kecia Harper-Ihem

Absent: Date:

Stone and Ashley December 20, 2011 Clerk of the Board

XC:

Transp.

Prev. Agn. Ref. 10/04/11, Item 3.25

Agenda Number:

Dep't Recomm.: Exec. Ofc.:

 \boxtimes

Consent

П

Z

Consent

ATTACHMENTS FILED WITH THE CLERK OF THE BOARD The Honorable Board of Supervisors

RE: Construction of Roundabout, Rancho California Road and Anza Road, Temecula Valley (Wine Country) area.

December 8, 2011

Page 2 of 3

3. Approve the project's proposed budget as shown on Attachment "A".

BACKGROUND: By Minute Order dated June 28, 2011 (agenda item 3.105) the Board authorized the Clerk of the Board to advertise for the construction of a roundabout at the intersection of Rancho California Road and Anza Road in the Temecula Area. Six bids were received, ranging from \$1,630,000 to \$2,745,937. After review of the submitted bids and with the consideration of the current economic climate, and the overall cost to the public, the Transportation Department rejected all bids. Design changes to reduce the scope of the project, including the removal of the multiuse trail, reduction in irrigation, landscaping, and hardscaping were made and construction staging was revised to allow for more efficient construction.

By minute order dated October 4, 2011 (agenda item 3.25) the Board authorized the Clerk of the Board to advertise for the construction of this re-scoped roundabout project at the intersection of Rancho California Road and Anza Road.

Bids for the project were opened in the office of the Director of Transportation at 2:00 PM, Tuesday, November 01, 2011. Five bids were received, ranging from \$1,555,693 to \$2,151,074 for Option 1.

Berthe of The bid document included two options of work, and the bidding contractors were required to the first the submit bids for both options:

Option 1 Congress and the congress of the Change of the

Contractor is allowed sixty (60) calendar days to complete the work within the roadway footprint of the roundabout; with additional twenty-one (21) calendar days to complete all other work that does not impact traffic on Rancho California Road. Rancho California Road will remain open during construction of the project. The low bid for this option is \$1,555,603.

Option 2

Contractor is allowed twelve (12) calendar days to complete work within the roadway footprint of the roundabout working a 24-hour operation. The Contractor is allowed to close Rancho California Road and southeast approach of Anza Road within the project limits for this stage of work. The Contractor shall maintain local access on the northwest leg of Anza Road at all times. An additional twenty-one (21) calendar days are allowed to complete all other work that does not impact traffic on Rancho California Road. The low bid for this option is \$1,448,020.

During the advertisement period, one addendum was issued to all registered plan holders as a supplement to the specifications and special provisions. Bidders are required to acknowledge and to take into account all issued addenda on their Contractor's Proposal to be considered for award. The addendum was issued to clarify and modify the approved contract documents. The addendum is attached as Addendum No. 1.

A mid-block pedestrian/equestrian crossing on Rancho California Road is proposed to be constructed as part of the roundabout project at approximately 0.6 miles east of Anza Road to provide an alternate equestrian crossing for the community. The crossing will facilitate

The Honorable Board of Supervisors

RE: Construction of Roundabout, Rancho California Road and Anza Road, Temecula Valley (Wine Country) area.

December 8, 2011

Page 3 of 3

equestrian uses of the existing trail system, and may be considered as part of the trail system in the future. The Transportation Department will bring a separate action to the Board prior to starting construction to consider approval of the mid-block crossing.

Option 1 is recommended for award. Although Option 2 has a lower construction cost, we are recommending to award the bid for Option 1 since it will result in less inspection costs by not having the compressed 24-hour operation and have less impact on the traveling public and the community by being able to keep Ranch California open during construction and not causing long detours.

The lowest responsive and responsible bid for both options and all schedules of work was submitted by Mamco, Inc. of Riverside, CA. The total bid price of \$1,555,693 for Option 1, submitted by Mamco, Inc. is \$305,712 (24.5%) above the Engineer's Estimate.

The overall cost to the public for this project was reduced by approximately \$100,000, without significant compromises to the end product by rebidding the project.

The contractor is qualified.

The Contractor has executed the contract and has provided bonds and insurance documents which meet the requirements of the contract.

Har the work read to the live are the live in the live of the character for the contract of the process of the

tarako di salikari bake salikitiko di Migiko, alikalika Migiko, ami attolika di salikita bake bila tarik bila d Di kacambaran di Maria keta merakigan para menjadah mengangan alika di bila di ami di dibilangan pa

Project Number: B9-0957

AGREEMENT

THIS AGREEMENT is entered into at Riverside, California as of the date set forth below is between County of Riverside hereafter called "County" and **MAMCO**, **INC.** hereafter called "Contractor".

WITNESSETH

RECITALS:

- Contractor has submitted to County his Contractor's Proposal for the construction of County Project, Rancho California Road at Anza Road Roundabout Project, Project No. B9-0957, in strict accordance with the Contract Documents identified below and County has accepted said Proposal.
- 2. Contractor states that he has reexamined his Contractor's Proposal and found it to be correct, has ascertained that his subcontractors are properly licensed and possess the requisite skill and forces, has reexamined the site and Contract Documents and is of the opinion that he can presently do the work in accordance with the Contract Documents for the money set forth in his Proposal to be paid as provided in the Contract Documents.

AGREEMENT:

IT IS AGREED BY THE PARTIES AS FOLLOWS:

- 1. Contract Documents. The entire contract consists of the following: (a) The Agreement. (b) The Notice Inviting Bids. (c) The Instruction to Bidders. (d) The Contractor's Proposal. (e) The Bid Bond. (f) The Payment Bond. (g) The Performance Bond. (h) The General Conditions. (i) The Special Provisions. (j) The Standard Specifications of the State of California Department of Transportation edition of May 2006 as modified in other portions of the Contract Documents. (k) The Standard Plans of the Department of Transportation identified on the plans or in the Special Provisions. (l) The Plans. (m) Addenda No. (One). (n) The Determination of Prevailing Wage Rates for Public Work. (o) Any Change Orders issued. (p) Any additional or supplemental specifications, notice, instructions and drawings issued in accordance with the provisions of the Contract Documents. All of said Documents presently in existence are by this reference incorporated herein with like effect as if here set forth in full and upon the proper issuance of other documents they shall likewise be deemed incorporated. The Bid Bond is exonerated upon execution of this Agreement and the Payment Bond and Faithful Performance Bond.
- 2. <u>The Work.</u> Contractor shall do all things necessary to construct the work generally described in Recital No. 1 in accordance with the Contract Documents.

3. <u>Liquidated Damages and Time of Completion</u>. Attention is directed to the provisions in Section 8-1.06, "Time of Completion", and in Section 8-1.07, "Liquidated Damages", of the Standard Specifications and these Special Provisions.

The Contractor shall begin work within 15 days of the date stated within the written "Notice to Proceed".

The Contractor shall notify the Engineer, in writing, of his intent to begin work at least 72 hours before work is begun. The notice shall be delivered to the Transportation Department's Construction Engineer and shall specify the date the Contractor intends to start. If the project has more than one location of work, a separate notice shall be given for each location.

Should the Contractor begin work in advance of receiving a written "Notice to Proceed", any work performed by him in advance of the date stated in the "Notice to Proceed" shall be considered as having been done by him at his own risk and as a volunteer and subject to the following:

- (1) The Contractor shall, on commencing operations, take all precautions required for public safety and shall observe all the provisions in the Specifications and the Special Provisions.
- (2) All work done according to the contract prior to the issuance of the "Notice to Proceed", will be considered authorized work and will be paid for as provided in the contract.
- (3) The Contractor shall not be entitled to any additional compensation or an extension of time for any delay, hindrance or interference caused by or attributable to commencement of work prior to the issuance of the "Notice to Proceed".
- 4. <u>Compensation</u>. Contractor shall be paid in the manner set forth in the Contract Documents the amount of his Proposal as accepted by County, the above rates, subject to additions and deductions as provided in the Contract Documents. Said Proposal is on file in the Office of the Clerk of the Board of Supervisors of County.

RANCHO CALIFORNIA ROAD AT ANZA ROAD ROUNDABOUT PROJECT

PROJECT No. B9-0957

AGREEMENT

ALTERNATE SCHEDULE 1A:

ITEM No.	ITEM CODE	ITEM	UNIT	ESTIMATED QUANTITY	ITEM PRICE (IN FIGURES)	TOTAL (IN FIGURES)
1	120100	TRAFFIC CONTROL SYSTEM	LS	1 1	35,000.00	35,000.00
2	066578	PORTABLE CHANGEABLE MESSAGE SIGNS	EA	6	2,000.00	12,000.00
3	074020	WATER POLLUTION CONTROL	LS	1	14,300.00	14,300.00
4	170101	DEVELOP WATER SUPPLY	LS	1	18,500.00	18,500.00
5	066102	DUST ABATEMENT	LS	1	5,000.00	5,000.00
6	160101	CLEARING AND GRUBBING	LS	1	47,200.00	47,200.00
7	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)[WARPED WINGWALL][CALTRANS STD D-86B]	EA	1	5,200.00	5,200.00
8	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)[WINGWALL][CALTRANS STD D-90]	EA	1	5,700.00	5,700.00
9	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)CONCRETE DROP INLET (RCFC & WCDS CB 110)	EA	1	2,400.00	2,400.00
10	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)[TRANSITION STRUCTURE NO.3]	EA	1	2,800.00	2,800.00
11	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)[PCC FOREBAY]	EA	1	5,100.00	5,100.00
12	510126	CLASS 2 CONCRETE (MINOR STRUCTURE) [CONCRETE COLLAR]	EA	1	2,300.00	2,300.00
13	000003	CLASS 2 CONCRETE (MINOR STRUCTURE) [JUNCTION STRUCTURE]	EA	1	1,500.00	1,500.00
14	510126	CLASS 2 CONCRETE (MINOR STRUCTURE) [CATCH BASIN (COMBINATION INLET) (CRS 301)]	EA	1	4,000.00	4,000.00
15	510126	CLASS 2 CONCRETE (MINOR STRUCTURE) [CATCH BASIN (CURB INLET) (CRS 300)]	EA	7	3,700.00	25,900.00
16	510126	CLASS 2 CONCRETE (MINOR STRUCTURE) [MANHOLE (RCFC&WCDS MH 251)]	EA	5	3,000.00	15,000.00
17	510138	CLASS 2 CONCRETE (MINOR STRUCTURE) [WINGWALL (TYPE D)][CALTRANS STD D85]	EA	4	1,800.00	7,200.00
18	721007	ROCK SLOPE PROTECTION (1/4 TON, METHOD B)	CY	58	100.00	5,800.00
19	729010	ROCK SLOPE PROTECTION FABRIC	SQFT	350	3.00	1,050.00
20	198021	IMPORTED ROCKY MATERIAL	CY	3	550.00	1,650.00
21	394002	PLACE ASPHALT CONCRETE (MISCELLANEOUS AREA)	SQFT	1,900	4.00	7,600.00
22	800300	CHAIN LINK FENCE [INCLUDING 14' DOUBLE DRIVE GATE]	LF	620	18.00	11,160.00
23	641107	18" PLASTIC PIPE [HDPE - TYPE S]	LF	730	65.00	47,450.00

ALTERNATE SCHEDULE 1A:

ITEM No.	ITEM CODE	ITEM	UNIT	ESTIMATED QUANTITY	ITEM PRICE (IN FIGURES)	TOTAL (IN FIGURES)
24	641113	24" PLASTIC PIPE [HDPE - TYPE S]	LF	867	70.00	60,690.00
25	641119	30" PLASTIC PIPE [HDPE - TYPE S]		4	500.00	2,000.00
26	641125	36" PLASTIC PIPE [HDPE - TYPE S]	LF	17	125.00	2,125.00
27	000003 (F)	EXCAVATE BASIN TO GRADE, AND CONSTRUCT BERM INCLUDING EMBANKMENT	CY	2,075	18.00	37,350.00
28	190101 (F)	ROADWAY EXCAVATION	CY	4,500	25.00	112,500.00
29	000003	PRECAST REINFORCED CONCRETE BOX (3'X2')	LF	116	390.00	45,240.00
30	000003	PRECAST REINFORCED CONCRETE BOX (4'X2')	LF	253	390.00	98,670.00
31	705011	18" STEEL FLARED END SECTION	EA	1	750.00	750.00
32	013903	PLACE ASPHALT CONCRETE DIKE (CRS 212) (6")	LF	230	14.00	3,220.00
33	013902	ASPHALT CONCRETE OVERSIDE DRAIN (CRS 306)	EA	6	160.00	960.00
34	260201	CLASS 2 AGGREGATE BASE	CY	3,990	30.00	119,700.00
35	390102	ASPHALT CONCRETE (TYPE A)	TON	2,795	76.00	212,420.00
36	000003	COLOR STAMPED PORTLAND CEMENT CONCRETE PAVEMENT FOR TRUCK APRON (HIGH EARLY STRENGTH CONCRETE)	CY	105	400.00	42,000.00
37	000003	MINOR CONCRETE (COLORED STAMPED CONCRETE SPLITTER ISLANDS)	SQFT	10,196	4.20	42,823.20
38	017304	MINOR CONCRETE (CURB AND GUTTER) (CRS 200)	LF	3,550	15.00	53,250.00
39	731501	MINOR CONCRETE (CURB) [TYPE A1-6, CALTRANS STD A87A]	LF	2,530	12.00	30,360.00
40	731501	MINOR CONCRETE (CURB) [TYPE A3-6, CALTRANS STD A87A]	LF	300	15.00	4,500.00
41	017307	MINOR CONCRETE (TYPE C CURB) (CRS 202)	LF	230	14.50	3,335.00
42	000003	MINOR CONCRETE CURB TRANSITION (CRS 212)	LF	140	16.00	2,240.00
43	731623	MINOR CONCRETE (CURB RAMP) [CASE A WITH SIDEWALK APPROACH]	EA	1	2,000.00	2,000.00
44	731623	MINOR CONCRETE (CURB RAMP) [CASE C WITH SIDEWALK APPROACH]	EA	1	1,750.00	1,750.00
45	731623	MINOR CONCRETE (CURB RAMP) [CASE F-1a WITH SIDEWALK APPROACH]	EA	6	1,750.00	10,500.00
46	000003	MINOR CONCRETE (SPLITTER ISLAND RAMP)	EA	4	2,000.00	8,000.00
47	000003	MINOR CONCRETE (BIKE RAMP IINCLUDING SPILL GUTTER)	EA	6	600.00	3,600.00
48	000003	MINOR CONCRETE (CONCRETE RAMP INCLUDING SPILL GUTTER)	EA	2	800.00	1,600.00
49	840504	4" THERMOPLASTIC TRAFFIC STRIPE	LF	5,310	0.50	2,655.00
50	840505	6" THERMOPLASTIC TRAFFIC STRIPE	LF	2,770	0.72	1,994.40

ALTERNATE SCHEDULE 1A:

ITEM No.	ITEM	ITEM	UNIT	ESTIMATED QUANTITY	ITEM PRICE (IN FIGURES)	TOTAL (IN FIGURES)
51	840506	8" THERMOPLASTIC TRAFFIC STRIPE	LF	160	1.40	224.00
52	000003	6" THERMOPLASTIC TRAFFIC STRIPE (BROKEN 8FT-4FT)	LF	200	0.60	120.00
53	000003	8" THERMOPLASTIC TRAFFIC STRIPE (BROKEN 4FT-2FT)	LF	110	1.35	148.50
54	840519	THERMOPLASTIC CROSSWALK AND PAVEMENT MARKING	SQFT	815	4.70	3,830.50
55	850102	PAVEMENT MARKER (REFLECTIVE)	EA	200	4.20	840.00
56	000003	TEMPORARY ASPHALT CONCRETE	TON	300	87.00	26,100.00
57	566011	ROADSIDE SIGN - ONE POST	EA	55	250.00	13,750.00
58	000003	LANDSCAPING LIGHTING SYSTEM	LS	1	15,000.00	15,000.00
59	000003	STREET LIGHTING SYSTEM	LS	1	9,500.00	9,500.00
60	000003	GROUND PREPARATION [INCLUDING: FINE GRADING, SOIL PREPARATION (AMENDMENTS, FERTILIZERS, & WEED PREP.), MULCHING (RECYCLED ORGANIC) 3" THICK LAYER, AND TOPSOIL IMPORT- UP TO 2"]	SQFT	6,362	2.20	13,996.40
61	000003	48" BOX TREES [INCLUDING: GUYING, 4" PERF. PVC TREE DRAIN TUBES W/DRAIN CAP, ROOT BARRIERS]	EA	3	1,900.00	5,700.00
62	000003	1 GALLON SHRUBS / GROUNDCOVER	EA	59	11.00	649.00
63	000003	5 GALLON SHRUBS / GROUNDCOVER	EA	337	117.00	39,429.00
64	000003	BOWSMITH SL200SERIES EMITTER W/ SALCO SLV-PVD-ACLXX FLEX RISER	EA	396	10.00	3,960.00
65	000003	HUNTER RZWS-36-50-CV DEEP TUBE BUBBLER	EA	6	77.00	462.00
66	000003	HUNTER IC-3600-M 36 STATION CONTROLLER	EA	1	1,450.00	1,450.00
67	000003	NIBCO T-113-K GATE VALVE - 2" / FITTINGS	EA	1	265.00	265.00
68	000003	TRUE UNION BALL VALVE AT ECV - 2"	EA	2	200.00	400.00
69	000003	ELECTRIC CONTROL VALVE W/ PRESSREG/FITTINGS - 1"	EA	1	255.00	255.00
70	000003	DRIP VALVE ASSEMBLY - BALL VALVE, AC SOLENOID, FILTER, FITTINGS	EA	2	300.00	600.00
71	000003	QUICK COUPLING VALVE	EA	1	280.00	280.00
72	000003	MANUAL FLUSH VALVE ASSEMBLY	EA	8	65.00	520.00
73	000003	NON- PRESSURE LATERAL LINE- SCH 40 - 3/4"	LF	783	5.30	4,149.90
74	000003	PRESSURE SUPPLY LINE - SCH 40 - 2"	LF	461	8.00	3,688.00
75	000003	GREEN PLASTIC STANDARD 10" ROUND VALVE BOX W/ SUMP/FILTER FAB.	EA	13	55.00	715.00
76	000003	GREEN PLASTIC STANDARD RECTILINEAR VALVE BOX W/ SUMP/FILTER FAB.	EA	3	90.00	270.00

	TER		SCHEDU	
4	IPR	NAIF	SI. HEIII	$n \vdash n $

ITEM No.	ITEM CODE	ITEM	UNIT	ESTIMATED QUANTITY	ITEM PRICE (IN FIGURES)	TOTAL (IN FIGURES)
77	000003	PVC SLEEVING - SCH40 - 2"	LF	160	7.25	1,160.00
78	000003	PVC SLEEVING - SCH40 - 4"	LF	200	12.00	2,400.00
79	000003	PVC SCH 40 CONDUIT - 1 1/2"	LF	200	7.00	1,400.00
80	000003	14 GAUGE DIRECT BURIAL WIRE	LF	14,544	0.45	6,544.80
81	000003	90 DAY MAINTENANCE PERIOD	LS	1	2,000.00	2,000.00
82	000003	MISCELLANEOUS DIRECTED WORK	FA	1	100,000.00	100,000.00

ALTERNATE 1A

One million, four hundred forty nine thousand, eight hundred forty nine dollars

SUB-TOTAL:

and seventy cents

\$1,449,849.70

ITEMS 1-82

"WORDS"

ALTERNATE 1B- RANCHO CALIFORNIA WATER DISTRICT:

ITEM No.	ITEM CODE	ITEM	UNIT	ESTIMATED QUANTITY	ITEM PRICE (IN FIGURES)	TOTAL (IN FIGURES)
83	000003	REMOVE AND RECONSTRUCT FIRE HYDRANT ASSEMBLY	EA	4	4,700.00	18,800.00
84	000003	RELOCATE CP TEST STATION	EA	1	1,200.00	1,200.00
85	000003	REMOVE AND RECONSTRUCT WATER QUALITY SAMPLE STATION ASSEMBLY	EA	1	2,000.00	2,000.00
86	000003	RECONSTRUCT AND RAISE VALVE RISER AND CAP ASSEMBLY TO GRADE	EA	7	350.00	2,450.00

ALTERNATE 1B

SUB-TOTAL: Twenty four thousand, four hundred fifty dollars and zero cents \$

\$ 24,450.00

ITEMS 83-86

"WORDS"

No.	ITEM CODE	ITEM	UNIT	ESTIMATED QUANTITY	ITEM PRICE (IN FIGURES)	TOTAL (IN FIGURES)
87	000003	FURNISH AND INSTALL BOX CULVERT LINING	LF	226	125.00	28,250.0
AI TEDI	NATE 1C					
SUB-TO		Twenty eight thousand, two hundred fi	fty dollare	and zero cente		\$ 28,250.
ITEM 87	_	"WORDS"	ity dollars	and zero cerns	<u> </u>	Ψ 20,200.0
TI LIVI O	•	WORDS				
ALTER	NATE 1D- F	RANCHO CALIFORNIA WATER DISTRICT:				
ITEM No.	ITEM CODE	ITEM	UNIT	ESTIMATED QUANTITY	ITEM PRICE (IN FIGURES)	TOTAL (IN FIGURES)
			!			L
88	000003	FURNISH AND INSTALL MANHOLE / CATCH BASIN LINING	SQFT	722	12.00	8,664.0
						·
ALTERI	NATE 1D					
SUB-TC	TAL:	Eight thousand, six hundred sixty fou	r dollars a	nd zero cents		\$ 8,664.0
TEM 88	3	"WORDS"				
ALTERI	NATIVE 1E-	RANCHO CALIFORNIA WATER DISTRICT:	т			· · · · · · · · · · · · · · · · · · ·
No.	ITEM CODE	ITEM	UNIT	ESTIMATED QUANTITY	ITEM PRICE (IN FIGURES)	TOTAL (IN FIGURES)
			1			
89	-	NOT SELECTED FOR AWARD	-	-	-	0.0

"WORDS"

ITEM 89

ITEM No.	ITEM CODE	ITEM	UNIT	ESTIMATED QUANTITY	ITEM PRICE (IN FIGURES)	TOTAL (IN FIGURES)
90	000003	INSTALL COUNTY FURNISHED SOLAR POWERED PEDESTRIAN CROSSWALK FLASHING BEACON SYSTEM WITH EQUESTRIAN AND PEDESTRIAN PUSH BUTTONS	EA	2	1,350.00	2,700.00
91	000003	INSTALL COUNTY FURNISHED TYPE 1-A STANDARD (14' ALUMINUM) POLE	EA	2	1,450.00	2,900.00
ALTER SUB-TO	-	Five thousand, six hundred dollar	s and ze	ero cents		\$ 5,600.00
AI TED	NATIVE 1G	- METROPOLITAN WATER DISTRICT:				
ALIER	TATIVE TO	MILINOFOLITAN WATER DISTRICT.				
ITEM No.	ITEM CODE	ITEM	UNIT	ESTIMATED QUANTITY	ITEM PRICE (IN FIGURES)	TOTAL (IN FIGURES)
ITEM	ITEM		UNIT			
ITEM	ITEM		UNIT			
ITEM No.	ITEM CODE	ITEM		QUANTITY		(IN FIGURES)
No.	ITEM CODE	NOT SELECTED FOR AWARD FURNISH AND INSTALL MANHOLE/ CATCH BASIN		QUANTITY	(IN FIGURES)	(IN FIGURES)
92 93 94	- 000003 000003	NOT SELECTED FOR AWARD FURNISH AND INSTALL MANHOLE/ CATCH BASIN OUTSIDE LINING FURNISH AND INSTALL OUTSIDE LINING [HDPE]	- EA	QUANTITY - 2	(IN FIGURES)	0.00 6,000.00
92 93 94	- 000003 000003	NOT SELECTED FOR AWARD FURNISH AND INSTALL MANHOLE/ CATCH BASIN OUTSIDE LINING FURNISH AND INSTALL OUTSIDE LINING [HDPE PIPE JOINTS]	- EA EA	- 2 10	3,000.00 435.00	0.00 6,000.00 4,350.00
92 93 94 ALTERI	- 000003 000003 NATE 1G	NOT SELECTED FOR AWARD FURNISH AND INSTALL MANHOLE/ CATCH BASIN OUTSIDE LINING FURNISH AND INSTALL OUTSIDE LINING [HDPE]	- EA EA	- 2 10	3,000.00 435.00	0.00 6,000.00 4,350.00
92 93 94	- 000003 000003 NATE 1G	NOT SELECTED FOR AWARD FURNISH AND INSTALL MANHOLE/ CATCH BASIN OUTSIDE LINING FURNISH AND INSTALL OUTSIDE LINING [HDPE PIPE JOINTS] Ten thousand, three hundred fifty do	- EA EA	- 2 10	3,000.00 435.00	0.00 6,000.00 4,350.00
92 93 94 ALTERN SUB-TC	- 000003 000003 NATE 1G DTAL: _ 02-94	NOT SELECTED FOR AWARD FURNISH AND INSTALL MANHOLE/ CATCH BASIN OUTSIDE LINING FURNISH AND INSTALL OUTSIDE LINING [HDPE PIPE JOINTS] Ten thousand, three hundred fifty do	- EA EA Ilars and	- 2 10 zero cents	3,000.00 435.00	0.00 6,000.00 4,350.00

"WORDS"

ITEMS 1-94

IN WITNESS WHEREOF the parties hereto have executed this agreement as of the date set forth below. MAMCO, INC. **COUNTY OF RIVERSIDE** Chairman, Board of Supervisors **BOB BUSTER** TITLE: Secretary DEC 2 0 2011 (If Corporation, Affix Seal) Dated **ATTEST** ATTEST: Kecia Harper-Ihem, Clerk of the Board Vice President TITLE: Licensed in accordance with an act providing for the registration of Contractors, License No. <u>883649</u> Federal Employer Identification Number: 72-1535984

"County"

(Seal)

"Corporation" (Seal)



Corporate Resolution to Execute Contracts

At a meeting of the corporation today, after considerable discussion, the following resolution was moved, seconded, and unanimously adopted;

Resolved that any of the following persons, Marwan AlAbbasi, Elizabeth AlAbbasi, or Rumzi M. AlAbbasi be; and they hereby are, authorized without further authorization of the board of directors to enter into and execute on behalf of the corporation any and all contracts to do corporate business for Mamco, Inc.

In witness whereof, I have hereunto set my hand as such secretary and affixed the corporate seal of said corporation this 8th day of March, 2011.

AUTHORIZED SIGNATURES

Marwan S. AlAbbasi

Elizabeth AlAbbasi

Rumzi M. AlAbbasi

Marwan S. Alabbasi- Secretary

PERFORMANCE BOND

Recitals:

1.	MAMCO, INC. (Contractor) has en (County) for construction of public v	work known as Rancho Calife			
2.	Roundabout Project, Project No	o. B9-0957	corporation		
	(Surety), is the Surety under this B	Bond.	corporation		
<u>Agre</u>	<u>ement</u> :				
	Contractor, as Principal, and Surety d unto County, as obligee, as follow		ally agree, state, and are		
1.	The amount of the obligation of the Project of \$ 1,527,163.70 (One reduced sixty three dollars and	<u>nillion, five hundred twent</u>	y seven thousand, one		
2.	This Bond is exonerated by Contractor doing all things to be kept and performed by it strict conformance with the Contract Documents for the Project, otherwise it remains in force and effect for the recovery of loss, damage and expense of County resulting fro failure of Contractor to so act. All of said Contract Documents are incorporated herein				
3.	This obligation is binding on our su	uccessors and assigns.			
4.	For value received, Surety stiput prepayment to Contractor, alterat Contract Documents or the work the hereunder and waives notice as to increased by more than 10% without the contract of th	tion or addition to the terms to be performed thereunder s such matters, <u>except</u> the tota	and requirements of the shall affect its obligations		
THIS	BOND is executed as of		-		
Ву_	4,4	Ву			
Ву		Type Name	Its Attorney in Fact "Surety"		
Title	"Contractor"	•	Curaty		
	(Corporate Seal)	(Co	rporate Seal)		

NOTE: This Bond must be executed by both parties with corporate seal affixed. <u>All</u> signatures must be acknowledged. (Attach acknowledgements).

PERFORMANCE BOND

Recitals:

1. MAMCO, INC. (Contractor) has entered into an Agreement with COUNTY OF RIVERSIDE (County) for construction of public work known as Rancho California Road at Anza Road Roundabout Project, Project No. B9-0957

2. FIRST NATIONAL INSURANCE COMPANY OF AMERICA, a WASHINGTON corporation (Surety), is the Surety under this Bond.

Agreement:

We, Contractor, as Principal, and Surety, as Surety, jointly and severally agree, state, and are bound unto County, as obligee, as follows:

- 1. The amount of the obligation of this Bond is 100% of the estimated contract price for the Project of \$ 1,527,163.70 (One million, five hundred twenty seven thousand, one hundred sixty three dollars and seventy cents), and inures to the benefit of County.
- 2. This Bond is exonerated by Contractor doing all things to be kept and performed by it in strict conformance with the Contract Documents for the Project, otherwise it remains in full force and effect for the recovery of loss, damage and expense of County resulting from failure of Contractor to so act. All of said Contract Documents are incorporated herein.
- 3. This obligation is binding on our successors and assigns.
- 4. For value received, Surety stipulates and agrees that no change, time extension, prepayment to Contractor, alteration or addition to the terms and requirements of the Contract Documents or the work to be performed thereunder shall affect its obligations hereunder and waives notice as to such matters, except the total contract price cannot be increased by more than 10% without approval of Surety.

THIS B	OND is executed as of NOVEMB	R 17TH, 2011
Ву	Mu Cl	Ву
Ву	Marwan Alabbasi	Type Name PAUF VEGA
		rs Attorney in Fact "Surety"
Title	Secretary	•
	"Contractor"	
	(Corporate Seal)	(Cornorate Seal)
	"Contractor" (Corporate Seal)	(Corporate Seal)

NOTE: This Bond must be executed by both parties with corporate seal affixed. <u>All</u> signatures must be acknowledged. (Attach acknowledgements).

To confirm the validity of this Power of Attorney call 1-610-832-8240 between 9:00 am and 4:30 pm EST on any business day.

This Power of Attorney limits the acts of those named herein, and they have no authority to bind the Company except in the manner and to the extent herein stated.

FIRST NATIONAL INSURANCE COMPANY OF AMERICA SEATTLE, WASHINGTON POWER OF ATTORNEY

POWER OF ATTORNEY
KNOW ALL PERSONS BY THESE PRESENTS: That First National Insurance Company of America (the "Company"), a Washington stock insurance company, pursuant to and by authority of the By-law and Authorization hereinafter set forth, does hereby name, constitute and appoint. PHILIP E. VEGA, FRANK MORONES, KEVIN E. VEGA, BRITTON CHRISTIANSEN, JADON H. SMITH, MYRNA SMITH, ALL OF THE CITY OF COVINA, STATE OF CALIFORNIA
, each individually if there be more than one named, its true and lawful attorney-in-fact to make, execute, seal, acknowledge and deliver, for and on its behalf as surety and as its act and deed, any and all undertakings, bonds, recognizances and other surety obligations in the penal sum not exceeding ONE HUNDRED MILLION AND 00/100***** ***************************
That this power is made and executed pursuant to and by authority of the following By-law and Authorization:
ARTICLE IV - Execution of Contracts: Section 12. Surety Bonds and Undertakings. Any officer or other official of the Corporation authorized for that purpose in writing by the Chairman or the President, and subject to such limitations as the Chairman or the President may prescribe, shall appoint such attorneys-in-fact, as may be necessary to act in behalf of the Corporation to make, execute, seal, acknowledge and deliver as surety any and all undertakings, bonds, recognizances and other surety obligations. Such attorneys-infact, subject to the limitations set forth in their respective powers of attorney, shall have full power to bind the Corporation by their signature and executed, such instruments shall be as binding as if signed by the president and attested by the secretary.
By the following instrument the chairman or the president has authorized the officer or other official named therein to appoint attorneys-in-fact:
Pursuant to Article IV, Section 12 of the By-laws, Garnet W. Elliott, Assistant Secretary of First National Insurance Company of America, is authorized to appoint such attorneys-in-fact as may be necessary to act in behalf of the Corporation to make, execute, seal, acknowledge and deliver as surety any and all undertakings, bonds, recognizances and other surety obligations.
That the By-law and the Authorization set forth above are true copies thereof and are now in full force and effect.
IN WITNESS WHEREOF, this Power of Attorney has been subscribed by an authorized officer or official of the Company and the corporate seal of First National Insurance Company of America has been affixed thereto in Plymouth Meeting, Pennsylvania this day of,
FIRST NATIONAL INSURANCE COMPANY OF AMERICA By Onut W. Elliott, Assistant Secretary COUNTY OF MONTGOMERY FIRST NATIONAL INSURANCE COMPANY OF AMERICA By Onut W. Elliott, Assistant Secretary
On this 28th day of February , 2011 , before me, a Notary Public, personally came Garnet W. Elliott, to me known, and acknowledged that he is an Assistant Secretary of First National Insurance Company of America; that he knows the seal of said corporation; and that he executed the above Power of Attorney and affixed the corporate seal of First National Insurance Company of America thereto with the authority and at the direction of said corporation.
IN TESTIMONY WHEREOF, have pareen to subscribed my name and affixed my notarial seal at Plymouth Meeting, Pennsylvania, on the day and year first above written. Notarial Seal Teresa Pastella, Notary Public Plymouth Twp., Mortigomery County My Commission Expires Mar. 28, 2013 By Lucia Institute By Lucia Institute Teresa Pastella, Notary Public
I, the undersigned, Assistant Secretary of First National Insurance Company of America, do hereby certify that the original power of attorney of which the foregoing is a full, true and corneof copy, is in full force and effect on the date of this certificate; and I do further certify that the officer or official who executed the said power of attorney is an Assistant Secretary specially authorized by the chairman or the president to appoint attorneys-in-fact as provided in Article IV, Section 12 of the By-laws of First National Insurance Company of America.
This certificate and the above power of attorney may be signed by facsimile or mechanically reproduced signatures under and by authority of the following vote of the board of directors of First National Insurance Company of America at a meeting duly called and held on the 18th day of September, 2009.
VOTED that the facsimile or mechanically reproduced signature of any assistant secretary of the company, wherever appearing upon a certified copy of any power of attorney issued by the company in connection with surety bonds, shall be valid and binding upon the company with the same force and effect as though manually affixed.
IN TESTIMONY WHEREOF have hereunto subscribed my name and affixed the corporate seal of the said company, thisday of
(SEAL) SEAL SEAL SEAL SEAL SEAL SEAL SEAL SEAL
David M. Carey, Assistant Secretary

CALIFORNIA ALL-PURPOSE ACKNOWLEDGMENT

Place Notary Seal Above

State of California)
County of Los Angeles	}
On <u>NOV 17 2011</u> before me, <u>M</u>	Monica Blaisdell, Notary Public Here Insert Name and Title of the Officer
personally appeared Philip Vega	
	Name(s) of Signer(s)
MONICA BLAISDELL Commission # 1794078 Notary Public - California Orange County My Comm. Expires Mar 26, 2012	who proved to me on the basis of satisfactory evidence to be the person(s) whose name(s) is/are subscribed to the within instrument and acknowledged to me that he/shecthed executed the same in his/her/their/authorized capacity/(ies), and that by his/her/their/subtraction on the instrument the person(s), or the entity upon behalf of which the person(s) acted, executed the instrument. I certify under PENALTY OF PERJURY under the laws of the State of California that the foregoing paragraph is true and correct. WITNESS my hand and official seal.

CALIFORNIA ALL-PURPOSE CEDTIFICATE OF ACKNOWLEDGMENT

CERTIFICATE OF A	CKNOWLEDGMENT					
State of California						
County of Riverside						
On before me, Rami M. Alabbasi, Notary Public, (Here insert name and title of the officer) personally appeared Marwan Alabbasi						
who proved to me on the basis of satisfactory evidence the within instrument and acknowledged to me that	te to be the person(s) whose name(s)(s)are subscribed to (c)she/they executed the same in (nis)her/their authorized the instrument the person(s), or the entity upon behalf of					
I certify under PENALTY OF PERJURY under the laistrue and correct.	ws of the State of California that the foregoing paragraph					
WITNESS my hand and official seal.	RAMI M. ALABBASI COMM. # 1859461 NOTARY PUBLIC - CALIFORNIA S RIVERSIDE COUNTY My Comm. Expires July 30, 2013					
Signature of Notary Public	- (Notary Seal)					
ADDITIONAL OPTI	ONAL INFORMATION					
DESCRIPTION OF THE ATTACHED DOCUMENT (Title or description of attached document)	INSTRUCTIONS FOR COMPLETING THIS FORM Any acknowledgment completed in California must contain verbiage exactly a appears above in the notary section or a separate acknowledgment form must be properly completed and attached to that document. The only exception is if a document is to be recorded outside of California. In such instances, any alternative acknowledgment verbiage as may be printed on such a document so long as the verbiage does not require the notary to do something that is illegal for a notary in California (i.e. certifying the authorized capacity of the signer). Please check the					

DESCR	IPTION OF THE ATTACHED DOCUMENT
	(Title or description of attached document)
(Ti	tle or description of attached document continued)
Number	of Pages Document Date
	(Additional information)

CAPAC	CITY CLAIMED BY THE SIGNER	
	Individual (s)	
	Corporate Officer	
	(Title)	
	Partner(s)	
	Attorney-in-Fact	
	Trustee(s)	
	Other	

document carefully for proper notarial wording and attach this form if required.

- State and County information must be the State and County where the document signer(s) personally appeared before the notary public for acknowledgment.
- Date of notarization must be the date that the signer(s) personally appeared which must also be the same date the acknowledgment is completed.
- The notary public must print his or her name as it appears within his or her commission followed by a comma and then your title (notary public).
- Print the name(s) of document signer(s) who personally appear at the time of notarization.
- Indicate the correct singular or plural forms by crossing off incorrect forms (i.e. he/she/they, is /are) or circling the correct forms. Failure to correctly indicate this information may lead to rejection of document recording.
- The notary seal impression must be clear and photographically reproducible. Impression must not cover text or lines. If seal impression smudges, re-seal if a sufficient area permits, otherwise complete a different acknowledgment form.
- Signature of the notary public must match the signature on file with the office of the county clerk.
 - Additional information is not required but could help to ensure this acknowledgment is not misused or attached to a different document.
 - Indicate title or type of attached document, number of pages and date.
 - Indicate the capacity claimed by the signer. If the claimed capacity is a corporate officer, indicate the title (i.e. CEO, CFO, Secretary).
- · Securely attach this document to the signed document

Company Profile

FIRST NATIONAL INSURANCE COMPANY OF AMERICA 175 BERKELEY STREET

BOSTON, MA 02116

Agent for Service of Process

KAREN HARRIS, C/O CORPORATION SERVICE COMPANY 2730 GATEWAY OAKS DRIVE, SUITE 100 SACRAMENTO, CA 95833 Unable to Locate the Agent for Service of Process?

Reference Information

NAIC#:

24724

NAIC Group #:

0111

California Company ID#:

0978-7

Date authorized in California:

January 03, 1929

License Status:

UNLIMITED-NORMAL

Company Type:

Property & Casualty

State of Domicile:

WASHINGTON

Lines of Insurance Authorized to Transact

The company is authorized to transact business within these lines of insurance. For an explanation of any of these terms, please refer to the glossary.

AIRCRAFT

AUTOMOBILE

BOILER AND MACHINERY

BURGLARY

COMMON CARRIER LIABILITY

CREDIT

FIRE

LIABILITY

MARINE

MISCELLANEOUS

PLATE GLASS

SPRINKLER

SURETY

TEAM AND VEHICLE

WORKERS' COMPENSATION

Company Complaint Information

Company Enforcement Action Documents Company Performance & Comparison Data

Composite Complaint Studies

Want More?

Help Me Find a Company Representative in My Area

Last Revised - May 26, 2011 01:14 PM Copyright @ California Department of Insurance

PAYMENT BOND

(Public Work - Civil Code 3247 et seq.)

The makers of this Bond are MAMCO, INC., as Principal and Original Contractor and

	, a corporation, authorized to issue Surety
	ond is issued in conjunction with that certain public works
	pal and <u>COUNTY OF RIVERSIDE</u> a public entity, as
	five hundred twenty seven thousand, one hundred
), the total amount payable. THE AMOUNT OF THIS
	F SAID SUM. Said contract is for public work generally
	at Anza Road Roundabout Project, Project No. B9-
<u>0957.</u>	
	stated in 3248 of the Civil Code and requirements and
	h in 3248, 3249, 3250 and 3252 of said code. Without
	me for performance, change in requirements, amount of
compensation, or prepayment under said	d contract.
DATED.	
DATED:	Ovisinal Contractor - Dringing
	Original Contractor - Principal
	By
Surety	
	•
Ву	Title
Its Attorney In Fact	
	(If corporation, affix seal)
(0.000.0004.00.01)	/O (- O - I)
(Corporate Seal)	(Corporate Seal)
STATE OF CALIFORNIA	•
COUNTY OF	ss. SURETY'S ACKNOWLEDGEMENT
On before me,	personally
appeared,	, known to me, or proved to me on the
	erson whose name is subscribed to the within instrument
	cuted the same in his/her authorized capacities, and that
	e person, or the entity upon behalf of which the person
acted, executed the instrument.	, p
WITNESS my hand and official seal.	
Signature of Notary Public	Notary Public (Seal)
orgination of Motory Fubility	riotally Fubilic (Seal)

NOTE: This Bond must be executed by both parties with corporate seal affixed. <u>All</u> signatures must be acknowledged. (Attach acknowledgements).

PAYMENT BOND

(Public Work - Civil Code 3247 et seq.)

The makers of this Bond are MAMCO, INC., as Principal and Original Contractor and FIRST NATIONAL INSURANCE COMPANY OF AMERICA, a corporation, authorized to issue Surety Bonds in California, as Surety, and this Bond is issued in conjunction with that certain public works contract to be executed between Principal and COUNTY OF RIVERSIDE a public entity, as Owner, for \$ 1,527,163.70 (One million, five hundred twenty seven thousand, one hundred sixty three dollars and seventy cents), the total amount payable. THE AMOUNT OF THIS BOND IS ONE HUNDRED PERCENT OF SAID SUM. Said contract is for public work generally consisting of Rancho California Road at Anza Road Roundabout Project, Project No. B9-0957.

The beneficiaries of this Bond are as is stated in 3248 of the Civil Code and requirements and conditions of this Bond are as is set forth in 3248, 3249, 3250 and 3252 of said code. Without notice, Surety consents to extension of time for performance, change in requirements, amount of compensation, or prepayment under said contract.

DATED: NOVEMBER 17TH, 2011	MAMCO, INC.
	Original Contractor - Principal
FIRST NATIONAL INSURANCE COMPANY OF AM	MERICA By Marwan AlAbbasi
Byits Attorned Fact PHILIP	TitleSecretary VEGA
$\mathcal{V}_{\mathcal{V}}$	(If corporation, affix seal)
(Corporate Seal)	(Corporate Seal)
STATE OF CALIFORNIA COUNTY OF	ss. SURETY'S ACKNOWLEDGEMENT
appeared,	personally, known to me, or proved to me on the rson whose name is subscribed to the within instrument uted the same in his/her authorized capacities, and that e person, or the entity upon behalf of which the person
Signature of Notary Public	Notary Public (Seal)

NOTE: This Bond must be executed by both parties with corporate seal affixed. <u>All</u> signatures must be acknowledged. (Attach acknowledgements).

To confirm the validity of this Power of Attorney call 1-610-832-8240 between 9:00 am and 4:30 pm EST on any business day.

This Power of Attorney limits the acts of those named herein, and they have no authority to bind the Company except in the manner and to the extent herein stated.

FIRST NATIONAL INSURANCE COMPANY OF AMERICA SEATTLE, WASHINGTON POWER OF ATTORNEY

KNOW ALL PERSONS BY THESE PRESENTS: That First National Insurance Company of America (the "Company"), a Washington stock insurance company, pursuant to and by authority of the By-law and Authorization hereinafter set forth, does hereby name, constitute and appoint. PHILIP E. VEGA, FRANK MORONES, KEVIN E. VEGA, BRITTON CHRISTIANSEN, JADON H. SMITH, MYRNA SMITH, ALL OF THE CITY OF COVINA STATE OF CALIFORNIA
, each individually if there be more than one named, its true and lawful attorney-in-fact to make, execute, seal, acknowledge and deliver, for and on its behalf as surety and as its act and deed, any and all undertakings, bonds, recognizances and other surety obligations in the penal sum not exceeding ONE HUNDRED MILLION AND 00/100***** ***************************
undertakings, bonds, recognizances and other surety obligations, in pursuance of these presents, shall be as binding upon the Company as if they had been duly signed by the president and attested by the secretary of the Company in their own proper persons.
That this power is made and executed pursuant to and by authority of the following By-law and Authorization:
ARTICLE IV - Execution of Contracts: Section 12. Surety Bonds and Undertakings. Any officer or other official of the Corporation authorized for that purpose in writing by the Chairman or the President, and subject to such limitations as the Chairman or the President may prescribe, shall appoint such attorneys-in-fact, as may be necessary to act in behalf of the Corporation to make, execute, seal, acknowledge and deliver as surety any and all undertakings, bonds, recognizances and other surety obligations. Such attorneys-in-fact, subject to the limitations set forth in their respective powers of attorney, shall have full power to bind the Corporation by their signature and executed, such instruments shall be as binding as if signed by the president and attested by the secretary.
By the following instrument the chairman or the president has authorized the officer or other official named therein to appoint attorneys-in-fact:
Pursuant to Article IV, Section 12 of the By-laws, Garnet W. Elliott, Assistant Secretary of First National Insurance Company of America, is authorized to appoint such attorneys-in-fact as may be necessary to act in behalf of the Corporation to make, execute, seal, acknowledge and deliver as surety any and all undertakings, bonds, recognizances and other surety obligations.
That the By-law and the Authorization set forth above are true copies thereof and are now in full force and effect.
IN WITNESS WHEREOF, this Power of Attorney has been subscribed by an authorized officer or official of the Company and the corporate seal of First National Insurance Company of America has been affixed thereto in Plymouth Meeting, Pennsylvania this day of,
FIRST NATIONAL INSURANCE COMPANY OF AMERICA By Garnet W. Elliott, Assistant Secretary COMMONWEALTH OF PENNSYLVANIA SS COUNTY OF MONTGOMERY
On this 28th day of February , 2011 , before me, a Notary Public, personally came Garnet W. Elliott, to me known, and acknowledged that he is an Assistant Secretary of First National Insurance Company of America; that he knows the seal of said corporation; and that he executed the above Power of Attorney and affixed the corporate seal of First National Insurance Company of America thereto with the authority and at the direction of said corporation.
IN TESTIMONY WHEREOF, have largeboto subscribed my name and affixed my notarial seal at Plymouth Meeting, Pennsylvania, on the day and year first above written. Notarial Seal Teresa Pastella, Notary Public Plymouth Twp., Montgomery County My Corringion Expires Mar. 28, 2013 Member, Pennsylvania Association of Notaries Member, Pennsylvania Association of Notaries
I, the undersigned, Assistant Secretary of First National Insurance Company of America, do hereby certify that the original power of attorney of which the foregoing is a full, true and correct copy, is in full force and effect on the date of this certificate; and I do further certify that the officer or official who executed the said power of attorney is an Assistant Secretary specially authorized by the chairman or the president to appoint attorneys-in-fact as provided in Article IV, Section 12 of the By-laws of First National Insurance Company of America.
This certificate and the above power of attorney may be signed by facsimile or mechanically reproduced signatures under and by authority of the following vote of the board of directors of First National Insurance Company of America at a meeting duly called and held on the 18th day of September, 2009.
VOTED that the facsimile or mechanically reproduced signature of any assistant secretary of the company, wherever appearing upon a certified copy of any power of attorney issued by the company in connection with surety bonds, shall be valid and binding upon the company with the same force and effect as though manually affixed.
IN TESTIMONY WHEREOF 1 have hereunto subscribed my name and affixed the corporate seal of the said company, this day of
By Want Comp. By Ward M. Carey, Assistant Secretary

CALIFORNIA ALL-PURPOSE ACKNOWLEDGMENT

CALII OMNIA ALL-PURPUSE A	CRNOWLEDGMENT
State of California	
County of Los Angeles	}
NOV 17 2011	Monica Blaisdell, Notary Public Here Insert Name and Title of the Officer
personally appearedPhilip Veg	
	realie(s) (ii Signer(s)
MONICA BLAISDELL Commission # 1794078 Notary Public - California Orange County My Comm. Expires Mar 26, 2012	who proved to me on the basis of satisfactory evidence to be the person(s) whose name(s) is/size subscribed to the within instrument and acknowledged to me that he/she/theyxexecuted the same in his/her/theirxauthorized capacity/(iqs), and that by his/her/their signature(s) on the instrument the person(s), or the entity upon behalf of which the person(s) acted, executed the instrument. I certify under PENALTY OF PERJURY under the laws of the State of California that the foregoing paragraph is true and correct.
Place Notary Seal Above	WITNESS my hand and official seal. Signature of Notary Public

CALIFORNIA ALL-PURPOSE CEDTIFICATE OF ACKNOWI FORMENT

CERTIFICATE OF AC	MIOWLEDGMENT
State of California	
County of Riverside	
On 11 73)) before me, Rami M. Alabbasi,	Notary Public (Here insert name and title of the officer)
personally appeared Marwan AlAbbas	
who proved to me on the basis of satisfactory evidence the within instrument and acknowledged to me that he capacity (ies), and that by his her/their signature(s) on the which the person(s) acted, executed the instrument.	she/they executed the same in his her/their authorized
I certify under PENALTY OF PERJURY under the laws is true and correct.	of the State of California that the foregoing paragraph
WITNESS my hand and official seal.	RAMI M. ALABBASI COMM. # 1859461 NOTARY PUBLIC - CALIFORNIA SI RIVERSIDE COUNTY My Comm. Expires July 30, 2013
Signature of Notary Public	()
ADDITIONAL OPTIO	NAL INFORMATION
DESCRIPTION OF THE ATTACHED DOCUMENT appropriate appro	INSTRUCTIONS FOR COMPLETING THIS FORM y acknowledgment completed in California must contain verbiage exactly acceptant above in the notary section or a separate acknowledgment form must be apperly completed and attached to that document. The only exception is if a comment is to be recorded outside of California. In such instances, and alternative the recorded outside of California and the comment is to be recorded outside of the comment
(Title or description of attached document)	knowledgment verbiage as may be printed on such a document so long as the biage does not require the notary to do something that is illegal for a notary i

	(Title or description of attached document)
(T)	itle or description of attached document continued)
Numbe	r of Pages Document Date
	(Additional information)
	CITY CLAIMED BY THE SIGNER Individual (s) Corporate Officer
	Individual (s)
	Individual (s) Corporate Officer
	Individual (s) Corporate Officer (Title)
	Individual (s) Corporate Officer (Title) Partner(s)

California (i.e. certifying the authorized capacity of the signer). Please check the document carefully for proper notarial wording and attach this form if required.

- State and County information must be the State and County where the document signer(s) personally appeared before the notary public for acknowledgment.
- Date of notarization must be the date that the signer(s) personally appeared which must also be the same date the acknowledgment is completed.
- The notary public must print his or her name as it appears within his or her commission followed by a comma and then your title (notary public).
- Print the name(s) of document signer(s) who personally appear at the time of
- Indicate the correct singular or plural forms by crossing off incorrect forms (i.e. he/she/they, is /are) or circling the correct forms. Failure to correctly indicate this
- information may lead to rejection of document recording. • The notary seal impression must be clear and photographically reproducible. Impression must not cover text or lines. If seal impression smudges, re-seal if a sufficient area permits, otherwise complete a different acknowledgment form.
- Signature of the notary public must match the signature on file with the office of the county clerk.
 - Additional information is not required but could help to ensure this acknowledgment is not misused or attached to a different document.
 - Indicate title or type of attached document, number of pages and date.
 - Indicate the capacity claimed by the signer. If the claimed capacity is a corporate officer, indicate the title (i.e. CEO, CFO, Secretary).
- · Securely attach this document to the signed document

Company Profile

FIRST NATIONAL INSURANCE COMPANY OF AMERICA 175 BERKELEY STREET

BOSTON, MA 02116

Agent for Service of Process

KAREN HARRIS, C/O CORPORATION SERVICE COMPANY 2730 GATEWAY OAKS DRIVE, SUITE 100 SACRAMENTO, CA 95833

<u>Unable to Locate the Agent for Service of Process?</u>

Reference Information

NAIC#:

24724

NAIC Group #:

0111

California Company ID#:

0978-7

Date authorized in California:

January 03, 1929

License Status:

UNLIMITED-NORMAL

Company Type:

Property & Casualty

State of Domicile:

WASHINGTON

Lines of Insurance Authorized to Transact

The company is authorized to transact business within these lines of insurance. For an explanation of any of these terms, please refer to the glossary.

AIRCRAFT

AUTOMOBILE

BOILER AND MACHINERY

BURGLARY

COMMON CARRIER LIABILITY

CREDIT

FIRE

LIABILITY

MARINE

MISCELLANEOUS

PLATE GLASS

SPRINKLER

SURETY

TEAM AND VEHICLE

WORKERS' COMPENSATION

Company Complaint Information

Company Enforcement Action Documents

Company Performance & Comparison Data

Composite Complaint Studies

Want More?

Help Me Find a Company Representative in My Area

Last Revised - May 26, 2011 01:14 PM Copyright © California Department of Insurance



CERTIFICATE OF LIABILITY INSURANCE

DATE (MM/DD/YYYY) 11/29/2011

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.

IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(ies) must be endorsed. If SUBROGATION IS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer rights to the certificate holder in lieu of such endorsement(s).

PRODUCER		CONTACT Gail Schrenk						
Amorelli Rosema	ann & Associates	PHONE (A/C, No. Ext): (909) 987-7600 FAX (A/C, No): (909) 9	87-7656					
3333 E Concours	s St	E-MAIL ADDRESS: gails@arainsurance.com						
Building 9-200		INSURER(S) AFFORDING COVERAGE	NAIC #					
Ontario	CA 91764	INSURER A: The Travelers Indemnity Company	25658					
INSURED		INSURER B: RSUI Indemnity Insurance Co.	22314					
Mamco Inc		INSURER C: Golden Eagle Insurance Corp.	10836					
16810 Van Burer	n Blvd Ste 200	INSURER D:						
		INSURER E :						
Riverside	CA 92504	INSURER F:						

COVERAGES CERTIFICATE NUMBER:CL1162402386 REVISION NUMBER:

THIS IS TO CERTIFY THAT THE POLICIES OF INSURANCE LISTED BELOW HAVE BEEN ISSUED TO THE INSURED NAMED ABOVE FOR THE POLICY PERIOD INDICATED. NOTWITHSTANDING ANY REQUIREMENT, TERM OR CONDITION OF ANY CONTRACT OR OTHER DOCUMENT WITH RESPECT TO WHICH THIS CERTIFICATE MAY BE ISSUED OR MAY PERTAIN, THE INSURANCE AFFORDED BY THE POLICIES DESCRIBED HEREIN IS SUBJECT TO ALL THE TERMS, EXCLUSIONS AND CONDITIONS OF SUCH POLICIES. LIMITS SHOWN MAY HAVE BEEN REDUCED BY PAID CLAIMS.

INSR LTR	TYPE OF INSURANCE	ADDL INSR	SUBR	POLICY NUMBER	POLICY EFF	POLICY EXP	LIMITS
	GENERAL LIABILITY				,		EACH OCCURRENCE \$ 1,000,000
	X COMMERCIAL GENERAL LIABILITY				,		DAMAGE TO RENTED \$ 300,000
A	CLAIMS-MADE X OCCUR	x		CO2456R993	6/18/2011	6/18/2012	MED EXP (Any one person) \$ 5,000
	X DED \$2,500			•			PERSONAL & ADV INJURY \$ 1,000,000
							GENERAL AGGREGATE \$ 2,000,000
İ	GEN'L AGGREGATE LIMIT APPLIES PER:						PRODUCTS - COMP/OP AGG \$ 2,000,000
	POLICY X PRO- JECT LOC						\$
	AUTOMOBILE LIABILITY						COMBINED SINGLE LIMIT (Ea accident) \$ 1,000,000
A	X ANY AUTO						BODILY INJURY (Per person) \$
	ALL OWNED SCHEDULED AUTOS	x		BA2456R993	6/18/2011	6/18/2012	BODILY INJURY (Per accident) \$
	X HIRED AUTOS X NON-OWNED AUTOS	1					PROPERTY DAMAGE (Per accident) \$
	X COMP \$1000 X COLL \$1,000						\$
	X UMBRELLA LIAB X OCCUR						EACH OCCURRENCE \$ 4,000,000
В	EXCESS LIAB CLAIMS-MADE	ŀ					AGGREGATE \$ 4,000,000
	DED RETENTION\$ 0	ŀ		NHA228383	6/18/2011	6/18/2012	\$
A	WORKERS COMPENSATION AND EMPLOYERS' LIABILITY						X WC STATU- OTH- TORY LIMITS ER
	ANY PROPRIETOR/PARTNER/EXECUTIVE Y/N OFFICER/MEMBER EXCLUDED?	N/A					E.L. EACH ACCIDENT \$ 1,000,000
	(Mandatory in NH) If yes, describe under			UB2456R993	3/12/2011	3/12/2012	E.L. DISEASE - EA EMPLOYEE \$ 1,000,000
	DESCRIPTION OF OPERATIONS below						E.L. DISEASE - POLICY LIMIT \$ 1,000,000
С	RENTED/LEASED EQ \$100,000			IM8199184	8/28/2011	8/28/2012	CONTRACTORS EQUIPM 919,920
	INLAND MARINE POLICY						EQUIP DED \$500
DESCRIPTION OF OPERATIONS / LOCATIONS / VEHICLES (Attach ACORD 101, Additional Remarks Schedule if more space is required)							

DESCRIPTION OF OPERATIONS/LOCATIONS/VEHICLES (Attach ACORD 101, Additional Remarks Schedule, if more space is required)
JOB: RANCHO CALIFORNIA ROAD AT ANZA RD ROUNDABOUT PROJECT/ 10 DAY NOC FOR NON PAY OF PREMIUM/ CERT
HOLDER, RANCHO CALIFORNIA WATER DISTRICT, ITS OFFICERS, DIRECTORS, AGENTS AND EMPLOYEES, THE SOUTHERN
CALIFORNIA EDISON COMPANY, ITS OFFICERS, DIRECTORS, AGENTS & EMPLOYEES, VERIZON COMMUNICATIONS, ITS
OFFICERS, DIRECTORS, AGENTS AND EMPLOYEES AND METROPOLITAN WATER DISTRICT ITS OFFICERS, DIRECTORS, AGENTS
AND EMPLOYEES ARE NAMED AS ADD'L INSURED ON GEN LIAB & AUTO POLICIES AS PER WRITTEN CONTRACT/WAIVER OF
SUBROGATION ON WC APPLIES AS PER WRITTEN CONTRACT/30 DAYS CANCELLATION NOTICE / UMB FOLLOWS UNDERLYING
POLICIES

CERTIFICATE HOLDER	CANCELLATION			
(951) 955-3164	SHOULD ANY OF THE ABOVE DESCRIBED POLICIES BE CANCELLED BEFORE THE EXPIRATION DATE THEREOF, NOTICE WILL BE DELIVERED IN			
COUNTY OF RIVERSIDE TRANSPORTATION DEPT JOEL JIMENEZ	ACCORDANCE WITH THE POLICY PROVISIONS.			
14TH STREET TRANPORTATION ANNEX 3525 14TH STREET	AUTHORIZED REPRESENTATIVE			
RIVERSIDE, CA 92501	Gail Schrenk/GAIL			
1	1			

ACORD 25 (2010/05)

INS025 (201005) 01

THIS ENDORSEMENT CHANGES THE POLICY. PLEASE READ IT CAREFULLY

BLANKET ADDITIONAL INSURED (CONTRACTORS)

This endorsement modifies insurance provided under the following:

COMMERCIAL GENERAL LIABILITY COVERAGE PART

- WHO IS AN INSURED (Section II) is amended to include any person or organization that you agree in a "written contract requiring insurance" to include as an additional insured on this Coverage Part, but:
 - a) Only with respect to liability for "bodily injury", "property damage" or "personal injury"; and
 - b) If, and only to the extent that, the injury or damage is caused by acts or omissions of you or your subcontractor in the performance of "your work" to which the "written contract requiring insurance" applies. The person or organization does not qualify as an additional insured with respect to the independent acts or omissions of such person or organization.
- 2. The insurance provided to the additional insured by this endorsement is limited as follows:
 - a) In the event that the Limits of Insurance of this Coverage Part shown in the Declarations exceed the limits of liability required by the "written contract requiring insurance", the insurance provided to the additional insured shall be limited to the limits of liability required by that "written contract requiring insurance". This endorsement shall not increase the limits of insurance described in Section III – Limits Of Insurance.
 - b) The insurance provided to the additional insured does not apply to "bodily injury", "property damage" or "personal injury" arising out of the rendering of, or failure to render, any professional architectural, engineering or surveying services, including:
 - The preparing, approving, or failing to prepare or approve, maps, shop drawings, opinions, reports, surveys, field orders or change orders, or the preparing, approving, or failing to prepare or approve, drawings and specifications; and
 - II. Supervisory, inspection, architectural or engineering activities.

- c) The insurance provided to the additional insured does not apply to "bodily injury" or "property damage" caused by "your work" and included in the "products-completed operations hazard" unless the "written contract requiring insurance" specifically requires you to provide such coverage for that additional insured, and then the insurance provided to the additional insured applies only to such "bodily injury" or "property damage" that occurs before the end of the period of time for which the "written contract requiring insurance" requires you to provide such coverage or the end of the policy period, whichever is earlier.
- 3. The insurance provided to the additional insured by this endorsement is excess over any valid and collectible "other insurance", whether primary, excess, contingent or on any other basis, that is available to the additional insured for a loss we cover under this endorsement. However, if the "written contract requiring insurance" specifically requires that this insurance apply on a primary basis or a primary and non-contributory basis, this insurance is primary to "other insurance" available to the additional insured which covers that person or organization as a named insured for such loss, and we will not share with that "other insurance". But the insurance provided to the additional insured by this endorsement still is excess over any valid and collectible "other insurance", whether primary, excess, contingent or on any other basis, that is available to the additional insured when that person or organization is an additional insured under such "other insurance".
- 4. As a condition of coverage provided to the additional insured by this endorsement:
 - a) The additional insured must give us written notice as soon as practicable of an "occurrence" or an offense which may result in a claim. To the extent possible, such notice should include:

COMMERCIAL GENERAL LIABILITY

- How, when and where the "occurrence" or offense took place;
- The names and addresses of any injured persons and witnesses; and
- The nature and location of any injury or damage arising out of the "occurrence" or offense.
- b) If a claim is made or "suit" is brought against the additional insured, the additional insured must:
 - Immediately record the specifics of the claim or "suit" and the date received; and
 - II. Notify us as soon as practicable.

The additional insured must see to it that we receive written notice of the claim or "suit" as soon as practicable.

- c) The additional insured must immediately send us copies of all legal papers received in connection with the claim or "suit", cooperate with us in the investigation or settlement of the claim or defense against the "suit", and otherwise comply with all policy conditions.
- d) The additional insured must tender the defense and indemnity of any claim or "suit" to

any provider of "other insurance" which would cover the additional insured for a loss we cover under this endorsement. However, this condition does not affect whether the insurance provided to the additional insured by this endorsement is primary to "other insurance" available to the additional insured which covers that person or organization as a named insured as described in paragraph 3. above.

5. The following definition is added to SECTION V. – DEFINITIONS:

"Written contract requiring insurance" means that part of any written contract or agreement under which you are required to include a person or organization as an additional insured on this Coverage Part, provided that the "bodily injury" and "property damage" occurs and the "personal injury" is caused by an offense committed:

- a. After the signing and execution of the contract or agreement by you;
- b. While that part of the contract or agreement is in effect; and
- c. Before the end of the policy period.

Land Schook

THIS ENDORSEMENT CHANGES THE POLICY. PLEASE READ IT CAREFULLY.

AUTO COVERAGE PLUS ENDORSEMENT

This endorsement modifies insurance provided under the following:

BUSINESS AUTO COVERAGE FORM

With respect to coverage provided by this endorsement, the provisions of the Coverage Form apply unless modified by the endorsement.

GENERAL DESCRIPTION OF COVERAGE – This endorsement broadens coverage. However, coverage for any injury, damage or medical expenses described in any of the provisions of this endorsement may be excluded or limited by another endorsement to the Coverage Part, and these coverage broadening provisions do not apply to the extent that coverage is excluded or limited by such an endorsement. The following listing is a general coverage description only. Limitations and exclusions may apply to these coverages. Read all the provisions of this endorsement and the rest of your policy carefully to determine rights, duties, and what is and is not covered.

- A. BLANKET ADDITIONAL INSURED
- **B. EMPLOYEE HIRED AUTO**
- C. EMPLOYEES AS INSURED
- D. SUPPLEMENTARY PAYMENTS INCREASED LIMITS
- E. TRAILERS INCREASED LOAD CAPACITY
- F. HIRED AUTO PHYSICAL DAMAGE
- G. PHYSICAL DAMAGE TRANSPORTATION EXPENSES INCREASED LIMIT
- A. BLANKET ADDITIONAL INSURED

The following is added to Paragraph A.1., Who Is An Insured, of SECTION II – LIABILITY COVERAGE:

Any person or organization who is required under a written contract or agreement between you and that person or organization, that is signed and executed by you before the "bodily injury" or "property damage" occurs and that is in effect during the policy period, to be named as an additional insured is an "insured" for Liability Coverage, but only for damages to which this insurance applies and only to the extent that person or organization qualifies as an "insured" under the Who Is An Insured provision contained in Section II.

B. EMPLOYEE HIRED AUTO

 The following is added to Paragraph A.1., Who Is An Insured, of SECTION II – LI-ABILITY COVERAGE:

An "employee" of yours is an "insured" while operating a covered "auto" hired or rented under a contract or agreement in that "employee's" name, with your permission, while

- H. AUDIO, VISUAL AND DATA ELECTRONIC EQUIPMENT INCREASED LIMIT
- I. WAIVER OF DEDUCTIBLE GLASS
- J. PERSONAL EFFECTS
- K. AIRBAGS
- L. AUTO LOAN LEASE GAP
- M. BLANKET WAIVER OF SUBROGATION

performing duties related to the conduct of your business.

- The following replaces Paragraph b. in B.5., Other Insurance, of SECTION IV – BUSI-NESS AUTO CONDITIONS:
 - b. For Hired Auto Physical Damage Coverage, the following are deemed to be covered "autos" you own:
 - (1) Any covered "auto" you lease, hire, rent or borrow; and
 - (2) Any covered "auto" hired or rented by your "employee" under a contract in that individual "employee's" name, with your permission, while performing duties related to the conduct of your business.

However, any "auto" that is leased, hired, rented or borrowed with a driver is not a covered "auto".

C. EMPLOYEES AS INSURED

The following is added to Paragraph A.1., Who Is An Insured, of SECTION II – LIABILITY COVERAGE:

Barl Schenk



WORKERS COMPENSATION AND EMPLOYERS LIABILITY POLICY

ENDORSEMENT WC 99 03 76 (A) - 001

POLICY NUMBER: (4TJUB-2456R99-3-11)

WAIVER OF OUR RIGHT TO RECOVER FROM OTHERS ENDORSEMENT – CALIFORNIA (BLANKET WAIVER)

We have the right to recover our payments from anyone liable for an injury covered by this policy. We will not enforce our right against the person or organization named in the Schedule.

The additional premium for this endorsement shall be 3, % of the California workers' compensation premium.

Schedule

Person or Organization

Job Description

ANY PERSON OR ORGANIZATION
FOR WHICH THE NAMED INSURED
HAS AGREED BY WRITTEN CONTRACT
EXECUTED PRIOR TO LOSS TO
FURNISH THIS WAIVER.

This endorsement changes the policy to which it is attached and is effective on the date issued unless otherwise stated.

(The information below is required only when this endorsement is issued subsequent to preparation of the policy.)

Endorsement Effective 3/12/2011 Insured

Policy No. UB2456R993

Endorsement No.

Premium

Insurance Company TRAVELERS INSURANCE CO. Countersigned by

DATE OF ISSUE: 03-11-11 ST ASSIGN:

Page 1 of 1

COMMERCIAL EXCESS LIABILITY POLICY

Various provisions in this policy restrict coverage. Read the entire policy and any underlying insurance carefully to determine rights, duties and what is covered and not covered.

Throughout this policy the words "you" and "your" refer to the Named Insured shown in the Declarations and any other person or organization qualifying as an Insured under the "Underlying Insurance". The words "we" and "us" refer to the COMPANY shown in the DECLARATIONS. Other words and phrases that appear in quotation marks have special meanings. Refer to Definitions (SECTION V).

SECTION I - EXCESS LIABILITY INSURANCE

1. Insuring Agreement

- a. We will pay those sums in excess of the limits shown in Item 6 of the Declarations, Schedule of Underlying Insurance, that you become legally obligated to pay as damages because of injury to which this insurance applies, provided that the "Underlying Insurance" also applies, or would apply but for the exhaustion of its applicable Limits of Insurance.
- b. This insurance is subject to the same terms, conditions, agreements, exclusions and definitions as the "Underlying Insurance", except:
 - (1) We will have no obligation under this insurance with respect to any claim or suit that is settled without our consent; and
 - (2) With respect to any provisions to the contrary contained in this insurance.
- c. The amount we will pay for damages shall not exceed the Limits of Insurance stated in Item 4. of the Declarations.
- d. We will have the right to participate in the defense of claims or suits against you seeking damages because of injury to which this insurance may apply. We will have a duty to defend such claims or suits when the applicable limit of insurance of the "Underlying Insurance" has been exhausted by payment of judgments, settlements and any cost or expense subject to such limit. We may, at our discretion, investigate and settle any claim or suit. Our right and duty to defend end when the applicable limit shown in the Declarations has been used up by our payment of judgments or settlements.

SECTION II - EXCLUSIONS

The exclusions applicable to the "Underlying Insurance" also apply to this insurance.

SECTION III - LIMITS OF INSURANCE

- The Limit of Insurance shown in the Declarations as EACH OCCURRENCE is the most we will pay for damages arising out of any one occurrence or offense.
- 2. The Limit of Insurance shown in the Declarations as AGGREGATE WHERE APPLICABLE shall apply in the same manner as the aggregate limits shown in the SCHEDULE OF UNDERLYING INSURANCE.

SECTION IV - CONDITIONS

If any of the following conditions are contrary to conditions contained in the "Underlying Insurance" the provisions contained in this policy apply.

1. Appeals

In the event the underlying insurer(s) elects not to appeal a judgment in excess of the limits of the "Underlying Insurance", we may elect to make such an appeal. If we so elect, we shall be liable, in addition to the applicable Limits of Insurance, for all defense expenses we incur.

2. Maintenance of "Underlying Insurance"

- a. You agree to maintain the "Underlying Insurance" in full force and effect during the term of this policy, and to inform us within 30 days of any replacement or material change of that "Underlying Insurance" by the same or another company. If you do not maintain the "Underlying Insurance" in full force and effect or fail to meet all conditions and warranties of such "Underlying Insurance", this policy shall apply as if those policies were available and collectible.
- b. Reduction or exhaustion of the aggregate limit of any "Underlying Insurance" by payments for judgments, settlements or any costs or expenses subject to that limit, will not be a failure to maintain "Underlying Insurance" in full force and effect.
- c. No statement contained in this condition limits our right to cancel or not renew this policy.



COMMERCIAL EXCESS LIABILITY POLICY DECLARATIONS

945 E. Paces Ferry Re Suite 1800 Atlanta, GA 30326

THIS POLICY IS ISSUED BY THE COMPANY DESIGNATED BELOW:

COMPANY	(A New Hampshire Stock Co.)		
POLICY N	UMBER: NHA228383	<u>_</u>	
NEW: [RENEWAL	OF: NHA226198	PRODUCER CODE NO:	
ITEM 1 NAMED INSURED AND MAILING ADDRESS	Mamco Inc 16810 Van Buren Blvd., Ste. 200 Riverside, CA 92504	PRODUCER'S NAME AND ADDRESS	
	<u> </u>		
ITEM 2	COVERAGE: EXCESS		
ITEM 3	POLICY PERIOD FROM 6/18/2011 TO 6/18/2012	12:01 A.M. STANDARD TIME AT THE ADDRESS OF THE NAMED INSURE	D
		LIMITS OF INSURANCE	
ITEM 4	EACH OCCURRENCE	AGGREGATE WHERE APPLICABLE	
LIMITS	\$ 4,000,000	\$ 4,000,000	
AND PREMIUM	PREMIUM		
	⊠ FLAT	AUDITABLE - SEE PREMIUM COMPUTATION ENDORSEMENT	
ITEM 5	ENDORSEMENTS ATTACHED: Policy Jacket	et: RSG 31001 0507, Schedule of Underlying Insurance-RSG 30002 0803	
-	EDULE OF POLICY ATTACHMENTS AND F	FORMS	
		Ohilip Coletti Date Issued July 08, 2011	
	Countersigned By	Authorized Representative GH	

RSG 30001 1003



COMMERCIAL EXCESS LIABILITY POLICY DECLARATIONS

POLICY NO. NHA228383

ITEM 6.

SCHEDULE OF UNDERLYING INSURANCE

Type of Policy	Insurer	Applicable Limit
GENERAL LIABILITY	TRAVELERS INDEMNITY INSURANCE COMPANY	\$1,000,000 EACH OCCURRENCE \$2,000,000 GENERAL AGGREGATE PER JOB \$1,000,000 PRODUCTS/COMPLETED OPS AGG \$1,000,000 PERSONAL/ADVERTISING INJURY
AUTO LIABILITY	TRAVELERS INDEMNITY INSURANCE COMPANY	\$1,000,000 COMBINED SINGLE LIMIT
EMPLOYERS LIABILITY	TRAVELERS INDEMNITY INSURANCE COMPANY	\$1,000,000 EACH ACCIDENT \$1,000,000 DISEASE EACH EMPLOYEE \$1,000,000 DISEASE POLICY LIMIT

Company Profile

TRAVELERS INDEMNITY COMPANY (THE)

ONE TOWER SQUARE, 4MN TRAVELERS / Mary T. Restelli HARTFORD, CT 06183 860-277-0111

Agent for Service of Process

KAREN HARRIS, C/O CORPORATION SERVICE COMPANY 2730 GATEWAY OAKS DRIVE, SUITE 100 SACRAMENTO, CA 95833

Unable to Locate the Agent for Service of Process?

Reference Information

NAIC #:

25658

NAIC Group #:

3548

California Company ID #:

4772-0

Date authorized in California: License Status:

June 17, 2002 UNLIMITED-NORMAL

Company Type:

Property & Casualty

State of Domicile:

CONNECTICUT

Lines of Insurance Authorized to Transact

The company is authorized to transact business within these lines of insurance. For an explanation of any of these terms, please refer to the glossary.

AIRCRAFT

AUTOMOBILE

BOILER AND MACHINERY

BURGLARY

COMMON CARRIER LIABILITY

CREDIT

DISABILITY

FIRE

LIABILITY

MARINE MISCELLANEOUS

PLATE GLASS

SPRINKLER

SURETY

TEAM AND VEHICLE

WORKERS' COMPENSATION

Company Complaint Information

Company Enforcement Action Documents

Company Performance & Comparison Data

Composite Complaint Studies

Want More?

Help Me Find a Company Representative in My Area

Last Revised - May 26, 2011 01:14 PM Copyright © California Department of Insurance

Company Profile

RSUI INDEMNITY COMPANY 945 EAST PACES FERRY RD, SUITE 1800 KIM TRIMBLE ATLANTA, GA 30326

Former Names for Company

Old Name:

UNDERWRITERS REINSURANCE COMPANY

Effective Date: 02-06-2004

Old Name:

BUFFALO REINSURANCE COMPANY

Effective Date: 12-28-1987

Agent for Service of Process

JERE KEPRIOS, C/O CT CORPORATION SYSTEM 818 WEST SEVENTH STREET, 2ND FLOOR LOS ANGELES, CA 90017 JERE KEPRIOS, C/O CT CORPORATION SYSTEM 818 WEST SEVENTH ST LOS ANGELES, CA 90017

Unable to Locate the Agent for Service of Process?

Reference Information

NAIC #:

NAIC Group #:

22314 0501

California Company ID #:

2269-9

Date authorized in California:

January 01, 1978

License Status:

UNLIMITED-NORMAL

Company Type:

Property & Casualty

State of Domicile:

NEW HAMPSHIRE

Lines of Insurance Authorized to Transact

The company is authorized to transact business within these lines of insurance. For an explanation of any of these terms, please refer to the glossary.

AIRCRAFT

AUTOMOBILE

BOILER AND MACHINERY

BURGLARY

COMMON CARRIER LIABILITY

CREDIT

DISABILITY

FIRE

LIABILITY

MARINE

MISCELLANEOUS

PLATE GLASS

SPRINKLER

SURETY

TEAM AND VEHICLE

WORKERS' COMPENSATION

Company Complaint Information

Company Enforcement Action Documents

Company Performance & Comparison Data

Composite Complaint Studies

Want More?

Help Me Find a Company Representative in My Area

Last Revised - May 26, 2011 01:14 PM Copyright © California Department of Insurance



COUNTY OF RIVERSIDE

TRANSPORTATION AND LAND MANAGEMENT AGENCY



Juan C. Perez, P.E., T.E. Director of Transportation

Transportation Department

ADDENDUM NUMBER 1
Dated October 24, 2011

to the Specifications and Contract Documents for the Construction of

Rancho California Road at Anza Road Roundabout Project Project No. B9-0957

Bids Due:

(REVISED)

Tuesday, November 1, 2011; 2:00 p.m.

14th Street Transportation Annex 3525 14th Street; Riverside, CA 92501

(951) 955-6780

This Addendum is issued pursuant to the instructions to Bidders, Item No. 8 of the Contract Document for the referenced project. This Addendum is issued as a supplement to the plans and Special Provisions for the referenced project. The revisions to the plans and specifications shall become a part of the Contract Documents, and each bidder shall acknowledge receipt thereof on the Contractor's Proposal. Bidders are directed to sign this addendum as acknowledged, and attach the signed addendum to the contractor's submitted proposal.

Note: During the advertisement period of this project, this document and attachments (if any) are available upon request at the office of the Transportation Department, and are available as a free download at the Transportation Department's website:

www.tlma.co.riverside.ca.us/trans/con_bid_advertisements.html

Item 1: The new designated date and time for the receipt and opening of bids is revised as follows:

Tuesday, November 1, 2011; 2:00 PM 14th Street Transportation Annex 3525 14th Street; Riverside, CA 92501 (951) 955-6780

MODIFICATIONS / CLARIFICATIONS TO SPECIAL PROVISIONS

Item 2: Clarification, Basis for Bid Selection. The County may award Option 1 or Option 2 to the low responsive/responsible bidder (the basis of selection is the sum of Option 1 and Option 2 sub-totals).

Refer to footnotes on 'PROPOSAL' page B12 on the Special Provisions:

In addition to 'Instruction to Bidders' item 19 (Page A6), the County may award Option 1 or Option 2 items of work.

If Option 1 is selected, any related Option 1 alternate bid schedules may also be awarded to Contractors.

If Option 2 is selected, any related Option 2 alternate bid schedules may also be awarded to Contractors.

Option 1 sub-alternate schedules will not be mixed with Option 2 sub-alternate schedules.

Item 3: Clarification, Roadway Footprint of the Roundabout. Refer to section entitled "Liquidated Damages" page 49-50 of the Special Provisions.

The roadway footprint of the roundabout includes any and all improvements within the outside lines of curbs and gutters on Rancho California Road and Anza Road extending to the limits of the projects.

Item 4: Embankment Construction. Refer to section entitled "Roadway Excavation" page 94-95 of the Special Provisions. The following provisions are added to "Roadway Excavation" and made part hereof:

"It is anticipated that this project will have surplus of material. The Contractor shall comply with the provisions of Section 19-2.06, Surplus Material, of the Standard Specifications.

The fill areas of the project shall be considered as the embankment areas.

Material excavated from within the limits of the project including asphalt concrete grindings and material excavated from the basin that conforms to the standard specifications for embankment construction shall be used for the construction of embankment areas in this project. Full compensation for the construction of embankment areas and fill areas shall be considered as included in the contract price paid per cubic yard for Roadway Excavation."

Item 5: Revision, Closure Requirements and Conditions. Refer to section entitled "Closure Requirements and Conditions" on page 58-60. Delete the days given on the Closure Charts for Option 1 and Option 2, 'Monday through Friday', and replace with 'Sunday trhough Saturday'.

Addendum No. 1 Rancho California Road at Anza Road Roundabout Project Project No. B9-0957 October 24, 2011 Page 3 of 16

Item 6:

Warped Wing Wall Per Caltrans D-86B. Refer to section entitled "Class 2 Concrete (Minor Concrete Structures)" on page 89-90. The following additional Special Provisions are added and made part hereof:

The Contractor shall remove and dispose any sections of existing 18" CMP culvert found to be in conflict with the new improvements as directed by the Resident Engineer.

In the event that an existing concrete structure (wing walls, head walls, cut off wall) and rip-rap is found at the outlet of the existing 18" CMP culvert at approximately Sta 29+00 on Anza Road, or any other inlet or outlet structure, the Contractor shall completely remove and haul off the encountered concrete structure and rip-rap as directed by the Engineer.

Full compensation for complying with this provision shall be considered as included in contract price paid per each for Class 2 Concrete (Minor Structure)[Warped Wingwall][Caltrans STD D-86B], including all labor, equipment, personnel and incidentals, removal and disposal CMP pipe and no additional compensation will be allowed therefor.

Item 7:

LANDSCAPING LIGHTING SYSTEM: Refer to section entitled LANDSCAPING LIGHTING SYSTEM on page 141-142. Delete LANDSCAPING LIGHTING SYSTEM special provision and replace with the following special provision made part hereof.

LANDSCAPING LIGHTING SYSTEM:

PART 1 - GENERAL

1.1 DESCRIPTION

A. Work included: Furnish and install Conduits, boxes, conductors, wiring devices as complete and functional systems.

1.2 REQUIREMENTS

- A. Standards: Refer to the following: NECA Standards of Installation
- B. Submit data sheets per :All items listed in Part 2 of this section.
- C. Submit materials list per: All materials contained in Part 2.

PART 2 - MATERIALS

2.1 LIGHTING FIXTURES

A. Lighting Fixtures:

1. Flood Light: 7000- 70CMT6-MVOLT-MFL-KM-GS-LPI-DDB

2. Installation: MVOLT - Multi Voltage (120V to 270V) In-grade Ballast Box

3. Fixture Mount: KM - Knuckle Mount

4. Fixture Accessories: GS - Glare Shield

5. Lamp: LPI - Lamp included

6. Fixture Color: DDB - Dark Bronze

7. Manufacturer:

Hydrel Acuity Lighting Group, Inc. 12881 Bradley Avenue Sylmar, California 91342 (818) 362-9465 (818) 362-6548 Fax

Or approved equal

2.2 SWITCH

- A. Install approved 120V AC photoelectric switch/cell within existing service area of Electrical Meter Pedestal adjacent to clear plastic eye. Side-mount photoelectric switch/cell facing North if clear lens within service area of Electrical Pedestal is not available. Photoelectric switch shall be on separate 15 Amp breaker. All terminations shall be on terminal blocks.
- B. Install approved 2-pole lighting contactor (for 240VAC use) rated at 30Amps with 120VAC coil, Mechanically Held, and approved for use in open enclosure. All terminations shall be on terminal blocks. Photoelectric switch /cell shall control (2) pole lighting contactor.

2.3 CONDUIT

- A. Conduit shall comply with the requirements of the Underwriters Lab, and shall be delivered to the site in standard lengths with each length bearing the manufacturer's trademark and the UL label. Where conduit is mentioned on drawings or in specifications, it shall be interpreted as Electrical Metallic Tubing for interior conduits in dry locations not subject to abuse, with exceptions as noted below.
- B. PVC, Schedule 40, shall be used for all conduit installed below grade without concrete encasement. Install a separate, copper ground conductor in all conduits below grade, whether or not indicated on conduit runs on drawings;

sized in accordance with Article #250, Table #250-95 for equipment grounding conductors.

C. Conduit shall sweep into service equipment, pull boxes and junction boxes. LB boxes are not permitted. Conduit sweeps shall be a minimum 24" radius/elbow bend. Radius/elbow maybe production bent or field bent as long as conduit is not overheated, loses shape, or is burnt.

2.4 CONDUCTORS

- A. Conductors shall comply with UL Standards for 600 volt insulated copper conductors. Conductors for all branch circuit power and signal circuits shall be type 'THWN', 'THHN', or 'XHHW', except as noted. Minimum size for all line voltage power and control circuits shall be AWG #10. Provide (1) in Green, (1) in White, and (2) in Black. Wiring shall be delivered to the project site in original packaging, which shall be marked with Manufacturer's Name, Date of Manufacture, Size, Type, and Insulation. All conductors shall be labeled with adhesive wire identification labels at both ends of installation, and in all junction boxes, pull boxes, terminal cabinets and panelboards.
- B. Conductors installed within mechanical equipment subject to abnormal temperatures shall be type 'THHN'.
- C. Use insulated wire nut connectors of proper size for all splices, #10 AWG and smaller. Splices subject to wet locations or outside of service enclosure or lighting fixture shall be encapsulated in epoxy type sealant that that will get hard.

2.5 GROUNDING

- A. Provide insulated THWN, THHN, or XHHW green ground conductor in all feeders and branch circuits, sized as required by NEC Article #250 and bonded to boxes, raceways and devices per code requirements.
- B. Provide a green insulated grounding conductor in all conduits run below grade (regardless of the conduit material), and bond the grounding conductor to the equipment grounding system at each end of each conduit run.
- C. In general, grounding conductors shall be installed and sized in accordance with NEC Article #250. Where current carrying conductor sizes are increased to accommodate voltage drop, the grounding conductors shall be increased in size in the same proportion as the phase conductors.

2.6 WIRING DEVICES

A. Ground Fault Circuit Interrupter receptacles: UL listed, specification Grade. NEMA 5-20R configuration, duplex, with integral Ground Fault trip mechanism, with test and reset buttons, visual trip indicator. GFI device shall not exceed existing circuit rating.

2.7 BOXES

A. Pull Boxes for landscape lighting electrical wire shall be Christy N09 - Precast Concrete Electrical Box, 10-1/4" x 16-3/4" with N09-61J - Steel Checker Plate Cover, Bolt Down mechanism, available through Old Castle Precast, 800-486-7070, or approved equal.

PART 3 - EXECUTION

3.1 UNDERGROUND CONDUITS

- A. Conduits shall have a minimum of 24" or greater of coverage, except for vertical sweeps. Conduits shall have a minimum 3" sand encasement on top and 3" bedding on bottom.
- B. Conduits having 24" or less of coverage from final grade shall be encased in concrete/slurry mix as approved by RCTD.

3.2 WIRING METHODS

- A. Wiring shall be installed only into completed conduit systems. Wiring pulling lubricant shall be used where necessary to reduce pulling tension.
- B. All splices, terminations and taps shall be made using approved connectors and terminals, and all connections shall be fully insulated with plastic electrical tape. C. Color Coding: Feeders and branch circuit conductors shall be color coded per hospital standard, and as required by the NEC. Green conductors shall be used only for grounding purposes.

METHOD OF PAYMENT

The contract price paid per lump sum for Landscaping Lighting System shall include full compensation for furnishing all labor, materials, tools, equipment and incidentals and for doing all work involved in furnishing and installation, as shown on the plans, as specified in the specifications, these special provisions, and as directed by the Engineer, and no additional compensation will be allowed therefor.

Item 8: Existing Pavement Section Information: The average structural section of the existing pavement is approximately:

A. Rancho California Road: 0.43' AC over 0.75' Class 2 AB
B. Anza Road: 0.25' AC over 0.40' Class 2 AB

These approximate sections are provided for reference only. Although this information represents the latest information available, the County of Riverside Transportation Department does not guarantee the accuracy of this data.

Addendum No. 1 Rancho California Road at Anza Road Roundabout Project Project No. B9-0957 October 24, 2011 Page 7 of 16

Item 9:

Clarification, Designated Legal Holidays. Refer to section "Maintaining Traffic" page 61-62 of the special provisions. Holidays will be considered counted as a working calendar days to the awarded contractor.

Item 10:

Portable Changeable Message Signs. Refer to section "Portable Changeable Message Signs" page 62-64 of the Special Provisions. The following provision has been added and made part hereof:

Whenever portable changeable message signs are placed behind K-rails, the Coontractor must place crash cushion modules in accordance with Caltrans Standard Plans. Full compensation for furnishing, placing and maintaining crash cushions modules shall be considered as included in the contract price paid for PORTABLE CHANGEABLE MESSAGE SIGNS and not additional compensation will be allow therefor.

Item 11:

Progress Schedule. Add the following special provision to the contract docouments PROGRESS SCHEDULE: The Contractor shall submit to the Engineer practicable critical path method (CPM) progress schedules in conformance with these Special Provisions. Whenever the term "schedule" is used in this section it shall mean CPM progress schedule.

The Contractor shall submit to the Engineer construction schedule update every two weeks, each consistent in all respects with the time and order of work requirements of the contract. The project work shall be executed in the sequence indicated on the cur rent accepted schedule.

Schedule activities shall include the following:

- A. A clear and legible description.
- B. Start and finish dates.
- C. A duration of not less than one working day, except for event activities, and not more than 20 working days, unless otherwise authorized by the Engineer.
- At least one predecessor and one successor activity, except for project start and finish milestones.
- E. Required constraints.
- F. Codes for responsibility, stage, work shifts, location and contract pay item numbers.

The Contractor may show early completion time on any schedule provided that the requirements of the contract are met. Early completion time shall be considered a resource for the exclusive use of the Contractor. The Contractor may increase early completion time by improving production, reallocating resources to be more efficient, performing sequential activities concurrently or by completing activities earlier than planned. The Contractor may also submit for approval a cost reduction incentive proposal in conformance with the provisions

in Section 5-1.14, "Cost Reduction Incentive" of the Standard Specifications that will reduce time of construction.

The Engineer may adjust contract working days for ordered changes that affect the scheduled completion date, in conformance with the provisions in Section 4-1.03, "Changes" of the Standard Specifications. The Contractor shall prepare a time impact analysis to determine the effect of the change in conformance with the provisions in "Time Impact Analysis" specified herein, and shall include the impacts acceptable to the Engineer in the next update schedule. Changes that do not affect the controlling operation on the critical path will not be considered as the basis for a time adjustment. Changes that do affect the controlling operation on the critical path will be considered by the Engineer in decreasing time or granting an extension of time for completion of the contract. Time extensions will only be granted if the total float is absorbed and the scheduled completion date is delayed one or more working days because of the ordered change.

The Engineer's review and acceptance of schedules shall not waive any contract requirements and shall not relieve the Contractor of any obligation thereunder or responsibility for submitting complete and accurate information. Schedules that are rejected shall be corrected by the Contractor and resubmitted to the Engineer within 5 working days of notification by the Engineer, at which time a new review period of one week will begin.

Errors or omissions on schedules shall not relieve the Contractor from finishing all work within the time limit specified for completion of the contract. If, after a schedule has been accepted by the Engineer, either the Contractor or the Engineer discover that any aspect of the schedule has an error or omission, it shall be corrected by the Contractor on the next update schedule.

The Contractor shall include the following for each schedule submittal:

- A. Two sets of originally plotted, time-scaled network diagrams.
- B. Two copies of a narrative report.
- C. Two copies of each of 3 sorts of the CPM software-generated tabular reports.
- D. One 1.44-megabyte 3.5 inch floppy diskette containing the schedule data.

The time-scaled network diagrams shall conform to the following:

- A. Show a continuous flow of information from left to right.
- B. Be based on early start and early finish dates of activities.
- C. Clearly show the primary paths of criticality using graphical presentation.
- D. Be prepared on E-size sheets, 34" x 44".
- E. Include a title block and a timeline on each page.

The narrative report shall be organized in the following sequence with all applicable documents included:

Addendum No. 1 Rancho California Road at Anza Road Roundabout Project Project No. B9-0957 October 24, 2011 Page 9 of 16

- A. Contractor's transmittal letter.
- B. Work completed during the period.
- C. Identification of unusual conditions or restrictions regarding labor, equipment or material; including multiple shifts, 6-day work weeks, specified overtime or work at times other than regular days or hours.
- D. Description of the current critical path.
- E. Changes to the critical path and scheduled completion date since the last schedule submittal.
- F. Description of problem areas.
- G. Current and anticipated delays:
 - 1. Cause of delay.
 - 2. Impact of delay on other activities, milestones and completion dates.
 - 3. Corrective action and schedule adjustments to correct the delay.
- H. Pending items and status thereof:
 - 1. Permits.
 - 2. Change orders.
 - 3. Time adjustments.
 - 4. Noncompliance notices.
- I. Reasons for an early or late scheduled completion date in comparison to the contract completion date.

Tabular reports shall be software-generated and provide information for each activity included in the project schedule. Three different reports shall be sorted by (1) activity number, (2) early start and (3) total float. Tabular reports shall be 8-1/2" x 11" in size and shall include, as a minimum, the following applicable information:

- A. Data date.
- B. Activity number and description.
- C. Predecessor and successor activity numbers and descriptions.
- D. Activity codes.
- E. Scheduled, or actual and remaining durations (work days) for each activity.
- F. Earliest start (calendar) date.
- G. Earliest finish (calendar) date.
- H. Actual start (calendar) date.
- I. Actual finish (calendar) date.
- J. Latest start (calendar) date.
- K. Latest finish (calendar) date.
- L. Free float (work days).
- M. Total float (work days).
- N. Percentage of activity complete and remaining duration for incomplete activities.
- O. Lags.
- P. Required constraints.

Addendum No. 1 Rancho California Road at Anza Road Roundabout Project Project No. B9-0957 October 24, 2011 Page 10 of 16

Schedule submittals will only be considered complete when all documents and data have been provided as described above.

Update Schedule:

The Contractor shall submit an update schedule and meet with the Engineer to review contract progress, on or before the first day of each month, beginning one month after the baseline schedule is accepted. The Contractor shall allow 2 weeks for the Engineer's review after the update schedule and all support data are submitted, except that the review period shall not start until the previous month's required schedule is accepted. Update schedules that are not accepted or rejected within the review period will be considered accepted by the Engineer.

The update schedule shall have a data date of the twenty-first day of the month or other date established by the Engineer. The update schedule shall show the status of work actually completed to date and the work yet to be performed as planned. Actual activity start dates, percent complete and finish dates shall be shown as applicable. Durations for work that has been completed shall be shown on the update schedule as the work actually occurred, including Engineer submittal review and Contractor resubmittal times.

The Contractor may include modifications such as adding or deleting activities or changing activity constraints, durations or logic that do not (1) alter the critical path(s) or near critical path(s) or (2) extend the scheduled completion date compared to that shown on the current accepted schedule. The Contractor shall state in writing the reasons for any changes to planned work. If any proposed changes in planned work will result in (1) or (2) above, then the Contractor shall submit a time impact analysis as described herein.

Time Impact Analysis:

The Contractor shall submit a written time impact analysis (TIA) to the Engineer with each request for adjustment of contract time, or when the Contractor or Engineer consider that an approved or anticipated change may impact the critical path or contract progress.

The TIA shall illustrate the impacts of each change or delay on the current scheduled completion date or internal milestone, as appropriate. The analysis shall use the accepted schedule that has a data date closest to and prior to the event. If the Engineer determines that the accepted schedule used does not appropriately represent the conditions prior to the event, the accepted schedule shall be updated to the day before the event being analyzed. The TIA shall include an impact schedule developed from incorporating the event into the accepted schedule by adding or deleting activities, or by changing durations or logic of existing activities. If the impact schedule shows that incorporating the event modifies the critical path and scheduled completion date of the accepted schedule, the difference between scheduled completion dates of the two schedules shall be equal to the adjustment of contract time. The Engineer may construct and utilize an appropriate project schedule or other recognized

Addendum No. 1 Rancho California Road at Anza Road Roundabout Project Project No. B9-0957 October 24, 2011 Page 11 of 16

method to determine adjustments in contract time until the Contractor provides the TIA.

The Contractor shall submit a TIA in duplicate within 15 working days of receiving a written request for a TIA from the Engineer. The Contractor shall allow the Engineer 2 weeks after receipt to approve or reject the submitted TIA. All approved TIA schedule changes shall be shown on the next update schedule.

If a TIA submitted by the Contractor is rejected by the Engineer, the Contractor shall meet with the Engineer to discuss and resolve issues related to the TIA. If agreement is not reached, the Contractor will be allowed 15 days from the meeting with the Engineer to give notice in conformance with the provisions in Section 9-1.04, "Notice of Potential Claim" of the Standard Specifications. The Contractor shall only show actual as-built work, not unapproved changes related to the TIA, in subsequent update schedules. If agreement is reached at a later date, approved TIA schedule changes shall be shown on the next update schedule. The Engineer will withhold remaining payment on the schedule contract item if a TIA is requested by the Engineer and not submitted by the Contractor within 15 working days. The schedule item payment will resume on the next estimate after the requested TIA is submitted. No other contract payment will be retained regarding TIA submittals.

Final Update Schedule:

The Contractor shall submit a final update, as-built schedule with actual start and finish dates for the activities, within 30 days after completion of contract work. The Contractor shall provide a written certificate with this submittal signed by the Contractor's project manager and an officer of the company stating, "To my knowledge and belief, the enclosed final update schedule reflects the actual start and finish dates of the actual activities for the project contained herein". An officer of the company may delegate in writing the authority to sign the certificate to a responsible manager.

Payment:

Full compensation, except as otherwise provided herein, for conforming to the requirements of this article shall be considered as included in the contract bid prices paid for the various items of work, and no additional compensation will be allowed therefor.

Item 12: Clearing and Grubbing: Refer to section "Clearing and Grubbing" page 85-88 of the Special Provisions. Delete the first paragraph and replace with the following paragraph:

"Clearing and grubbing including but not limited to removal of vegetation (trees, shrubs, bushes, and groundcover) within the proposed slopes, trails and water quality basin, removal and replacement of vegetation (trees, shrubs, brushes,

and groundcover) not in the slopes and the fill areas, modification of existing irrigation, removal of CMP and PVC culvert, removal and salvaging of road sign, removal and salvaging of post with flashing beacon, removal of guard post with footing, removal and salvaging of PVC fencing, removal of winery monument with foundation, removal of a portion of the retaining wall including foundation and excess soil material, removal of rip rap, and removal and replacement of rip rap shall conform to the provisions in Section 16 of the Standard Specifications".

Delete the seventh paragraph and replace with the following paragraph:

"Contractor shall remove, salvage, deliver and off-load the PVC fencing, roadside sign post and flashing beacon to the address listed below or as directed by the Engineer:

Riverside County Transportation Department Road Maintenance Yard 25315 Jefferson Avenue Murrieta, CA 92562 Telephone (951) 677-5889

Delete the last paragraph and replace with the following paragraph:

Full compensation, except as otherwise provided herein, for conforming to the requirements of this article including but not limited to:

- removing vegetation (trees, shrubs, bushes, and groundcover) within the proposed slopes and fill area,
- removal and replacement of vegetation (trees, shrubs, bushes, and groundcover) necessary for construction staging and detour,
- the reestablishment and maintenance of the replaced vegetation (trees, shrubs, bushes, and ground cover) for ninety (90) days,
- modification repairs of the existing irrigation system, replacement of damaged hand hole,
- removal of existing Corrugated Metal Pipe and, PVC culvert,
- removal, salvaging, and delivery of road sign, post with flashing beacon, and PVC fencing,
- removal of guard post, winery monument with footing, rip rap,
- removal and replacement of rip rap,
- removal of CP station,
- partial removal of retaining wall with foundation, and
- relocation of roadside sign and post, shall be paid for on a lump sum basis including furnishing of all labor, materials, tools, equipment, furnishing replacement vegetation (trees, shrubs, bushes, and groundcover), incidentals and for doing all the work involved including coordination with the County Services Area (CSA) 143 Maintenance District for placement of the landscape and the modification and placement of the irrigation includes full compensation for furnishing all labor, materials, tools, equipment, and incidentals, and for doing all the work involved in and no additional compensation will be allowed therefor.

Item 13: Dimensions of the Winery Monument. Refer to section "Clearing and Grubbing" page 85-88 of the Special Provisions. The following special provision is added after the first paragraph.

"The dimnesions of the winery monument and portion of retaining wall to be removed are unknown. The Contractor shall be responsible for verifying the dimensions of the winery monument and retaining wall and bid accordingly."

Also, refer to Instructions to Bidders No. 9, Inspection of Site, on page A2 of the Special Provisions.

Item 14: Revision, Solar Powered Equestrian Crosswalk, Flashing Beacon System with Equestrian and Pedestrian Push Buttons. Refer to section "Order of Work" page 53-55 of the Special Provisions. Delete the fourth paragraph and replace with the following paragraph:

"Attention is directed to "Solar Powered Equestrian Crosswalk, Flashing Beacon System with Equestrian and Pedestrian Push Buttons" of these Special Provisions and Exhibit "A" attached to these Special Provisions for requirements of equestrian crossing during construction. The equestrian crossing shall be constructed at the start of construction concurrently with the roundabout construction."

Item 15: Revision, Local Access on the Northwest Approach of Anza Road. Refer to sub-section "Option 2" of section "Order of Work" page 53-55 of the Special Provisions. The following provisons are added after the first paragraph of subsection "Option 2" and made part hereof:

"A minimum of one lane shall be provided with flaggers during construction and two lanes when no construction is being performed."

Revision, Closure Requirements and Conditions. Refer to section "Closure Requirements and Conditions" page 58-60 of the Special Provisions. Delete the second paragraph and replace with the following paragraph:

PARTIAL CLOSURE SCHEDULE (NINE (9) CALENDAR DAY PARTIAL CLOSURE FOR RANCHO CALIFORNIA ROAD AND TWENTY-ONE (21) CALENDER DAYS FOR THE SOUTHEAST APPROACH OF ANZA ROAD FOR OPTION 1)

Item 17: Revision, Maintaining Traffic. Refer to section "Maintaining Traffic" page 61-64 of the Special Provisions. Delete the sixth paragraph and replace with the following paragraph:

Addendum No. 1 Rancho California Road at Anza Road Roundabout Project Project No. B9-0957 October 24, 2011 Page 14 of 16

"No full closures will be allowed on Rancho California Road and on Northwest leg of Anza Road for Option 1. For Option 2, no full closure will be allowed for the Northwest leg of Anza Road."

Item 18: Revision, Roadway Excavation. Refer to section "Roadway Excavation" page 94-95 of the Special Provisions. Delete the fifth paragraph and replace with the following paragraph:

"Grading existing shoulders and or swale to match natural drainage course as shown on the plans and as directed by Resident Engineer will be included in the unit bid price per cubic yard for roadway excavation and no additional compensation will be allowed therefor."

Item 19: Revision, Temporary Asphalt Concrete. Refer to section "Temporary Asphalt Concrete" page 140 of the Special Provisions. Delete the first paragraph and replace with the following paragraph:

"Contractor shall construct a temporary asphalt road at the locations requested by the Resident Engineer. The temporary asphalt road shall be composed of 0.30' hot mix asphalt (Type A) over 95% re-compacted native materials. The asphalt material shall conform to the "Hot Mix Asphalt (Type A) article on these special provisions. Contractor is advised to use as much as possible the existing road for the construction of the temporary road.

This addendum has been prepared under the direction of the following registered Civil Engineer:

10-24-11

DATE

ROADWAY	
---------	--

REGISTERED CIVIL ENGINEER

RACHEL S. PRICE

77191

CONTRACTOR OF CALIFORNIA

LANDSCAPE

MAN PUMPE 10/24/11
REGISTERED LANDSCAPE ARCHITECT BATE



MM:JRJ:jrj:rr

Form 11 Attachment

Contract/Lease/Purchase Summary Data

✓ Contract (for Approval/Research Approval/Rese	enewal ervices Contractor ow Bid	Multi-Equip	oval/Renewal Year Lease oment Property ge Order	Purchase (fo	ow Bid
			Selection Com	mittee Member Na	mes (RFP=s Only
User Department:	Transportation Depart	ment	N/A		
Vendor/Lessor Name:	Mamco, Inc.		Minority Status: ☐ M	W DV	None Non
Vendor/Lessor Location:	Riverside, CA		Local Preference	Applied: Yes	□ No ⊠ N/A
			Local Preference A (5% maximum prefe Local Preference F	erence)	# of Orders
Applicable Board I	Policy#	Com	nments:		
RFQ/RFP Process:	:	Bido	ling Process (<u>OPT</u>	ION 1 Selected f	or Award):
Date Mailed: Response Date # of Response: # of Qualified F	s:	Loca Resp	Range: I Bid Range: consive and consible Bid Range:	N/A	o \$2,151,074.50 o \$2,151,074.50
			: Selection of low bid dules, whether or no		
	Contra	act/Lease	Renewals Only		
<u>E</u>	xisting Agreement Items		Propos	sed Agreement Iter	<u>ns</u>
 Rates Terms Conditions Legal Issues Accountability 				-	
6. Utilities					

(continue on blank sheet if necessary)

NOTE: COMPETITIVELY BID PUBLIC WORKS CONTRACT

Advertised: October 04, 2011 (Agenda Item: 3.25) Addenda: 1 (10/24/2011) Bids Open: 2 pm Date: Tuesday, November 01, 2011

PROJECT No. B9-0957

PROJECT: Rancho California Road at Anza Road Roundabout Project

Dida Openi. 2 pm		NOILAG		_	COUNTY'S ESTIMATE	ESTIMATE	Mamco, Inc.	· · · · ·
ALTERNATE SCHEDULE 1A	CHEDULE 1A						Riverside, CA 92504	BID ESTIMATE
	1000	CONTRACT ITEM	UNITS	QUANTITY	UNIT PRICE	ENG ESTIMALE	BID UNIT PRICE	210000
EM NO.	EM CODE	Wataya logiyoo diiriga	ST	1	40,000.00	40,000.00	35,000.00	00.000,65
Ψ.	120100	TARTIC COUNTY OF STATE OF STAT	ų. V	9	1,500.00	00'000'6	2,000.00	12,000.00
7	066578	POR I ABELE CHANGEABLE MEGGAGE GIGES	v.	-	8,000.00	8,000.00	14,300.00	14,300.00
n	074020	WATER POLLUTION CONTROL	3 4	- +	00 000 8	8,000,00	18,500.00	18,500.00
4	170101	DEVELOP WATER SUPPLY	3 .		00 000 8	8,000.00		5,000.00
c)	066102	DUST ABATEMENT	3 :	- ,	00.000,0	00 000 50	47.200.00	47,200.00
9	160101	CLEARING AND GRUBBING	S	_	0,000,62	4		0000
	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)(WARPED WINGWALL)(CALTRANS	EA	-	7,000.00	7,000.00	5,200.00	5,200.00
)	STD D-86BJ	щ V	-	5,000.00	5,000.00	5,700.00	6,700.00
ω	510126	CLASS Z CONCRETE (MINOR STRUCTURE) (WINOR STRUCTURE) CONCRETE DROP IN ET (ROFO &	i	,	2 500 00	2.500.00	2,400.00	2,400.00
o	510126	(WCDS CB 110)	K H	-	0.000			2.800.00
10	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)[TRANSITION STRUCTURE NO.3]	EA	-	5,000.00			5 100 00
-	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)[PCC FOREBAY]	EA	-	5,000.00			00 00% 6
	510128	CLASS 2 CONCRETE (MINOR STRUCTURE) [CONCRETE COLLAR]	Ε̈́Α	÷	2,000.00			00.000.4
4 6	01010	CLASS 2 CONCRETE (MINOR STRUCTURE) [JUNCTION STRUCTURE]	EA	-	1,500.00	1,500.00	00.006,1	00.006,
2 :	0 0	CLASS 2 CONCRETE (MINOR STRUCTURE) [CATCH BASIN (COMBINATION	EA	-	4,000.00	4,000.00	4,000.00	4,000.00
14	21015	INLET) (CRS 301)]						000000
15	510126	CLASS 2 CONCRETE (MINOR STRUCTURE) [CATCH BASIN (CURB INLET) (CRS	Α̈́	_	3,500.00			
,	2.0	CLI ASS 2 CONCRETE (MINOR STRUCTURE) IMANHOLE (RCFC&WCDS MH 251)]	Ε̈́Α	ß	3,500,00	17,500.00	3,000.00	-
<u>o</u>	0700	CLASS 2 CONCRETE (MINOR STRUCTURE) [WINGWALL (TYPE D)][CALTRANS	я	4	4,000.00	16,000.00	1,800.00	7,200.00
17	510138	STD D85)	i i		0000	2 800 00	100.00	5,800.00
18	721007	ROCK SLOPE PROTECTION (1/4 TON, METHOD B)	δ	80	0,00			
19	729010	ROCK SLOPE PROTECTION FABRIC	SQFT	350	00.1	•	Š	
20	198021	IMPORTED ROCKY MATERIAL	ჯ 	e	0.00			
21	394002	PLACE ASPHALT CONCRETE (MISCELLANEOUS AREA)	SQFT	1,900	3.00	•		_
22	800300	CHAIN LINK FENCE (INCLUDING 14' DOUBLE DRIVE GATE)	<u>"</u>	620	18.00		-	
23	641107	18" PLASTIC PIPE [HDPE - TYPE S]	<u>"</u>	730	00.06			
24	641113	24" PLASTIC PIPE (HDPE - TYPE S)	느	867	55.00	47,863.00		
25	641119	30" PLASTIC PIPE [HDPE - TYPE S]	<u>5</u>	4	120.00			_
26	641125	36 PLASTIC PIPE (HDPE - TYPE S)	<u>"</u>	17	120.021		,	
27	000003 (F)	EXCAVATE BASIN TO GRADE, AND CONSTRUCT BERM INCLUDING EMBANKMENT	5	2,075	12.00		18.00	•
ç	(1) 101001	BOADWAY EXCAVATION	Շ	4,500	12.00			
87	(4)	PRECAST BEINEORDED CONCRETE BOX (3'X2')	느	116	325.00			
59	200000	TRECASE AGENCACE COCCOSE E	щ	253	350.00	98,550.00		86
30	000003	PRECAST REINFORCED CONCRETE BOX (4 AZ)	i ц	-	00'008	800.00	00'052	
31	705011	18" STEEL FLARED END SECTION	<u> </u>	230	15.00	3,450.00	14.00	e
32	013903	PLACE ASPHALT CONCRETE DIRE (CRS 212) (67)	ם נ		600.00		160.00	00.096
33	013902	ASPHALT CONCRETE OVERSIDE DRAIN (CRS 306)	<u> </u>	000	00.02	<u> </u>	30.00	119,700.00
34	260201	CLASS 2 AGGREGATE BASE	ءَ ۾	3,390	00.09			212,420.00
35	390102	ASPHALT CONCRETE (TYPE A)	<u></u>	7,7			00 00 8	42 000 00
36	000003	COLOR STAMPED PORTLAND CEMENT CONCRETE PAVEMENT FOR TRUCK ARBON (HIGH FARLY STRENGTH CONCRETE)	Շ	105	250.00	26,250.00		
		APRON (RIGH EATH CITIES OF THE STATE OF THE						

Advertised: October 04, 2011 (Agenda Item: 3.25) Addenda: 1 (10/24/2011) Bids Open: 2 pm Date: Tuesday, November 01, 2011

PROJECT: Rancho California Road at Anza Road Roundabout Project

PROJECT No. B9-0957

		OPTION 1			COUNTY'S ESTIMATE	ESTIMATE	Mamco, Inc.	
ALTERNATE SCHEDULE 1A	CHEDULE 1A						Riverside, CA 92504	1
ITEM NO.	ITEM CODE	CONTRACT ITEM	UNITS	QUANTITY	UNIT PRICE	ENG ESTIMATE	BID UNIT PRICE	BID ES I IMA I E
37	000003	MINOR CONCRETE (COLORED STAMPED CONCRETE SPLITTER ISLANDS)	SQFT	10,196	4.00	40,784.00	4.20	42,823.20
38	017304	MINOR CONCRETE (CURB AND GUTTER) (CRS 200)	片	3,550	14.00	49,700.00	15.00	53,250.00
38	731501	MINOR CONCRETE (CURB) [TYPE A1-6, CALTRANS STD A87A]	片	2,530	14.00	35,420.00	12.00	30,360.00
40	731501	MINOR CONCRETE (CURB) [TYPE A3-6, CALTRANS STD A87A]	느	300	14,00	4,200.00	15.00	4,500.00
. 14	017307	MINOR CONCRETE (TYPE C CURB) (CRS 202)	<u>"</u>	230	14.00	3,220.00	14.50	3,335.00
. 42	000003	MINOR CONCRETE CURB TRANSITION (CRS 212)	<u>"</u>	140	16.00	2,240.00	16.00	2,240.00
. 4 i E	731623	MINOR CONCRETE (CURB RAMP) [CASE A WITH SIDEWALK APPROACH]	EA	-	1,500.00	1,500.00		2,000.00
44	731623	MINOR CONCRETE (CURB RAMP) [CASE C WITH SIDEWALK APPROACH]	EA		1,500.00	1,500.00		1,750.00
. 45	731623	MINOR CONCRETE (CURB RAMP) [CASE F-18 WITH SIDEWALK APPROACH]	Æ	9	2,000.00	12,000.00		10,500.00
94	000003	MINOR CONCRETE (SPLITTER ISLAND RAMP)	EA	4	2,000.00	8,000.00	2,000.00	8,000.00
47	00000	MINOR CONCRETE (BIKE RAMP IINCLUDING SPILL GUTTER)	EA	ဖ	750.00	4,500.00		3,600.00
. 48	000003	MINOR CONCRETE (CONCRETE RAMP INCLUDING SPILL GUTTER)	ΕA	2	1,000.00	2,000.00	800.00	1,600.00
94	840504	4" THERMOPLASTIC TRAFFIC STRIPE	5	5,310	0.70	3,717.00		2,655.00
50	840505	6" THERMOPLASTIC TRAFFIC STRIPE	5	2,770	0.80	2,216,00	0.72	1,994.40
51	840506	8" THERMOPLASTIC TRAFFIC STRIPE	느	160	0.10	16.00		224.00
52	000003	6" THERMOPLASTIC TRAFFIC STRIPE (BROKEN 8FT-4FT)	귀	200	08'0	160.00		120.00
53	000003	8" THERMOPLASTIC TRAFFIC STRIPE (BROKEN 4FT-2FT)	ñ	110	1.10	121.00		148.50
54	840519	THERMOPLASTIC CROSSWALK AND PAVEMENT MARKING	SQFT	815	4.75	3,871.25		3,830.50
55	850102	PAVEMENT MARKER (REFLECTIVE)	m A	200	4.50	00.006		840.00
56	000003	TEMPORARY ASPHALT CONCRETE	NOT	300	65.00	19,500.00	87.00	26,100.00
57	566011	ROADSIDE SIGN - ONE POST	E A	55	150.00	8,250.00		13,750.00
58	000003	LANDSCAPE LIGHTING SYSTEM	rs	-	7,500.00	7,500.00	_	15,000,00
59	000000	STREET LIGHTING SYSTEM	rs	-	8,000.00	8,000.00	9,500.00	9,500.00
09	000003	GROUND PREPARATION [INCLUDING: FINE GRADING, SOIL PREPARATION (AMENDMENTS, FERTILIZERS, & WEED PREP.), MULCHING (RECYCLED ORGANIC) 3" THICK LAYER, AND TOPSOIL IMPORT- UP TO 2")	SQFT	6,362	0.80	5,089.60	2.20	13,996,40
61	000003	48" BOX TREES [INCLUDING; GUYING, 4" PERF. PVC TREE DRAIN TUBES WUDRAIN CAP, ROOT BARRIERS]	ВA	ო	1,000.00	3,000.00	1,900.00	5,700,00
62	000000	1 GALLON SHRUBS / GROUNDCOVER	EA	69	8.00	472.00	11.00	649.00
63	000003	5 GALLON SHRUBS / GROUNDCOVER	EA	337	8.00	2,696.00	T-	39,429.00
. 49	000003	BOWSMITH SL200SERIES EMITTER W/ SALCO SLV-PVD-ACLXX FLEX RISER	БA	396	11.00	4		3,960.00
65	000000	HUNTER RZWS-36-50-CV DEEP TUBE BUBBLER	EA	ဖ	106.00			462.00
99	000003	HUNTER IC-3600-M 36 STATION CONTROLLER	EA	-	1,000.00	+	<u>-</u>	1,450.00
67	000003	NIBCO T-113-K GATE VALVE - 2" / FITTINGS	EA	-	194.00			265.00
68	00000	TRUE UNION BALL VALVE AT ECV - 2"	EA	2	80.00			400.00
69	00000	ELECTRIC CONTROL VALVE W/ PRESSREG/FITTINGS - 1"	Æ	-	200.00			255.00
70	000003	DRIP VALVE ASSEMBLY - BALL VALVE, AC SOLENOID, FILTER, FITTINGS	Ā	2	250.00			00.009
7.1	000003	QUICK COUPLING VALVE	E	-	120.00			280.00
72	000003	MANUAL FLUSH VALVE ASSEMBLY	ΕĄ	80	15.00	·	9	520.00
73	000003	NON- PRESSURE LATERAL LINE- SCH 40 - 3/4"	<u>"</u>	783	1.10			4,149.90
74	000003	PRESSURE SUPPLY LINE - SCH 40 - 2"	<u>"</u>	461	8.00	e e		3,688.00
75	000003	GREEN PLASTIC STANDARD 10" ROUND VALVE BOX W/ SUMP/FILTER FAB.	EA	13	50.00	650.00	25.00	00.617

Rancho. Calif. Roundabout. Rebid: Summary Web Updated: 11/02/11

Advertised: October 04, 2011 (Agenda Item: 3.25) Addenda: 1 (10/24/2011) Bids Open: 2 pm Date: Tuesday, November 01, 2011

PROJECT: Rancho California Road at Anza Road Roundabout Project

PROJECT No. B9-0957

		OPTION 1			COUNTY'S	COUNTY'S ESTIMATE	Mamco, Inc.	
ALTERNATE	LTERNATE SCHEDULE 1A						Riverside, CA 92504	
ITEM NO.	ITEM NO. ITEM CODE	CONTRACT ITEM	STINO	QUANTITY	UNIT PRICE	ENG ESTIMATE	BID UNIT PRICE	BID ESTIMATE
76	000000	GREEN PLASTIC STANDARD RECTILINEAR VALVE BOX W/ SUMP/FILTER FAB.	EA	8	75.00	225.00	00'06	270.00
77	000003	PVC SLEEVING - SCH40 - 2"	4	160	5.00	800.00	7.25	1,160.00
78	000003	PVC SLEEVING - SCH40 - 4"	5	200	7.50	1,500.00	12.00	2,400.00
79	000003	PVC SCH 40 CONDUIT - 1 1/2"	5	200	8.00	1,600.00	7.00	1,400.00
80	000003	14 GUAGE DIRECT BURIAL WIRE	느	14,544	0.30	4,363.20	0.45	6,544.80
81	000000	90 DAY MAINTENANCE PERIOD	rs	-	900.00	900.00	2,000.00	2,000.00
82	000000	MISCELLANEOUS DIRECTED WORK	A.	1	100,000.00	100,000.00	100,000.00	100,000.00
		ALTERNATE SCHEDULE 1A SUBTOTAL						
		ITEMS 1-82				1,138,411.35		1,449,849.70

ALTERNATE	: 1B - RANCHO CA	ALTERNATE 1B - RANCHO CALIFORNÍA WATER DISTRICT						
ITEM NO.	ITEM NO. ITEM CODE	CONTRACT ITEM	UNITS	UNITS QUANTITY	UNIT PRICE	ENG ESTIMATE	BID UNIT PRICE	BID ESTIMATE
83	000003	REMOVE AND RECONSTRUCT FIRE HYDRANT ASSEMBLY	EA	4	5,000.00	20,000.00	4,700.00	18,800.00
84	000003	RELOCATE CP TEST STATION	EA	-	300.00	300.00	1,200.00	1,200.00
85	000003	REMOVE AND RECONSTRUCT WATER QUALITY SAMPLE STATION ASSEMBLY	EA	-	2,000.00	2,000.00	2,000.00	2,000.00
86	000003	RECONSTRUCT AND RAISE VALVE RISER AND CAP ASSEMBLY TO GRADE	EA	7	00.009	4,200.00	350.00	2,450.00
		ALTERNATE SCHEDULE 1B SUBTOTAL						
3 - 14 <u></u>		ITEMS 83-86				26,500.00		24,450.00
-								

ALTERNATE 1C - RANCHO CALIFORNIA WATER DISTRICT

87 000003 FURNISH AND INSTALL BOX CULVERT LINING LF 226 150.00 ALTERNATE SCHEDULE 1C SUBTOTAL ITEM 87	NILS	QUANTITY	UNIT PRICE	ENG ESTIMATE	BID UNIT PRICE	BID ESTIMATE
ALTERNATE SCHEDULE 1C SUBTOTAL	4.1	226	150.00	33,900.00	125.00	28,250.00
ITEM 87	7					
				33,900.00		28,250.00

ALTERNATE 1D - RANCHO CALIFORNIA WATER DISTRICT

ITEM NO.	ITEM NO. ITEM CODE	CONTRACT ITEM	STINO	QUANTITY	UNIT PRICE	ENG ESTIMATE	BID UNIT PRICE	BID ESTIMATE
88	000003	000003 FURNISH AND INSTALL MANHOLE / CATCH BASIN LINING	SOFT	722	10.00	7,220.00	12.00	8,664.00
		ALTERNATE SCHEDULE 1D SUBTOTAL						
		1TEM 88				7,220.00		8,664.00

ALTERNATE 1E - RANCHO CALIFORNIA WATER DISTRICT

75.55	() () () () () () () ()	ALIENMAIE IE - NAMONIO CAEN OMINIO MOLEM DISTINO						
ITEM NO.	ITEM NO. ITEM CODE	CONTRACT ITEM	STINO	QUANTITY	UNIT PRICE	ENG ESTIMATE	BID UNIT PRICE	BID ESTIMATE
89	000003	000003 FURNISH AND INSTALL BOX CULVERT OUTSIDE LINING	占	171	150.00	25,650.00	130.00	22,230.00
		ALTERNATE SCHEDULE 1E SUBTOTAL						
		ITEM 89			-	25,650.00		22,230.00

PROJECT: Rancho California Road at Anza Road Roundabout Project

PROJECT No. B9-0957

Advertised: October 04, 2011 (Agenda Item: 3.25) Addenda: 1 (10/24/2011) Bids Open: 2 pm Date: Tuesday, November 01, 2011

Riverside, CA 92504 BID UNIT PRICE 1,350,00 1,450.00 Mamco, Inc. 7,600.00 3,600.00 11,200.00 ENG ESTIMATE COUNTY'S ESTIMATE 3,800.00 1,800.00 UNIT PRICE UNITS QUANTITY 0 ЕА Ε̈́Α SOLAR POWERED PEDESTRIAN CROSSWALK FLASHING BEACON SYSTEM WITH EQUESTRIAN AND PEDESTRIAN PUSH BUTTONS ALTERNATE SCHEDULE 1F - RCP&OSD (EQUESTRIAN CROSSWALK PER EXHIBIT A) ALTERNATE SCHEDULE 1F SUBTOTAL CONTRACT ITEM OPTION 1 TYPE 1-A STANDARD (14" ALUMINUM) **ITEMS 90-91** 000003 000000 ITEM CODE ITEM NO. 8 91

2,900.00

2,700.00

BID ESTIMATE

5,600.00

TEM NO TEM CODE	HOO WHILL ON WHILE	CONTRACTITEM	SLIND	UNITS QUANTITY	UNIT PRICE	ENG ESTIMATE	BID UNIT PRICE	BID ESTIMATE
LEWING.						0000	00 07 7	00 000 0
92	000003	FURNISH AND INSTALL BOX CULVERT OUTSIDE LINING	<u>ا</u>	45	100.00	4,500.00	140.00	00.000.0
6	200000	FURNISH AND INSTALL MANHOLE/ CATCH BASIN OUTSIDE LINING	Ш	2	300.00	00'009	3,000.00	6,000.00
8			í	Ş	00 000	00 000 6	435 00	4 350.00
94	000003	FURNISH AND INSTALL OUTSIDE LINING [HUPE PIPE JOINTS]	Z II	0.	00.007	25,000,2	00:001	
		ALTERNATE SCHEDULE 1G SUBTOTAL						
		ITEMS 92-94				7,100.00		16,650.00

1	1,555,693.70
	31.35
-	1,249,98
OPTION 1 (ALTERNATE SCHEDULES 1A IHROUGH 1G)	
OPTION 1 (ALTE	ITEMS 1 - 94

Advertised: October 04, 2011 (Agenda Item: 3.25) Addenda: 1 (10/24/2011) Bids Open: 2 pm Date: Tuesday, November 01, 2011

PROJECT: Rancho California Road at Anza Road Roundabout Project

PROJECT No. B9-0957

		C NOTEGO			HTAMITS S'YTNIIOO	FSTIMATE	Mamco Inc.	
ALTERNATE SCHEDULE 2A	CHEDULE 2A	1					Riverside, CA 92504	
ITEM NO.	ITEM CODE	CONTRACT ITEM	SLINO	QUANTITY	UNIT PRICE	ENG ESTIMATE	BID UNIT PRICE	BID ESTIMATE
S	120100	TRAFFIC CONTROL SYSTEM	ST	-	30,000,00	30,000.00	9,000.00	00.000,6
96	066578	PORTABLE CHANGEABLE MESSAGE SIGNS	æ	ဖ	1,000.00	6,000.00		12,000.00
97	074020	WATER POLLUTION CONTROL	ST	-	5,000.00	5,000.00	12,500.00	12,500.00
86	170101	DEVELOP WATER SUPPLY	ST	\-	4,000.00			15,000,00
66	066102	DUST ABATEMENT	S	_	4,000.00			4,500.00
100	160101	CLEARING AND GRUBBING	rs		25,000,00	25,000.00	35,000.00	35,000.00
101	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)(WARPED WINGWALL)(CALTRANS STD D-86B)	EA	-	4,000.00	4,000.00	5,200.00	5,200.00
102	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)[WINGWALL][CALTRANS STD D-90]	EA	-	3,500.00	3,500.00	5,700.00	5,700.00
103	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)CONCRETE DROP INLET (RCFC & WCDS CB 110)	EA		2,500.00	2,500.00	2,400.00	2,400.00
104	510126	CLASS 2 CONCRETE (MINOR STRUCTURE) (TRANSITION STRUCTURE NO.3)	EA	-	3,000.00	3,000.00		2,800.00
105	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)[PCC FOREBAY]	EA	-	3,000.00			
106	510126	CLASS 2 CONCRETE (MINOR STRUCTURE) [CONCRETE COLLAR]	EA	•	1,500.00			
107	000003	CLASS 2 CONCRETE (MINOR STRUCTURE) [JUNCTION STRUCTURE]	EA		1,500.00	1,500.00	1,500.00	1,500.00
108	510126	CLASS 2 CONCRETE (MINOR STRUCTURE) [CATCH BASIN (COMBINATION INLET) (CRS 301)]	EA	-	3,000.00	3,000.00	4,000.00	4,000.00
109	510126	CLASS 2 CONCRETE (MINOR STRUCTURE) [CATCH BASIN (CURB INLET) (CRS 300)]	ЕĀ		2,000.00	14,000.00		
110	510126	CLASS 2 CONCRETE (MINOR STRUCTURE) [MANHOLE (RCFC&WCDS MH 251)]	EA	Ω	2,500.00	12,500.00	3,000.00	15,000.00
1	510138	CLASS 2 CONCRETE (MINOR STRUCTURE) [WINGWALL (TYPE D)][CALTRANS STD D85]	EA	4	1,500.00	6,000.00	1,800.00	
112	721007	ROCK SLOPE PROTECTION (1/4 TON, METHOD B)	Շ	58	90.00	5,220.00	5	5,800.00
113	729010	ROCK SLOPE PROTECTION FABRIC	SQFT	350	1.00			1,050.00
114	198021	IMPORTED ROCKY MATERIAL	Շ	е .	300.00		36	1,650.00
115	394002	PLACE ASPHALT CONCRETE (MISCELLANEOUS AREA)	SQFT	1,900	2.00			
116	800300	CHAIN LINK FENCE [INCLUDING 14' DOUBLE DRIVE GATE]	뜨	620	15.00			
117	641107	18" PLASTIC PIPE (HDPE - TYPE S)	<u>"</u>	730	35.00			
118	641113	24" PLASTIC PIPE [HDPE - TYPE S]	느	867	40.00	34		n
119	641119	30" PLASTIC PIPE [HDPE - TYPE S]	<u>"</u>	4	75.00			
120	641125	36 PLASTIC PIPE [HDPE - TYPE S]	<u>"</u>	17	75.00	1,275.00	120.00	2,040,00
121	000003 (F)	EXCAVATE BASIN TO GRADE, AND CONSTRUCT BERM INCLUDING EMBANKMENT	₽	2,075	8.00	-		
122	190101 (F)	ROADWAY EXCAVATION	Շ	4,500	00.6			
123	000003	PRECAST REINFORCED CONCRETE BOX (3'X2')	5	116	250.00			
124	000003	PRECAST REINFORCED CONCRETE BOX (4'X2')	<u>"</u>	253	300.00	75		91
125	705011	18" STEEL FLARED END SECTION	EA	-	800.00			
126	013903	PLACE ASPHALT CONCRETE DIKE (CRS 212) (6")	ᄔ	230	8.00			n
127	013902	ASPHALT CONCRETE OVERSIDE DRAIN (CRS 306)	ЕA	9	400.00			
128	260201	CLASS 2 AGGREGATE BASE	ბ	3,990	19.00			
129	390102	ASPHALT CONCRETE (TYPE A)	NOT	2,795	55.00	153,725.00	0 75.00	209,625.00
130	000003	COLOR STAMPED PORTLAND CEMENT CONCRETE PAVEMENT FOR TRUCK	ζ	105	200.00	21,000.00	380.00	39,900.00
				A				

Rancho, Calif. Roundabout. Rebid: Summary Web Updated: 11/02/11

Advertised: October 04, 2011 (Agenda Item: 3.25) Addenda: 1 (10/24/2011) Bids Open: 2 pm Date: Tuesday, November 01, 2011

PROJECT: Rancho California Road at Anza Road Roundabout Project

PROJECT No. B9-0957

1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2								
		c NOIFIGO			COUNTY'S ESTIMATE	ESTIMATE	Mamco, Inc.	
AI TERNATE	ALTERNATE SCHEDULE 2A	1 200					Riverside, CA 92504	
CN MH	ITEM CODE	CONTRACTITEM	UNITS	QUANTITY	UNIT PRICE	ENG ESTIMATE	BID UNIT PRICE	BID ESTIMATE
131	000003	MINOR CONCRETE (COLORED STAMPED CONCRETE SPLITTER ISLANDS)	SQFT	10,196	3.00	30,588.00	4.10	41,803.60
132	017304	MINOR CONCRETE (CURB AND GUTTER) (CRS 200)	Ч	3,550	10.00	35,500.00	14.50	51,475,00
133	731501	MINOR CONCRETE (CURB) [TYPE A1-6, CALTRANS STD A87A]	5	2,530	10.00	25,300.00		29,095.00
134	731501	MINOR CONCRETE (CURB) [TYPE A3-6, CALTRANS STD A87A]	느	300	10.00	3,000.00		4,350.00
135	017307	MINOR CONCRETE (TYPE C CURB) (CRS 202)	H.	230	10.00	2,300.00		3,220.00
136	000003	MINOR CONCRETE CURB TRANSITION (CRS 212)	R.	140	10.00	1,400.00		2,170.00
137	731623	MINOR CONCRETE (CURB RAMP) [CASE A WITH SIDEWALK APPROACH]	EA	-	1,500.00	1,500.00	-	1,800.00
138	731623	MINOR CONCRETE (CURB RAMP) [CASE C WITH SIDEWALK APPROACH]	¥	-	1,500.00	1,500.00		1,650.00
139	731623	MINOR CONCRETE (CURB RAMP) [CASE F-1a WITH SIDEWALK APPROACH]	Æ	9	1,500.00	9,000.00		00.006,6
140	000003	MINOR CONCRETE (SPLITTER ISLAND RAMP)	E	4	1,500.00	6,000.00	-	7,200.00
141	000003	MINOR CONCRETE (BIKE RAMP IINCLUDING SPILL GUTTER)	EA	ဖ	200.00	3,000.00		2,700.00
142	000003	MINOR CONCRETE (CONCRETE RAMP INCLUDING SPILL GUTTER)	EA	7	750.00	1,500.00	00.007	1,400.00
143	840504	4" THERMOPLASTIC TRAFFIC STRIPE	5	5,310	0.70	3,717.00	0.50	2,655.00
144	840505	6" THERMOPLASTIC TRAFFIC STRIPE	Ļ	2,770	08'0	2,216.00	0.72	1,994.40
145	840506	8" THERMOPLASTIC TRAFFIC STRIPE	7	160	1.10	176.00	1.40	224.00
2 4	00000	6" THERMOPLASTIC TRAFFIC STRIPE (BROKEN BFT-4FT)	5	200	0.80	160.00	09:0	120,00
741	000003	8" THERMOPLASTIC TRAFFIC STRIPE (BROKEN 4FT-2FT)	<u>"</u>	110	1.10	121.00	1.35	148.50
7	840519	THERMODI ASTIC CROSSWALK AND PAVEMENT MARKING	SQFT	815	4.75	3,871.25	5 4.70	3,830.50
2 4	850102		E	200	4.00	800.00	07.4	840.00
	2000 A	TSCG ANO. NOIS AGISCACO	ΕĐ	55	150.00	8,250.00	250.00	13,750.00
000	110000	METRYS GNITHEL HAD CROWN		-	7,000.00	7,000.00	00.000.00	16,000.00
	200000	STREET LIGHTING SYSTEM	ST	-	2,000.00	7,000.00	11,000.00	11,000.00
70 4		GROUND PREPARATION (INCLUDING: FINE GRADING, SOIL PREPARATION (AMENDMENTS FERTILIZES, & WEED PREP.) MULCHING (RECYCLED	SOFT	6,362	0.80	5,089.60	0 2.20	13,996.40
<u> </u>	2000	ORGANIC) 3" THICK LAYER, AND TOPSOIL IMPORT- UP TO 2"]						
154	000003	48" BOX TREES (INCLUDING: GUYING, 4" PERF. PVC TREE DRAIN TUBES WIDRAIN CAP, ROOT BARRIERS)	ЕA	က	1,250.00	3,750.00	0 1,900.00	5,700.00
155	000003	1 GALLON SHRUBS / GROUNDCOVER	БA	59	8.00	472.00		
156	000003	5 GALLON SHRUBS / GROUNDCOVER	EA	337	8.00	2,696.00		ຕ
157	000003	BOWSMITH SL200SERIES EMITTER W/ SALCO SLV-PVD-ACLXX FLEX RISER	Ш¥	396	11.00	4,356.00		ဇ
158	000003	HUNTER RZWS-36-50-CV DEEP TUBE BUBBLER	Ш	9	106.00	636.00		
159	000003	HUNTER IC-3600-M 36 STATION CONTROLLER	EA	-	1,000.00	1,000.00	_	٠
160	000003	NIBCO T-113-K GATE VALVE - 2" / FITTINGS	Ē	-	194.00	194.00		
161	000003	TRUE UNION BALL VALVE AT ECV - 2"	Ë	7	80.00	160.00		
162	000003	ELECTRIC CONTROL VALVE W/ PRESSREG/FITTINGS - 1"	EA	~	200.00			
163	000003	DRIP VALVE ASSEMBLY - BALL VALVE, AC SOLENOID, FILTER, FITTINGS	EA	7	250.00			
164	000003	QUICK COUPLING VALVE	EA	<u>_</u>	120.00			
165	000003	MANUAL FLUSH VALVE ASSEMBLY	Ë	80	15.00		v	
166	000003	NON- PRESSURE LATERAL LINE- SCH 40 - 3/4"	L	783	1.10			-
167	000003	PRESSURE SUPPLY LINE - SCH 40 - 2"	5	461	8.00	eri		e
168	000003	GREEN PLASTIC STANDARD 10" ROUND VALVE BOX W/ SUMP/FILTER FAB.	EA	13	50.00	650.00	10 55.00	715.00

Advertised: October 04, 2011 (Agenda Item: 3.25) Addenda: 1 (10/24/2011) Bids Open: 2 pm Date: Tuesday, November 01, 2011

PROJECT: Rancho California Road at Anza Road Roundabout Project

PROJECT No. B9-0957

		OPTION 2			COUNTY'S ESTIMATE	ESTIMATE	Mamco, Inc.	
ALTERNATE	ALTERNATE SCHEDULE 2A						Riverside, CA 92504	4
ITEM NO.	ITEM NO. ITEM CODE	CONTRACT ITEM	STINO	QUANTITY	UNIT PRICE	ENG ESTIMATE	BID UNIT PRICE	BID ESTIMATE
169	000003	GREEN PLASTIC STANDARD RECTILINEAR VALVE BOX W/ SUMP/FILTER FAB.	EA	3	75.00	225.00	90.00	270.00
170	000003	PVC SLEEVING - SCH40 - 2"	<u>"</u>	160	2.00	800.00	7.25	1,160.00
171	000003	PVC SLEEVING - SCH40 - 4"	5	200	7.43	1,485.88	12.00	2,400.00
172	000003	PVC SCH 40 CONDUIT - 1 1/2"	5	200	7.72	1,543,08	7.00	1,400.00
173	000003	14 GUAGE DIRECT BURIAL WIRE	ጛ	14,544	0.29	4,145.04	0.45	6,544.80
174	000003	90 DAY MAINTENANCE PERIOD	S	-	900.00	900.00	2,000.00	2,000.00
175	000003	MISCELLANEOUS DIRECTED WORK	FA	-	100,000.00	100,000.00	100,000,000	100,000,00
		ALTERNATE SCHEDULE 2A SUBTOTAL						-
		ITEMS 95-175				914,941.15		1,342,901.10

ALTERNATE	E 2B - RANCHO CA	ALTERNATE 2B - RANCHO CALIFORNIA WATER DISTRICT						
TEM NO.	ITEM NO. ITEM CODE	CONTRACT ITEM	UNITS	UNITS QUANTITY	UNIT PRICE	ENG ESTIMATE	BID UNIT PRICE	BID ESTIMATE
176	000003	REMOVE AND RECONSTRUCT FIRE HYDRANT ASSEMBLY	EA	4	4,000.00	16,000.00	4,550.00	18,200,00
177	000003	RELOCATE CP TEST STATION	EA	₹	300.00	300.00	115.00	115.00
178	000003	REMOVE AND RECONSTRUCT WATER QUALITY SAMPLE STATION ASSEMBLY	Ë	.	1,500.00	1,500.00	1,900.00	1,900.00
179	000003	RECONSTRUCT AND RAISE VALVE RISER AND CAP ASSEMBLY TO GRADE	ĘĄ	7	00.009	4,200.00	330.00	2,310.00
		ALTERNATE SCHEDULE 2B SUBTOTAL						
		ITEMS 176-179				22,000.00		22,525.00

ALTERNATE 2C - RANCHO CALIFORNIA WATER DISTRICT

TEM NO.	ITEM NO. ITEM CODE	CONTRACT ITEM	SLINO	QUANTITY	UNIT PRICE	ENG ESTIMATE	BID UNIT PRICE	BID ESTIMATE
180	000003	000003 FURNISH AND INSTALL BOX CULVERT LINING	7	226	125.00	28,250.00	125.00	28,250.00
		ALTERNATE SCHEDULE 2C SUBTOTAL						
		ITEM 180				28,250.00		28,250.00

ALTERNATE 2D - RANCHO CALIFORNIA WATER DISTRICT

								Literate City
ITEM NO. ITEM CC	ITEM NO. ITEM CODE	CONTRACT ITEM	SLINO	QUANTITY	UNIT PRICE	ENG ESTIMATE	BID UNIT PRICE	BID ES I IMA I E
181	000003	FURNISH AND INSTALL MANHOLE / CATCH BASIN LINING	SQFT	722	7.50	5,415.00	12.00	8,664.00
		ALTERNATE SCHEDULE 2D SUBTOTAL						
		ITEM 181				5,415.00		8,664.00

ALTERNATE 2E - RANCHO CALIFORNIA WATER DISTRICT

ITEM NO. ITEM	ITEM NO. ITEM CODE	CONTRACT ITEM	UNITS	QUANTITY	UNIT PRICE	ENG ESTIMATE	BID UNIT PRICE	BID ESTIMATE
182	000003	FURNISH AND INSTALL BOX C	5	171	100.00	17,100.00	130.00	22,230.00
		ALTERNATE SCHEDULE 2E SUBTOTAL						
		ITEM 182				17,100.00		22,230.00

Advertised: October 04, 2011 (Agenda Item: 3.25) Addenda: 1 (10/24/2011) Bids Open: 2 pm Date: Tuesday, November 01, 2011

PROJECT: Rancho California Road at Anza Road Roundabout Project

PROJECT No. B9-0957

		OPTION 2			COUNTY'S ESTIMATE		Mamco, Inc.	
ALTERNATE	SCHEDULE 2F - F	ALTERNATE SCHEDULE 2F - RCP&OSD (EQUESTRIAN CROSSWALK PER EXHIBIT A)					Riverside, CA 92504	- 1
ITEM NO.	ITEM NO. ITEM CODE	CONTRACT ITEM	UNITS	UNITS QUANTITY	UNIT PRICE	ENG ESTIMATE	BID UNIT PRICE	BID ESTIMATE
183	000003	SOLAR POWERED PEDESTRIAN CROSSWALK FLASHING BEACON SYSTEM WITH EQUESTRIAN AND PEDESTRIAN PUSH BUTTONS	EA	2	2,500.00	5,000.00	1,750.00	3,500.00
184	000003	TYPE 1-A STANDARD (14" ALUMINUM)	EA	2	1,000.00	2,000.00	1,650.00	3,300.00
		ALTERNATE SCHEDULE 2F SUBTOTAL						
		ITEMS 183-184				7,000.00		6,800.00

ALTERNATE 2G - METROPOLITAN WATER DISTRICT

11 EM NO. 11 EM CODE 185 000003		MUH HOYOHAOO	OHIVE			TANTANT	2002	
185	M CODE	CONTRACTUEN	2		1000			
	00000	FURNISH AND INSTALL BOX CULVERT OUTSIDE LINING	5	45	75.00	3,375.00	140.00	6,300.00
186	00000	FURNISH AND INSTALL MANHOLE/ CATCH BASIN OUTSIDE LINING	EA	2	200.00	400.00	3,000.00	00'000'9
187	000003		ΕA	10	150.00	1,500.00	435.00	4,350.00
		ALTERNATE SCHEDULE 2G SUBTOTAL						
		[TEMS 185-187				5,275.00		16,650.00
		OPTION 2 (ALTERNATE SCHEDULES 2A THROUGH 2G)						
		ITEMS 95-187				999,981.15		1,448,020.10

		3,003,713.80	
	-	2,249,962.50	
(IATOT 6 MOITGO + IATOT MOITGO) IATOT TOTI CAR	TROUBLE (OF 100 AL + OT 100 AL + OT 101 AL	11 1 1 2 1 2 1 2 1 2 1 2 1 2 1 2 1 2 1	

ment	
P=38	
2.	
10.3	
P-3	
R - 38	
S 8	
k salii	
B	
اللبناة	-
K-X	****
la ∵rai	
	82 SS
-	
Sec. 6	****
£ ****	
7.8	
N-6	
Hww 18	*****
2::3	*****
	-
to water	
- 3	2820
K*2	2000
8-7-3	
医分類	
S	
BLL H	
B	
Control of the	mw
	380
2	17.5
100	***
	
8.38	-
See 8	22 2
B-::#	enandii
10.0	
ra e	
-	
9776	
	E and
K . 1	
	Er. B
27.9	
なべ着	S
1	2::: 2
	E
P-28	·
	<u> </u>
14.4	7.
Second 1	1

Advertised: October 04, 2011 (Agenda Item: 3.25) Addenda: 1 (10/24/2011) Bids Open: 2 pm Date: Tuesday, November 01, 2011

PROJECT: Rancho California Road at Anza Road Roundabout Project

PROJECT No. B9-0957

					7		د	
		OPTION 1			Palp. Inc. DBA Excel Paving Co	I Paving Co	Granite Construction Co.	. Co.
ALTERNATE	ALTERNATE SCHEDULE 1A				Long Beach, CA 90806	806	Vista, CA 92081	
ITEM NO.	ITEM CODE	CONTRACT ITEM	UNITS	QUANTITY	BID UNIT PRICE	BID ESTIMATE	BID UNIT PRICE	BID ESTIMATE
-	120100	TRAFFIC CONTROL SYSTEM	ST	1	130,000.00	130,000.00	111,126.20	111,126.20
7	066578	PORTABLE CHANGEABLE MESSAGE SIGNS	EA	9	4,000.00	24,000.00	2,400.00	14,400.00
ო	074020	WATER POLLUTION CONTROL	S7	τ-	24,000.00	24,000.00	10,000.00	10,000.00
4	170101	DEVELOP WATER SUPPLY	rs	-	4,500.00	4,500.00	8,000.00	8,000.00
ç.	066102	DUST ABATEMENT	SJ	_	7,300.00	7,300.00	8,000.00	8,000,00
9	160101	CLEARING AND GRUBBING	rs	-	80,000,00	80,000.00	25,000.00	25,000.00
7	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)[WARPED WINGWALL][CALTRANS STD D-868]	EA		19,580.00	19,580.00	10,000.00	10,000.00
ω	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)[WINGWALL][CALTRANS STD D-90]	EA	τ-	16,120.00	16,120.00	00'000'6	00:000'6
б	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)CONCRETE DROP INLET (RCFC & WODS CB 110)	EA	₹-	5,910.00	5,910.00	2,600.00	2,600.00
10	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)[TRANSITION STRUCTURE NO.3]	EA	←	6,280.00	6,280.00	9,700.00	9,700.00
11	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)[PCC FOREBAY]	EA	-	6,160.00	6,160.00	7,700.00	7,700.00
12	510126	CLASS 2 CONCRETE (MINOR STRUCTURE) [CONCRETE COLLAR]	Ē	-	1,220.00	1,220.00	00'006'2	7,300.00
13	000003	CLASS 2 CONCRETE (MINOR STRUCTURE) [JUNCTION STRUCTURE]	ЕA	-	3,900.00	3,900.00	3,800.00	3,800.00
4	510126	CLASS 2 CONCRETE (MINOR STRUCTURE) [CATCH BASIN (COMBINATION INLET) (CRS 301)]	EA	₹-	4,570.00	4,570.00	8,000.00	8,000.00
ئ.	510126	CLASS 2 CONCRETE (MINOR STRUCTURE) [CATCH BASIN (CURB INLET) (CRS 300)]	Ę	2	4,610.00	32,270.00	5,900.00	41,300.00
91	510126	CLASS 2 CONCRETE (MINOR STRUCTURE) [MANHOLE (RCFC&WCDS MH 251)]	EA	ß	00'000'9	30,000.00	4,200.00	21,000.00
17	510138	CLASS 2 CONCRETE (MINOR STRUCTURE) [WINGWALL (TYPE D)][CALTRANS STD 085]	ΕĀ	4	6,080.00	24,320.00	4,200.00	16,800.00
18	721007	ROCK SLOPE PROTECTION (1/4 TON, METHOD B)	Շ	28	175.00	10,150.00	95.00	5,510.00
19	729010	ROCK SLOPE PROTECTION FABRIC	SQFT	350	2.00	700.00		350.00
20	198021	IMPORTED ROCKY MATERIAL	Շ	က	370.00	1,110.00)č	900.006
21	394002	PLACE ASPHALT CONCRETE (MISCELLANEOUS AREA)	SQFT	1,900	2.00	3,800.00		2,850.00
22	800300	CHAIN LINK FENCE [INCLUDING 14' DOUBLE DRIVE GATE]	느	620	22.00	13,640.00		11,160.00
23	641107	18" PLASTIC PIPE [HDPE - TYPE S]	<u>"</u>	730	88.00	64,240.00	118.00	86,140.00
24	641113	24" PLASTIC PIPE (HDPE - TYPE S)	<u>"</u>	867	97.00	84,099.00	131.00	113,577.00
25	641119	30" PLASTIC PIPE [HDPE - TYPE S]	<u>"</u>	4	334.00	1,336.00	245.00	00.086
56	641125	36 PLASTIC PIPE [HDPE - TYPE S]	느	4	226.00	3,842.00	160,00	2,720.00
27	000003 (F)	EXCAVATE BASIN TO GRADE, AND CONSTRUCT BERM INCLUDING EMBANKMENT	℅	2,075	10.00	20,750.00		35,275.00
28	190101 (F)	ROADWAY EXCAVATION	≿	4,500	18.00	81,000.00		171,000.00
29	000003	PRECAST REINFORCED CONCRETE BOX (3'X2')	<u>L</u>	116	432.00	50,112.00	00.009	00.009,69
30	000003	PRECAST REINFORCED CONCRETE BOX (4'X2')	ኯ	253	385.00	97,405.00	480.00	121,440.00
31	705011	18" STEEL FLARED END SECTION	Ð	-	240.00	540.00		125.00
32	013903	PLACE ASPHALT CONCRETE DIKE (CRS 212) (6")	Ľ	230	9.00	2,070,00		1,150.00
33	013902	ASPHALT CONCRETE OVERSIDE DRAIN (CRS 306)	ЕÀ	ဖ	1,500.00	9,000,00		5,700.00
34	260201	CLASS 2 AGGREGATE BASE	ბ	3,990	34.00	135,660.00		199,500.00
35	390102	ASPHALT CONCRETE (TYPE A)	NOT	2,795	75.00	209,625.00	112.00	313,040.00
36	000003	COLOR STAMPED PORTLAND CEMENT CONCRETE PAVEMENT FOR TRUCK JAPRON (HIGH EARLY STRENGTH CONCRETE)	ς	105	328.00	34,440.00	750.00	78,750.00

Rancho.Calif.Roundabout.Rebid: Summary Web Updated: 11/02/11

Advertised: October 04, 2011 (Agenda Item: 3.25) Addenda: 1 (10/24/2011) Bids Open: 2 pm Date: Tuesday, November 01, 2011

PROJECT: Rancho California Road at Anza Road Roundabout Project

PROJECT No. B9-0957

					7			-
A) TERNATE 5	A) TERNATE SCHEDIJLE 1A	OPTION 1			Palp. Inc. DBA Excel Paving Co Long Beach, CA 90806	el Paving Co 806	Granite Construction Co. Vista, CA 92081	on co.
CN WILL	ITEM CODE	CONTRACT ITEM	SLINO	QUANTITY	BID UNIT PRICE	BID ESTIMATE	BID UNIT PRICE	BID ESTIMATE
	000003	MINOR CONCRETE (COLORED STAMPED CONCRETE SPLITTER ISLANDS)	SQFT	10,196	00.9	61,176.00	4.50	45,882.00
38	017304	MINOR CONCRETE (CURB AND GUTTER) (CRS 200)	5	3,550	21.00	74,550.00	34.00	120,700.00
9 66	731501	MINOR CONCRETE (CURB) [TYPE A1-6, CALTRANS STD A87A]	5	2,530	17.00	43,010.00	15.00	37,950.00
9 4	731501	MINOR CONCRETE (CURB) (TYPE A3-6, CALTRANS STD A87A)	5	300	41.00	12,300.00	21.00	6,300.00
5 4	017307	MINOR CONCRETE (TYPE C CURB) (CRS 202)	5	230	17.00	3,910.00	41.50	9,545.00
. 42	000003	MINOR CONCRETE CURB TRANSITION (CRS 212)	'n	140	17.00	2,380.00	40.00	5,600.00
43	731623	MINOR CONCRETE (CURB RAMP) (CASE A WITH SIDEWALK APPROACH)	EA	-	1,800.00	1,800.00		4,000.00
44	731623	MINOR CONCRETE (CURB RAMP) [CASE C WITH SIDEWALK APPROACH]	EA	_	1,900.00	1,900.00	5,500.00	5,500.00
45	731623	MINOR CONCRETE (CURB RAMP) [CASE F-1a WITH SIDEWALK APPROACH]	EA	9	1,800.00	10,800.00	1,600.00	00'009'6
46	000003	MINOR CONCRETE (SPLITTER ISLAND RAMP)	Ä	4	3,100.00	12,400.00	1,200.00	4,800.00
47	000003	MINOR CONCRETE (BIKE RAMP IINCLUDING SPILL GUTTER)	EA	9	1,800.00	10,800.00	2,200.00	13,200.00
48	000003	MINOR CONCRETE (CONCRETE RAMP INCLUDING SPILL GUTTER)	Ë	2	1,900.00	3,800.00	1,750.00	3,500.00
49	840504	4" THERMOPLASTIC TRAFFIC STRIPE	5	5,310	1.00	5,310.00	0.45	2,389.50
20	840505	6" THERMOPLASTIC TRAFFIC STRIPE	<u>"</u>	2,770	1.15	3,185,50	0.65	1,800.50
51	840506	8" THERMOPLASTIC TRAFFIC STRIPE	5	160	1.25	200.00		200.00
52	000003	6" THERMOPLASTIC TRAFFIC STRIPE (BROKEN 8FT-4FT)	<u>"</u>	200	1.00	200.00		110.00
53	000003	8" THERMOPLASTIC TRAFFIC STRIPE (BROKEN 4FT-2FT)	느	110	1.40	154.00		132.00
54	840519	THERMOPLASTIC CROSSWALK AND PAVEMENT MARKING	SQFT	815	4.00	3,260.00		3,586.00
55	850102	PAVEMENT MARKER (REFLECTIVE)	EA	200	3.00	00.009		750.00
56	000003	TEMPORARY ASPHALT CONCRETE	NO P	300	150.00	45,000.00		49,500.00
57	566011	ROADSIDE SIGN - ONE POST	EA	55	230.00	12,650.00	٠.	12,375.00
58	000003	LANDSCAPE LIGHTING SYSTEM	รา	.	19,000.00	19,000,00		14,000.00
59	000003	STREET LIGHTING SYSTEM	rs	-	7,500.00	7,500.00	8,400.00	8,400,00
09	600000	GROUND PREPARATION (INCLUDING: FINE GRADING, SOIL PREPARATION (AMENDMENTS, FERTILIZERS, & WEED PREP.), MULCHING (RECYCLED ORGANIC) 3" THICK LAYER, AND TOPSOIL IMPORT- UP TO 2"]	SQFT	6,362	1.50	9,543.00	1.50	9,543.00
61	000003	48" BOX TREES (INCLUDING: GUYING, 4" PERF. PVC TREE DRAIN TUBES INFORMANIN CAP ROOT BARRIERS)	EA	ю	1,590.00	4,770.00	1,450.00	4,350.00
62	000003	1 GALLON SHRUBS / GROUNDCOVER	БĀ	29	9.00	531.00	8.00	472.00
. E9	000000	5 GALLON SHRUBS / GROUNDCOVER	Ä	337	23.00	7,751.00	22.00	7,414.00
64	000003	BOWSMITH SL200SERIES EMITTER W/ SALCO SLV-PVD-ACLXX FLEX RISER	Ē	396	15.00	5,940.00	14.00	5,544.00
65	00000	HUNTER RZWS-36-50-CV DEEP TUBE BUBBLER	EA	ဖ	36.00	216.00	33,00	198.00
99	000003	HUNTER IC-3600-M 36 STATION CONTROLLER	E A	-	3,150.00	3,150.00	2,800.00	2,800.00
67	000003	NIBCO T-113-K GATE VALVE - 2" / FITTINGS	Ë	-	309.00	309.00		
68	000003	TRUE UNION BALL VALVE AT ECV - 2"	EA	2	134.00	268.00	120.00	
69	000003	ELECTRIC CONTROL VALVE W/ PRESSREG/FITTINGS - 1"	E	-	172.00	172.00		
70	000003	DRIP VALVE ASSEMBLY - BALL VALVE, AC SOLENOID, FILTER, FITTINGS	EA	2	184.00	368.00	170.00	
71	000003	QUICK COUPLING VALVE	ĘĄ	-	164.00	164.00	-	
72	000003	MANUAL FLUSH VALVE ASSEMBLY	E A	80	62.00	496.00	us .	
73	000003	NON- PRESSURE LATERAL LINE. SCH 40 - 3/4"	느	783	1.90	1,487,70		
74	000003	PRESSURE SUPPLY LINE - SCH 40 - 2"	щ	461	5.00	2,305.00		2
75	000003	GREEN PLASTIC STANDARD 10" ROUND VALVE BOX W/ SUMP/FILTER FAB.	EA	13	30.00	390.00	28.00	364.00

Rancho. Calif. Roundabout. Rebid: Summary Web Updated: 11/02/11

Advertised: October 04, 2011 (Agenda Item: 3.25) Addenda: 1 (10/24/2011) Bids Open: 2 pm Date: Tuesday, November 01, 2011

PROJECT: Rancho California Road at Anza Road Roundabout Project

PROJECT No. B9-0957

					7		e -	
		OPTION 1			Palp, Inc. DBA Excel Paving Co	el Paving Co	Granite Construction Co.	n Co.
AL TERNATE	ALTERNATE SCHEDULE 1A				Long Beach, CA 90806	9080	Vista, CA 92081	
CN MIT	TEM NO LITEM CODE	CONTRACTITEM	UNITS	QUANTITY	BID UNIT PRICE	BID ESTIMATE	BID UNIT PRICE	BID ESTIMATE
76	000003	GREEN PLASTIC STANDARD RECTILINEAR VALVE BOX W/ SUMP/FILTER FAB.	EA	3	00.09	180.00	56.00	168.00
7.2	000003	PVC SLEEVING - SCH40 - 2"	ч,	160	10.00	1,600.00	9.00	1,440.00
. 28	000003	PVC SLEEVING - SCH40 - 4"	5	200	14.00	2,800.00	12.00	2,400.00
62	000003	PVC SCH 40 CONDUIT - 1 1/2"	<u>L</u>	200	3.50	700.00	3.00	00.009
. e	000003	14 GUAGE DIRECT BURIAL WIRE	Н.	14,544	0.21	3,054.24	0.20	2,908.80
	000000	90 DAY MAINTENANCE PERIOD	ST	-	7,160.00	7,160.00	00'000'9	00'000'9
82	000003	MISCELLANEOUS DIRECTED WORK	БĀ	-	100,000.00	100,000.00	100,000.00	100,000.00
		ALTERNATE SCHEDULE 1A SUBTOTAL						
		ITEMS 1 - 82				1,732,889.44		2,042,981.00

	BID ESTIMATE	8,400.00	4,400.00	4,400.00	5,250.00		22,450.00
	BID UNIT PRICE BI	2,100.00	4,400.00	4,400.00	750.00		
	BID ESTIMATE	126,880.00	4,050,00	3,200.00	4,837.00		138,967.00
	BID UNIT PRICE	31,720.00	4,050.00	3,200.00	691.00		
	UNITS QUANTITY	4	-	-	7		
	UNITS	EA	Ë	Ā	EA		
ALTERNATE 18 - RANCHO CALIFORNIA WATER DISTRICT	CONTRACT ITEM	REMOVE AND RECONSTRUCT FIRE HYDRANT ASSEMBLY	RELOCATE CP TEST STATION	REMOVE AND RECONSTRUCT WATER QUALITY SAMPLE STATION ASSEMBLY	RECONSTRUCT AND RAISE VALVE RISER AND CAP ASSEMBLY TO GRADE	ALTERNATE SCHEDULE 1B SUBTOTAL	ITEMS 83-86
1B - RANCHO CALI	TEM NO ITEM CODE		000003	000003	000003		
ALTERNATE	CN MET	83	84	85	86		

ALTERNATE 1C - RANCHO CALIFORNIA WATER DISTRICT

BID ESTIMATE	00 001 20	21,120.00			_	27 120 00	2010411	
BIDE		20.			•			
BID UNIT PRICE	00.4	120						
BID ESTIMATE	00 7 77 07	42,714.00				00 KKC CK	77,14,00	
BID UNIT PRICE		189.00			,			
QUANTITY		226				-		
UNITS		<u>_</u>						
CONTRACTITEM		FURNISH AND INSTALL BOX CULVERT LINING		ATCHOLOGOURD III GALOACE	ALIERNAIE SCHEDULE IC SCBIOIAL		28 MH	
BOOD METIL ON METI	C L'SI CODE	1 000000			_		_	
CIA MOT	LEW 150.	87	,					

ALTERNATE 1D - RANCHO CALIFORNIA WATER DISTRICT

CN MATE	TEM NO LITEM CODE	CONTRACT ITEM	SLIND	QUANTITY	BID UNIT PRICE	BID ESTIMATE	BID UNIT PRICE	BID ESTIMATE
88	000003	FURNISH AND INSTALL MANH	SQFT	722	18.00	12,996.00	20.00	14,440.00
3	20000							
		ALTERNATE SCHEDILLE 10 SUBTOTAL						
		ALIENIA E SCIEDOLE IS SCIEDOLE						
		11EM 88				12,996.00		14,440.00

ALTERNATE 1E - RANCHO CALIFORNIA WATER DISTRICT

ALIENIAN L		ALIENMAIL IL FINANCIO CAER CINTO TINCIEN CONTRACTOR CON					10.00	LIVE TO LEE
CIN MET	HEM CON MATE	CONTRACTITEM	SLIND	QUANTITY	BID UNIT PRICE	BID ESTIMATE	BID UNI PRICE	BID ESTIMATE
	200000	OCCUPATION OF THE NAME AND INSTALL BOX CLILVERT OUTSIDE LINING	<u></u>	171	56.00	9,576.00	8.00	1,368.00
60	20000							
		ALTERNATE SCHEDULE 1E SUBTOTAL						
						0000		1 259 00
		98 MHL				9,576,0		00.000.1

Page 12 of 24

Riverside County Transportation Department Summary of Bids

Advertised: October 04, 2011 (Agenda Item: 3.25) Addenda: 1 (10/24/2011) Bids Open: 2 pm Date: Tuesday, November 01, 2011

PROJECT: Rancho California Road at Anza Road Roundabout Project

PROJECT No. B9-0957

					2		<u>ო</u>	
		OPTION 1			Palp. Inc. DBA Excel Paving Co	I Paving Co	Granite Construction Co.	ii Co.
ALTERNATE	SCHEDULE 1F - R	ALTERNATE SCHEDULE 1F - RCP&OSD (EQUESTRIAN CROSSWALK PER EXHIBIT A)			Long Beach, CA 90806	908	Vista, CA 92081	
ITEM NO.	ITEM NO. ITEM CODE	CONTRACT ITEM	SLINO	UNITS QUANTITY	BID UNIT PRICE	BID ESTIMATE	BID UNIT PRICE	BID ESTIMATE
06	000003	SOLAR POWERED PEDESTRIAN CROSSWALK FLASHING BEACON SYSTEM WITH EQUESTRIAN AND PEDESTRIAN PUSH BUTTONS	EA	2	3,000.00	6,000.00	1,250.00	2,500.00
91	000003	TYPE 1-A STANDARD (14" ALUMINUM)	EA	2	200.00	1,400.00	1,300.00	2,600.00
		ALTERNATE SCHEDULE 1F SUBTOTAL						
		ITEMS 90-91				7,400.00		5,100.00

ALTERNATE 1G - METROPOLITAN WATER DISTRICT

CONTRACT ITEM UNITS QUANTITY BID UNIT PRICE BID ESTIMATE STALL BOX CULVERT OUTSIDE LINING LF 45 56.00 2,520.00 STALL MANHOLE/ CATCH BASIN OUTSIDE LINING EA 2 556.00 1,112.00 STALL OUTSIDE LINING [HDPE PIPE JOINTS] EA 10 278.00 2,780.00 SCHEDULE 1G SUBTOTAL 6.412.00		10 -21 -1				-			
FURNISH AND INSTALL BOX CULVERT OUTSIDE LINING LF 45 56.00 5.60.00	ITEM NO.	ITEM CODE	CONTRACT ITEM	SLINO	QUANTITY	BID UNIT PRICE		BID UNIT PRICE	BID ESTIMATE
FURNISH AND INSTALL MANHOLE/ CATCH BASIN OUTSIDE LINING EA 2 556.00 1 FURNISH AND INSTALL OUTSIDE LINING [HDPE PIPE JOINTS] EA 10 278.00 2 ALTERNATE SCHEDULE 1G SUBTOTAL 6 6 6	92		FURNISH AND INSTALL BOX CULVERT OUTSIDE LINING	F.	45	96.00	2,520.00	17.00	765.00
FURNISH AND INSTALL OUTSIDE LINING (HDPE PIPE JOINTS) EA 10 278.00 ALTERNATE SCHEDULE 1G SUBTOTAL ITEMS 92.94	93	000003	FURNISH AND INSTALL MANHOLE/ CATCH BASIN OUTSIDE LINING	EA	7	556.00	1,112.00	375.00	750.00
	94	000003	FURNISH AND INSTALL OUTSIDE LINING [HDPE PIPE JOINTS]	EA	10	278.00	2,780.00	75.00	750.00
			ALTERNATE SCHEDULE 1G SUBTOTAL						
	·		ITEMS 92-94				6,412.00		2,265.00

OPTION 1 (ALTERNATE SCHEDULES 1A TH

Advertised: October 04, 2011 (Agenda Item: 3.25) Addenda: 1 (10/24/2011) Bids Open: 2 pm Date: Tuesday, November 01, 2011

ECT: Rancho California Road at Anza Road	dabout Project
PROJECT: F	Roundabout

PROJECT No. B9-0957

					2		3	
		OPTION 2			Palp. Inc. DBA Excel Paving Co	ving Co	Granite Construction Co.	n Co.
ALTERNATE	ALTERNATE SCHEDULE 2A			,	9080		Vista, CA 92081	
ITEM NO.	ITEM CODE	CONTRACT ITEM	SLINO	QUANTITY	BID UNIT PRICE BIG	BID ESTIMATE	BID UNIT PRICE	BID ESTIMATE
95	120100	TRAFFIC CONTROL SYSTEM	ST	-	140,000.00	140,000.00	53,939.00	53,939.00
96	066578	PORTABLE CHANGEABLE MESSAGE SIGNS	EA	9	2,500.00	15,000.00	1,000,00	6,000.00
97	074020	WATER POLLUTION CONTROL	rs	-	2,400.00	2,400.00	10,000.00	10,000.00
86	170101	DEVELOP WATER SUPPLY	r _S	<u>-</u>	4,500.00	4,500.00	4,000.00	4,000.00
66	066102	DUST ABATEMENT	S	-	7,300.00	7,300.00	4,000.00	4,000.00
100	160101	CLEARING AND GRUBBING	S .	-	80,000,00	80,000.00	25,000.00	25,000.00
101	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)[WARPED WINGWALL][CALTRANS STD D-868]	E	-	18,720.00	18,720.00	10,000.00	10,000.00
102	510126	CLASS 2 CONCRETE (MINOR STRUCTURE) [WINGWALL] [CALTRANS STD D-90]	Ę	_	16,120.00	16,120.00	8,500.00	8,500.00
103	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)CONCRETE DROP INLET (RCFC & WCDS CB 110)	EA	-	5,910.00	5,910.00	2,500.00	2,500.00
104	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)[TRANSITION STRUCTURE NO.3]	EA	.	6,280.00	6,280.00	9,500.00	9,500.00
105	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)[PCC FOREBAY]	Ą	-	6,160.00	6,160.00	9,500.00	9,500.00
106	510126	CLASS 2 CONCRETE (MINOR STRUCTURE) [CONCRETE COLLAR]	Æ	, -	1,220.00	1,220.00	7,000.00	2,000.00
107	000003	CLASS 2 CONCRETE (MINOR STRUCTURE) [JUNCTION STRUCTURE]	EA	-	3,900.00	3,900.00	3,700.00	3,700.00
108	510126	CLASS 2 CONCRETE (MINOR STRUCTURE) (CATCH BASIN (COMBINATION INLET) (CRS 301)]	EA	-	4,570.00	4,570.00	8,000.00	8,000.00
109	510126	CLASS 2 CONCRETE (MINOR STRUCTURE) [CATCH BASIN (CURB INLET) (CRS 300)]	В	7	4,860.00	34,020.00	00'000'9	42,000.00
110	510126	CLASS 2 CONCRETE (MINOR STRUCTURE) [MANHOLE (RCFC&WCDS MH 251)]	EA	2	6,000.00	30,000.00	4,200.00	21,000.00
111	510138	CLASS 2 CONCRETE (MINOR STRUCTURE) [WINGWALL (TYPE D)][CALTRANS STD D85]	E A	4	6,080.00	24,320.00	4,100.00	16,400.00
112	721007	ROCK SLOPE PROTECTION (1/4 TON, METHOD B)	Շ	58	175.00	10,150.00	150.00	8,700.00
113	729010	ROCK SLOPE PROTECTION FABRIC	SQFT	350	2.00	700.00	2.00	200.00
114	198021	IMPORTED ROCKY MATERIAL	Շ	က	227.00	681.00	350.00	1,050.00
115	394002	PLACE ASPHALT CONCRETE (MISCELLANEOUS AREA)	SQFT	1,900	2.00	3,800.00	1.70	3,230.00
116	800300	CHAIN LINK FENCE (INCLUDING 14' DOUBLE DRIVE GATE)	느	620	22.00	13,640.00	18.00	11,160.00
117	641107	18" PLASTIC PIPE [HDPE - TYPE S]	<u>"</u>	730	88.00	64,240.00	00'86	71,540.00
118	641113	24" PLASTIC PIPE [HDPE - TYPE S]	<u>"</u>	867	97.00	84,099.00	112.00	97,104.00
119	641119	30" PLASTIC PIPE (HDPE - TYPE S)	<u>u</u>	4	334.00	1,336.00	350.00	1,400.00
120	641125	36 PLASTIC PIPE [HDPE - TYPE S]	5	17	226.00	3,842.00	145.00	2,465.00
121	000003 (F)	EXCAVATE BASIN TO GRADE, AND CONSTRUCT BERM INCLUDING EMBANKMENT	5	2,075	10.00	20,750.00	21.00	43,575.00
122	190101 (F)	ROADWAY EXCAVATION	ბ	4,500	18.00	81,000.00	28.00	126,000.00
123	000003	PRECAST REINFORCED CONCRETE BOX (3'X2')	<u>"</u>	116	430.00	49,880.00	540.00	62,640.00
124	000003	PRECAST REINFORCED CONCRETE BOX (4'X2')	느	253	385.00	97,405.00	510.00	129,030.00
125	705011	18" STEEL FLARED END SECTION	ËĀ	-	540.00	540.00	150.00	150.00
126	013903	PLACE ASPHALT CONCRETE DIKE (CRS 212) (6")	5	230	9.00	2,070.00	5.00	1,150.00
127	013902	ASPHALT CONCRETE OVERSIDE DRAIN (CRS 306)	EA	9	1,400.00	8,400.00	1,600.00	00'009'6
128	260201	CLASS 2 AGGREGATE BASE	≿	3,990	33.00	131,670.00	25.00	219,450.00
129	390102	ASPHALT CONCRETE (TYPE A)	NOT	2,795	75.00	209,625,00	120.00	335,400.00
130	000003	COLOR STAMPED PORTLAND CEMENT CONCRETE PAVEMENT FOR TRUCK APRON (HIGH EARLY STRENGTH CONCRETE)	ς	105	328.00	34,440.00	670.00	70,350.00

Rancho, Calif, Roundabout, Rebid; Summary Web Updated: 11/02/11

Page 14 of 24

Riverside County Transportation Department Summary of Bids

Advertised: October 04, 2011 (Agenda Item: 3.25) Addenda: 1 (10/24/2011) Bids Open: 2 pm Date: Tuesday, November 01, 2011

PROJECT: Rancho California Road at Anza Road Roundabout Project

PROJECT No. B9-0957

					7		m	
		OPTION 2			Palp, Inc. DBA Excel Paving Co	I Paving Co	Granite Construction Co.	n Co.
ALTERNATE \$	ALTERNATE SCHEDULE 2A				Long Beach, CA 90	90806	Vista, CA 92081	
ITEM NO.	ITEM CODE	CONTRACT ITEM	UNITS	QUANTITY	BID UNIT PRICE	BID ESTIMATE	BID UNIT PRICE	BID ESTIMATE
T	000003	MINOR CONCRETE (COLORED STAMPED CONCRETE SPLITTER ISLANDS)	SQFT	10,196	9.00	61,176.00	4.50	45,882.00
132	017304	MINOR CONCRETE (CURB AND GUTTER) (CRS 200)	ㅂ	3,550	30.00	106,500.00	28.00	99,400.00
133	731501	MINOR CONCRETE (CURB) [TYPE A1-6, CALTRANS STD A87A]	占	2,530	27.00	68,310.00	12.00	30,360.00
134	731501	MINOR CONCRETE (CURB) [TYPE A3-6, CALTRANS STD A87A]	77	300	57.00	17,100.00	12.00	3,600.00
135	017307	MINOR CONCRETE (TYPE C CURB) (CRS 202)	٢	230	27.00	6,210.00	24.00	5,520.00
136	000003	MINOR CONCRETE CURB TRANSITION (CRS 212)	5	140	27.00	3,780.00	23.00	3,220.00
137	731623	MINOR CONCRETE (CURB RAMP) [CASE A WITH SIDEWALK APPROACH]	E	-	200.00	500.00	5,000.00	5,000.00
138	731623	MINOR CONCRETE (CURB RAMP) [CASE C WITH SIDEWALK APPROACH]	EA	-	3,500.00	3,500.00		00.000,7
139	731623	MINOR CONCRETE (CURB RAMP) [CASE F-1a WITH SIDEWALK APPROACH]	EA	9	3,300.00	19,800.00		12,000.00
140	000003	MINOR CONCRETE (SPLITTER ISLAND RAMP)	EA	4	5,000.00	20,000,00	1,400.00	5,600.00
141	000003	MINOR CONCRETE (BIKE RAMP IINCLUDING SPILL GUTTER)	E	9	3,300.00	19,800.00	2,800.00	16,800.00
142	000003	MINOR CONCRETE (CONCRETE RAMP INCLUDING SPILL GUTTER)	EA	2	3,500.00	7,000.00	2,200.00	4,400.00
143	840504	4" THERMOPLASTIC TRAFFIC STRIPE	'n.	5,310	1.00	5,310.00		2,655.00
144	840505	6" THERMOPLASTIC TRAFFIC STRIPE	Ŀ	2,770	1.15	3,185.50	0.70	1,939.00
145	840506	8" THERMOPLASTIC TRAFFIC STRIPE	느	160	1.25	200.00		200.00
146	000000	6" THERMOPLASTIC TRAFFIC STRIPE (BROKEN 8FT-4FT)	느	200	1.00	200.00	0.55	110.00
147	000003	8" THERMOPLASTIC TRAFFIC STRIPE (BROKEN 4FT-2FT)	5	110	1.40	154.00	1.20	132.00
148	840519	THERMOPLASTIC CROSSWALK AND PAVEMENT MARKING	SQFT	815	4.00	3,260.00	4.40	3,586.00
149	850102	PAVEMENT MARKER (REFLECTIVE)	EA	200	3.00	00.009	3.75	750.00
150	566011	ROADSIDE SIGN - ONE POST	EA	55	230.00	12,650.00		12,375.00
151	000003	LANDSCAPE LIGHTING SYSTEM	r.	-	19,000.00	19,000.00	14,800.00	14,800.00
152	000003	STREET LIGHTING SYSTEM	rs	-	7,500.00	7,500.00	10,000.00	10,000.00
153	000003	GROUND PREPARATION (INCLUDING: FINE GRADING, SOIL PREPARATION (AMENDMENTS, FERTILIZERS, & WEED PREP.), MULCHING (RECYCLED ORGANIC) 3" THICK LAYER, AND TOPSOIL IMPORT- UP TO 2")	SQFT	6,362	1.80	11,451.60	1.50	9,543.00
154	000003	48" BOX TREES (INCLUDING: GUYING, 4" PERF. PVC TREE DRAIN TUBES (WINBAIN CAP ROOT BARRIERS)	EA	က	1,900.00	5,700.00	1,750.00	5,250.00
155	000003	1 GALLON SHRUBS / GROUNDCOVER	m A	59	11.00	649.00	10.00	290.00
156	000003	5 GALLON SHRUBS / GROUNDCOVER	Ē	337	28.00	9,436.00		8,762.00
157	000003	BOWSMITH SL200SERIES EMITTER W/ SALCO SLV-PVD-ACLXX FLEX RISER	EA	396	18.00	7,128.00		6,336,00
158	000003	HUNTER RZWS-36-50-CV DEEP TUBE BUBBLER	Ë	9	43.00	258.00		240.00
159	000003	HUNTER IC-3600-M 36 STATION CONTROLLER	EA	-	3,780.00	3,780.00	ຕັ	3,477.00
160	000003	NIBCO T-113-K GATE VALVE - 2" / FITTINGS	EA		371.00	371.00		340.00
161	000003	TRUE UNION BALL VALVE AT ECV - 2"	ЕA	2	161.00	322.00		296.00
162	000003	ELECTRIC CONTROL VALVE W/ PRESSREG/FITTINGS - 1"	EA	Ψ-	207.00	207.00		190.00
163	000003	DRIP VALVE ASSEMBLY - BALL VALVE, AC SOLENOID, FILTER, FITTINGS	ΕĄ	2	221.00	442.00		400.00
164	000003	QUICK COUPLING VALVE	ËA	-	197.00	197.00		180.00
165	000003	MANUAL FLUSH VALVE ASSEMBLY	EA	80	74.00	592.00	•	544.00
166	000003	NON- PRESSURE LATERAL LINE- SCH 40 - 3/4"	느	783	2.30	1,800.90		1,566.00
167	000003	PRESSURE SUPPLY LINE - SCH 40 - 2"	느	461	00.9	2,766.00		2,305.00
168	000003	GREEN PLASTIC STANDARD 10" ROUND VALVE BOX W/ SUMP/FILTER FAB.	EA	13	37.00	481.00	34.00	442.00

Advertised: October 04, 2011 (Agenda Item: 3.25) Addenda: 1 (10/24/2011) Bids Open: 2 pm Date: Tuesday, November 01, 2011

PROJECT: Rancho California Road at Anza Road Roundabout Project

PROJECT No. B9-0957

							<u>ო</u>	
		OPTION 2			Palp. Inc. DBA Excel Paving Co	el Paving Co	Granite Construction Co.	on Co.
ALTERNAT	ALTERNATE SCHEDULE 2A				Long Beach, CA 90806	9080	Vista, CA 92081	
ITEM NO.	ITEM NO. ITEM CODE	CONTRACT ITEM	UNITS	QUANTITY	BID UNIT PRICE	BID ESTIMATE	BID UNIT PRICE	BID ESTIMATE
169	000003	GREEN PLASTIC STANDARD RECTILINEAR VALVE BOX W/ SUMP/FILTER FAB.	EA	3	72.00	216.00	00'99	198.00
170	. 200000	PVC SLEEVING - SCH40 - 2"	щ	160	12.00	1,920.00	11.00	1,760,00
171	000003	PVC SLEEVING - SCH40 - 4"	4	200	17.00	3,400.00	15.00	3,000.00
172	000003	PVC SCH 40 CONDUIT - 1 1/2"	5	200	4.20	840.00	4.00	800.00
173	000000	14 GUAGE DIRECT BURIAL WIRE	<u>"</u>	14,544	0.25	3,636.00	0.25	3,636.00
174	000003	90 DAY MAINTENANCE PERIOD	rs S	-	7,160.00	7,160.00	6,584.00	6,584.00
175	000003	MISCELLANEOUS DIRECTED WORK	FA	-	100,000.00	100,000.00	100,000.00	100,000.00
		ALTERNATE SCHEDULE 2A SUBTOTAL						
		ITEMS 95-175				1,767,177.00		1,877,501.00

ALTERNATE	E 2B - RANCHO CAL	ALTERNATE 28 - RANCHO CALIFORNIA WATER DISTRICT						
ITEM NO.	ITEM NO. ITEM CODE	CONTRACT ITEM	SLINO	QUANTITY	UNITS QUANTITY BID UNIT PRICE	BID ESTIMATE	BID UNIT PRICE	BID ESTIMATE
176	000003	REMOVE AND RECONSTRUCT FIRE HYDRANT ASSEMBLY	EA	4	31,720.00	126,880.00	3,300.00	13,200.00
177	000003	RELOCATE CP TEST STATION	Ę	<u> </u>	4,050.00	4,050.00	9,000.00	00'000'6
178	000003	REMOVE AND RECONSTRUCT WATER QUALITY SAMPLE STATION ASSEMBLY	Ę	-	3,200.00	3,200,00	00'000'6	00.000,6
179	000003	RECONSTRUCT AND RAISE VALVE RISER AND CAP ASSEMBLY TO GRADE	Ш	7	691.00	4,837.00	1,000.00	7,000.00
		ALTERNATE SCHEDULE 2B SUBTOTAL						
		ITEMS 176-179				138,967.00		38,200.00

ALTERNATE 2C - RANCHO CALIFORNIA WATER DISTRICT

CN MAT	TEM NO. ITEM CODE	CONTRACT ITEM	SLIND	QUANTITY	BID UNIT PRICE	BID ESTIMATE	BID UNIT PRICE	BID ESTIMATE
180	000003	FURNISH AND INSTALL BOX C	Ή	226	189.00	42,714.00	142.00	32,092.00
		ALTERNATE SCHEDULE 2C SUBTOTAL						
		ITEM 180				42,714.00		32,092.00

ALTERNATE 20 - RANCHO CALIFORNIA WATER DISTRICT

CN MHT	TEM NO TIEM CODE	CONTRACTITEM	UNITS	QUANTITY	BID UNIT PRICE	BID ESTIMATE	BID UNIT PRICE	BID ESTIMATE
181	000003	000003 FURNISH AND INSTALL MANHOLE / CATCH BASIN LINING	SQFT	722	18.00	12,996.00	24.00	17,328.00
		ALTERNATE SCHEDULE 2D SUBTOTAL						
		ITEM 181				12,996.00		17,328.00

ALTERNATE 2E - RANCHO CALIFORNIA WATER DISTRICT

TEM NO.	ITEM NO. ITEM CODE	CONTRACTITEM	STIND	QUANTITY	BID UNIT PRICE	BID ESTIMATE	BID UNIT PRICE	BID ESTIMATE
182		FURNISH AND INSTALL BOX CULVERT OUTSIDE LINING	F.	171	56.00	9,576.00	14.00	2,394,00
		ALTERNATE SCHEDULE 2E SUBTOTAL						
		ITEM 182				9,576.00		2,394.00

Advertised: October 04, 2011 (Agenda Item: 3.25) Addenda: 1 (10/24/2011) Bids Open: 2 pm Date: Tuesday, November 01, 2011

PROJECT: Rancho California Road at Anza Road Roundabout Project

PROJECT No. B9-0957

OPTION 2 Palp. Inc. DBA Excel Paving C RIAN CROSSWALK PER EXHIBIT A) Long Beach, CA 90806 CONTRACT ITEM UNITS QUANTITY BID UNIT PRICE BID ESTIN EDESTRIAN CROSSWALK FLASHING BEACON SYSTEM EA 2 3,200.00 SHEDULE 2F SUBTOTAL EA 2 780.00					7		<u>ო</u>	
Long Beach, CA 90806		OPTION 2			Palp. Inc. DBA Exce	I Paving Co	Granite Construction Co.	on Co.
SOLAR POWERED PEDESTRIAN CROSSWALK FLASHING BEACON SYSTEM SOLAR POWERED PEDESTRIAN CROSSWALK FLASHING BEACON SYSTEM WITH EQUESTRIAN AND PEDESTRIAN PUSH BUTTONS TYPE 1-A STANDARD (14" ALUMINUM) ALTERNATE SCHEDULE 2F SUBTOTAL	ALTERNATE SCHEDULE 2F -	RCP&OSD (EQUESTRIAN CROSSWALK PER EXHIBIT A)			Long Beach, CA 90	806	Vista, CA 92081	
SOLAR POWERED PEDESTRIAN CROSSWALK FLASHING BEACON SYSTEM EA 2 3,200.00 WITH EQUESTRIAN AND PEDESTRIAN PUSH BUTTONS EA 2 780.00 000003 TYPE 1-A STANDARD (14" ALUMINUM) EA 2 780.00 ALTERNATE SCHEDULE 2F SUBTOTAL ITTEMS 409.404 100.000 100.000 100.000	ITEM NO. ITEM CODE	CONTRACT ITEM	UNITS	QUANTITY	BID UNIT PRICE	BID ESTIMATE	BID UNIT PRICE	BID ESTIMATE
000003 TYPE 1-A STANDARD (14" ALUMINUM) ALTERNATE SCHEDULE 2F SUBTOTAL ITTEMS 409 409		SOLAR POWERED PEDESTRIAN CROSSWALK FLASHING BEACON SYSTEM WITH EQUESTRIAN AND PEDESTRIAN PUSH BUTTONS	EA	2	3,200.00	6,400.00	1,600.00	3,200.00
SHEDULE 2F SUBTOTAL		TYPE 1-A STANDARD (14" ALUMINUM)	EA	2	780.00	1,560,00	1,500.00	3,000.00
		ALTERNATE SCHEDULE 2F SUBTOTAL						
		ITEMS 183-184				7,960.00		6,200.00

ALTERNATE 2G - METROPOLITAN WATER DISTRICT

CN MATI	TEM NO TEM CODE	CONTRACT ITEM	STINO	UNITS QUANTITY	BID UNIT PRICE	BID ESTIMATE	BID UNIT PRICE	BID ESTIMATE
185	000003	FURNISH AND INSTALL BOX CULVERT OUTSIDE LINING	5	45	56.00	2,520.00	27.00	1,215.00
186	000003	FURNISH AND INSTALL MANHOLE/ CATCH BASIN OUTSIDE LINING	EA	7	556.00	1,112.00	00.009	1,200.00
187	000003	FURNISH AND INSTALL OUTSIDE LINING (HDPE PIPE JOINTS)	EA	10	278.00	2,780.00	120.00	1,200.00
		ALTERNATE SCHEDULE 2G SUBTOTAL						
		ITEMS 185-187				6,412.00		3,615.00
		OPTION 2 (ALTERNATE SCHEDULES 2A THROUGH 2G)						
		ITEMS 95-187	-			1,985,802.00		1,977,330.00

Advertised: October 04, 2011 (Agenda Item: 3.25) Addenda: 1 (10/24/2011) Bids Open: 2 pm Date: Tuesday, November 01, 2011

PROJECT: Rancho California Road at Anza Road Roundabout Project

PROJECT No. B9-0957

					4		2	
		OPTION 1			All American Asphalt	alt	EBS General Engineering Inc.	eering Inc.
ALTERNATE	ALTERNATE SCHEDULE 1A				Corona, CA 92878-2229	2229	Corona, CA 92879	
ITEM NO.	ITEM CODE	CONTRACT ITEM	UNITS	QUANTITY	BID UNIT PRICE	BID ESTIMATE	BID UNIT	BID ESTIMATE
1	120100	TRAFFIC CONTROL SYSTEM	ST	-	00'000'09	60,000.00	6 0	83,000.00
2	066578	PORTABLE CHANGEABLE MESSAGE SIGNS	EA	9	4,600.00	27,600.00		18,000.00
ო	074020	WATER POLLUTION CONTROL	rs	Ψ-	20,000.00	20,000.00	8	21,000.00
4	170101	DEVELOP WATER SUPPLY	ST	-	3,000.00	3,000.00		3,500.00
S	066102	DUST ABATEMENT	rs	-	10,000.00	10,000.00		5,000.00
9	160101	CLEARING AND GRUBBING	LS	-	48,259.80	48,259.80	115,000.00	115,000.00
7	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)[WARPED WINGWALL][CALTRANS STD D-868]]	EA	-	14,800.00	14,800.00	15,300.00	15,300.00
&	510126	CLASS 2 CONCRETE (MINOR STRUCTURE) WINGWALL JCALTRANS STD D-90]	EA	-	16,200.00	16,200.00	16,500.00	16,500.00
6	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)CONCRETE DROP INLET (RCFC & WCDS CB 110)	EA	-	4,300.00	4,300.00	4,500.00	4,500.00
9	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)(TRANSITION STRUCTURE NO.3)	ΕA	_	3,000.00	3,000.00	3,200.00	3,200.00
-	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)[PCC FOREBAY]	EA	-	7,700.00	7,700.00		7,800,00
12	510126	CLASS 2 CONCRETE (MINOR STRUCTURE) [CONCRETE COLLAR]	EA	-	1,100.00	1,100.00		1,100.00
13	000003	CLASS 2 CONCRETE (MINOR STRUCTURE) [JUNCTION STRUCTURE]	EA	-	3,100.00	3,100.00	3,300.00	3,300.00
14	510126	CLASS 2 CONCRETE (MINOR STRUCTURE) [CATCH BASIN (COMBINATION INLET) (CRS 301)]	EA	-	6,400.00	6,400.00	6,500.00	6,500.00
15	510126	CLASS 2 CONCRETE (MINOR STRUCTURE) (CATCH BASIN (CURB INLET) (CRS 300))	ĘĄ	7	5,600.00	39,200.00		39,200.00
16	510126	CLASS 2 CONCRETE (MINOR STRUCTURE) [MANHOLE (RCFC&WCDS MH 251)]	EA	S	4,000.00	20,000.00	4,100.00	20,500.00
17	510138	CLASS 2 CONCRETE (MINOR STRUCTURE) [WINGWALL (TYPE D)][CALTRANS STD D85]	EA	4	3,000.00	12,000.00	3,100.00	12,400.00
	721007	ROCK SLOPE PROTECTION (1/4 TON, METHOD B)	Շ	28	155.00	8,990.00	155.00	8,990.00
19	729010	ROCK SLOPE PROTECTION FABRIC	SQFT	350	4.00	1,400.00		1,155.00
20	198021	IMPORTED ROCKY MATERIAL	Շ	ო	150.00	450.00	110.00	330.00
21	394002	PLACE ASPHALT CONCRETE (MISCELLANEOUS AREA)	SQFT	1,900	3.50			13,300.00
22	800300	CHAIN LINK FENCE [INCLUDING 14' DOUBLE DRIVE GATE]	4	620	18.50			11,780.00
23	641107	18" PLASTIC PIPE (HDPE - TYPE S)	H.	730	215.00			160,600.00
24	641113	24" PLASTIC PIPE (HDPE - TYPE S)	F.	867	220.00	\$		190,740.00
25	641119	30" PLASTIC PIPE [HDPE - TYPE S]	5	4	260.00			1,000.00
26	641125	36 PLASTIC PIPE (HDPE - TYPE S)	5	17	260.00	4,420.00	255.00	4,335.00
27	000003 (F)	EXCAVATE BASIN TO GRADE, AND CONSTRUCT BERM INCLUDING EMBANKMENT	≿	2,075	28.00			49,800.00
28	190101 (F)	ROADWAY EXCAVATION	გ	4,500	28.00	-		~
29	000003	PRECAST REINFORCED CONCRETE BOX (3'X2')	ኯ	116	515.00			
30	000003	PRECAST REINFORCED CONCRETE BOX (4'X2')	5	253	580.00	146,740.00		150
31	705011	18" STEEL FLARED END SECTION	EA	-	00.009	00'009		
32	013903	PLACE ASPHALT CONCRETE DIKE (CRS 212) (6")	<u>ь</u>	230	13.00			
33	013902	ASPHALT CONCRETE OVERSIDE DRAIN (CRS 306)	EA	9	1,000.00		2,4	
34	260201	CLASS 2 AGGREGATE BASE	չ	3,990	36.00			
35	390102	ASPHALT CONCRETE (TYPE A)	TON	2,795	70.00	195,650.00	0 71.00	198,445.00
36	000003	COLOR STAMPED PORTLAND CEMENT CONCRETE PAVEMENT FOR TRUCK APRON (HIGH EARLY STRENGTH CONCRETE)	ζ	105	00.099	69,300.00	375.00	39,375.00

Rancho, Calif. Roundabout. Rebid: Summary Web Updated: 11/02/11

Page 17 of 24

Advertised: October 04, 2011 (Agenda Item: 3.25) Addenda: 1 (10/24/2011) Bids Open: 2 pm Date: Tuesday, November 01, 2011

PROJECT: Rancho California Road at Anza Road Roundabout Project

PROJECT No. B9-0957

					4		2	
		OPTION 1			All American Asphalt	EBS General Engineering Inc.	l Enginee	ring Inc.
ALTERNATE	ALTERNATE SCHEDULE 1A				78-22	ၓ	92879	
ITEM NO.	ITEM CODE	CONTRACT ITEM	UNITS	QUANTITY	BID UNIT PRICE BID ESTIMATE	ATE BID UNIT PRICE	3CE	BID ESTIMATE
37	000003	MINOR CONCRETE (COLORED STAMPED CONCRETE SPLITTER ISLANDS)	SQFT	10,196	9 00'9	61,176.00	7.50	76,470.00
38	017304	MINOR CONCRETE (CURB AND GUTTER) (CRS 200)	느	3,550	17.00	60,350,00	14.00	49,700.00
38	731501	MINOR CONCRETE (CURB) [TYPE A1-6, CALTRANS STD A87A]	ዜ	2,530	14.00	35,420.00	8.00	20,240.00
40	731501	MINOR CONCRETE (CURB) [TYPE A3-6, CALTRANS STD A87A]	<u>"</u>	300	14.00	4,200.00	12.00	3,600.00
14	017307	MINOR CONCRETE (TYPE C CURB) (CRS 202)	5	230	17.00	3,910.00	12.00	2,760.00
42	000003	MINOR CONCRETE CURB TRANSITION (CRS 212)	ᅱ	140	17.00	2,380.00	15.00	2,100.00
43	731623	MINOR CONCRETE (CURB RAMP) [CASE A WITH SIDEWALK APPROACH]	ā	-	2,700.00	2,700.00	2,600.00	2,600.00
44	731623	MINOR CONCRETE (CURB RAMP) [CASE C WITH SIDEWALK APPROACH]	Ę	-			2,600.00	2,600.00
45	731623	MINOR CONCRETE (CURB RAMP) (CASE F-1a WITH SIDEWALK APPROACH)	EA	ဖ	2,700.00	16,200.00	2,600.00	15,600.00
46	000003	MINOR CONCRETE (SPLITTER ISLAND RAMP)	Ä	4	2,700.00	3 00.008,01	3,500.00	14,000.00
47	000003	MINOR CONCRETE (BIKE RAMP IINCLUDING SPILL GUTTER)	ЕÀ	တ	2,700.00		2,600.00	15,600.00
48	000003	MINOR CONCRETE (CONCRETE RAMP INCLUDING SPILL GUTTER)	Æ	2	2,700.00		3,500.00	7,000.00
49	840504	4" THERMOPLASTIC TRAFFIC STRIPE	5	5,310	1.00	5,310.00	0.50	2,655,00
50	840505	6" THERMOPLASTIC TRAFFIC STRIPE	<u> </u>	2,770	1.10	3,047.00	0.70	1,939.00
51	840506	8" THERMOPLASTIC TRAFFIC STRIPE	<u>ь</u>	160	2.00	320.00	1.30	208.00
52	000003	6" THERMOPLASTIC TRAFFIC STRIPE (BROKEN 8FT-4FT)	'n	200	1.50	300.00	0.60	120.00
53	000003	8" THERMOPLASTIC TRAFFIC STRIPE (BROKEN 4FT-2FT)	<u>"</u>	110	2.00	220.00	1.30	143.00
54	840519	THERMOPLASTIC CROSSWALK AND PAVEMENT MARKING	SQFT	815	4.00	3,260.00	4.50	3,667.50
55	850102	PAVEMENT MARKER (REFLECTIVE)	EA	200	3.00	900.00	4.00	800.00
56	000003	TEMPORARY ASPHALT CONCRETE	NOT	300	110.00 3:	33,000.00	110.00	33,000.00
57	566011	ROADSIDE SIGN - ONE POST	EA	55	215.00	11,825.00	240.00	13,200.00
58	000003	LANDSCAPE LIGHTING SYSTEM	· SI	-	15,000.00	15,000.00 20	20,000.00	20,000.00
29	000003	STREET LIGHTING SYSTEM	rs	-	5,000.00	5,000.00	2,500.00	7,500.00
09	800000	GROUND PREPARATION (INCLUDING: FINE GRADING, SOIL PREPARATION (AMENDMENTS, FERTILIZERS, & WEED PREP.), MULCHING (RECYCLED ORGANIC) 3" THICK LAYER, AND TOPSOIL IMPORT- UP TO 2")	SQFT	6,362	0.30	1,908.60	1,65	10,497.30
61	000003	48" BOX TREES [INCLUDING: GUYING, 4" PERF. PVC TREE DRAIN TUBES WIDRAIN CAP, ROOT BARRIERS]	EA	n	1,800.00	5,400.00	2,000.00	6,000.00
62	000003	1 GALLON SHRUBS / GROUNDCOVER	EA	28	10.00	290.00	10.00	290.00
. 63	000003	5 GALLON SHRUBS / GROUNDCOVER	ΕA	337	13.00	4,381.00	22.00	7,414.00
64	000003	BOWSMITH SL200SERIES EMITTER W/ SALCO SLV-PVD-ACLXX FLEX RISER	ЕA	396		7,920.00	12.00	4,752.00
65	000003	HUNTER RZWS-36-50-CV DEEP TUBE BUBBLER	EA	9			85.00	510,00
99	000003	HUNTER IC-3600-M 36 STATION CONTROLLER	EA	-			4,400.00	4,400.00
29	000003	NIBCO T-113-K GATE VALVE - 2" / FITTINGS	Ш	-	375.00	375.00	220,00	220.00
89	000003	TRUE UNION BALL VALVE AT ECV - 2"	ЕA	2	375.00	750.00	185.00	370.00
69	000003	ELECTRIC CONTROL VALVE W/ PRESSREG/FITTINGS - 1"	EA	-	375.00	375.00	385.00	385.00
70	000003	DRIP VALVE ASSEMBLY - BALL VALVE, AC SOLENOID, FILTER, FITTINGS	Ā	2	400.00	800,008	110.00	220.00
71	000003	QUICK COUPLING VALVE	EA	τ-	375.00	375.00	155.00	155.00
72	000003	MANUAL FLUSH VALVE ASSEMBLY	EA	80	50.00	400.00	45.00	360.00
73	000003	NON- PRESSURE LATERAL LINE- SCH 40 - 3/4"	<u>u</u>	783	7.00	5,481.00	3.30	2,583.90
74	000003	PRESSURE SUPPLY LINE - SCH 40 - 2"	<u>"</u>	461		4,149.00	8.00	3,688.00
75	000003	GREEN PLASTIC STANDARD 10" ROUND VALVE BOX W/ SUMP/FILTER FAB.	EA	13	75.00	975.00	12.00	156.00

Rancho Calif.Roundabout.Rebid: Summary Web Updated: 11/02/11

Page 19 of 24

Riverside County Transportation Department Summary of Bids

Advertised: October 04, 2011 (Agenda Item: 3.25) Addenda: 1 (10/24/2011) Bids Open: 2 pm Date: Tuesday, November 01, 2011

PROJECT: Rancho California Road at Anza Road Roundabout Project

PROJECT No. B9-0957

					4		2	
		OPTION 1			All American Asphalt	#	EBS General Engineering Inc.	eering Inc.
ALTERNATE	ALTERNATE SCHEDULE 1A				Corona, CA 92878-2229	2229	Corona, CA 92879	
ITEM NO.	ITEM NO. ITEM CODE	CONTRACT ITEM	UNITS	QUANTITY	BID UNIT PRICE	BID ESTIMATE	BID UNIT PRICE	BID ESTIMATE
76	000003	GREEN PLASTIC STANDARD RECTILINEAR VALVE BOX W/ SUMP/FILTER FAB.	EA	3	100.00	300.00	27.00	81.00
77	000003	PVC SLEEVING - SCH40 - 2"	<u>L</u>	160	21.00	3,360.00	11.00	1,760.00
78	000003	PVC SLEEVING - SCH40 - 4"	片	200	15.00	3,000.00	22.00	4,400.00
79	000003	PVC SCH 40 CONDUIT - 1 1/2"	ㅂ	200	11.00	2,200.00	44.00	8,800.00
. 80	000003	14 GUAGE DIRECT BURIAL WIRE	<u>"</u>	14,544	0.40	5,817.60	0.45	6,544.80
81	000003	90 DAY MAINTENANCE PERIOD	rs	-	200.00	200.00	1,600.00	1,600.00
82	000003	MISCELLANEOUS DIRECTED WORK.	FA	1	100,000.00	100,000.00	100,000.00	100,000.00
		ALTERNATE SCHEDULE 1A SUBTOTAL						
		ITEMS 1 - 82				1,938,805.00		1,998,464.50

ALTERNATE 18 - RANCHO CALIFORNIA WATER DISTRICT

ITEM GODE							
	ST ITEM	UNITS	QUANTITY	UNITS QUANTITY BID UNIT PRICE	BID ESTIMATE	BID UNIT PRICE	BID ESTIMATE
	RANT ASSEMBLY	EA	4	9,850.00	39,400.00	10,000.00	40,000.00
		EA	-	3,900.00	3,900.00	4,000.00	4,000.00
85 SEMOVE AND RECONSTRUCT WATER QUALITY SAMPLE STATION ASSEMBLY	UALITY SAMPLE STATION ASSEMBLY	Ę	-	3,100.00	3,100.00	3,500.00	3,500.00
86 D000003 RECONSTRUCT AND RAISE VALVE RISER AND CAP ASSEMBLY TO GRADE	R AND CAP ASSEMBLY TO GRADE	Ε̈́Α	7	800.00	5,600.00	1,000.00	7,000.00
ALTERNATE SCHEDULE 1B SUBTOTAL	UBTOTAL						-
ITEMS 83-86					52,000.00		54,500.00

ALTERNATE 1C - RANCHO CALIFORNIA WATER DISTRICT

ITEM NO.	ITEM NO. ITEM CODE	CONTRACTITEM	NITS	QUANTITY	BID UNIT PRICE	BID ESTIMATE	BID UNIT PRICE	BID ESTIMATE
87	000003	FURNISH AND INSTALL BOX CULVERT LINING	H.	226	125.00	28,250.00	130.00	29,380.00
		ALTERNATE SCHEDULE 1C SUBTOTAL						
		ITEM 87				28,250.00		29,380.00

ALTERNATE 1D - RANCHO CALIFORNIA WATER DISTRICT

ITEM NO.	ITEM NO. ITEM CODE	CONTRACT ITEM	UNITS	QUANTITY	BID UNIT PRICE	BID ESTIMATE	BID UNIT PRICE	BID ESTIMATE
88	000003	FURNISH AND INSTALL MANHOLE / CATCH BASIN LINING	SQFT	722	20.00	14,440.00	20,00	14,440.00
		ALTERNATE SCHEDULE 1D SUBTOTAL						
		ITEM 88				14,440.00		14,440.00

ALTERNATE 1E - RANCHO CALIFORNIA WATER DISTRICT

ITEM NO.	ITEM NO. ITEM CODE	CONTRACT ITEM	STINO	QUANTITY	BID UNIT PRICE	BID ESTIMATE	BID UNIT PRICE	BID ESTIMATE
83	000003	000003 FURNISH AND INSTALL BOX CULVERT OUTSIDE LINING	느	171	155.00	26,505.00	165.00	28,215.00
		ALTERNATE SCHEDULE 1E SUBTOTAL						
		ITEM 89				26,505.00		28,215.00

PROJECT: Rancho California Road at Anza Road Roundabout Project

PROJECT No. B9-0957

Advertised: October 04, 2011 (Agenda Item: 3.25) Addenda: 1 (10/24/2011) Bids Open: 2 pm Date: Tuesday, November 01, 2011

2		Clock Colonia Parcel accounts in the colonia c						
					4		ю.	
		OPTION 1			All American Asphalt	it.	EBS General Engineering Inc.	eering Inc.
ALTERNATE	SCHEDULE 1F - F	ALTERNATE SCHEDULE 1F - RCP&OSD (EQUESTRIAN CROSSWALK PER EXHIBIT A)			Corona, CA 92878-2229		Corona, CA 92879	
ITEM NO.	ITEM NO. ITEM CODE	CONTRACT ITEM	UNITS	UNITS QUANTITY	BID UNIT PRICE	BID ESTIMATE	BID UNIT PRICE	BID ESTIMATE
06	000003	SOLAR POWERED PEDESTRIAN CROSSWALK FLASHING BEACON SYSTEM WITH EQUESTRIAN AND PEDESTRIAN PUSH BUTTONS	EA	2	3,100.00	6,200.00	3,200.00	6,400.00
91	000003	TYPE 1-A STANDARD (14" ALUMINUM)	EA	2	900.00	1,800.00	800.00	1,600.00
		ALTERNATE SCHEDULE 1F SUBTOTAL						
		ITEMS 90-91				8,000.00		8,000.00

ALTERNATE 1G - METROPOLITAN WATER DISTRICT

ITEM NO.	ITEM NO. ITEM CODE	CONTRACT ITEM	STIND	QUANTITY	UNITS QUANTITY BID UNIT PRICE	BID ESTIMATE	BID UNIT PRICE	BID ESTIMATE
92	000003	FURNISH AND INSTALL BOX CULVERT OUTSIDE LINING	5	45	185.00	8,325.00	195.00	8,775.00
93	000003	FURNISH AND INSTALL MANHOLE/ CATCH BASIN OUTSIDE LINING	EA	2	1,587.50	3,175.00	1,650.00	3,300.00
94	000003	FURNISH AND INSTALL OUTSIDE LINING (HDPE PIPE JOINTS)	EA	10	920,00	5,500.00	00'009	6,000.00
		ALTERNATE SCHEDULE 1G SUBTOTAL						
	-	ITEMS 92-94				17,000.00		18,075.00

	85,000.00 2,151,074.50
	2,0
OPTION 1 (ALTERNATE SCHEDULES 1A THROUGH 1G)	ITEMS 1 - 94

Riverside County Transportation Department Summary of Bids

Advertised: October 04, 2011 (Agenda Item: 3.25) Addenda: 1 (10/24/2011) Bids Open: 2 pm Date: Tuesday, November 01, 2011

PROJECT No. B9-0957

PROJECT: Rancho California Road at Anza Road Roundabout Project

					4		S.	
L 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	OPTION 2			All American Asphalt	it 2000	EBS General Engineering Inc.	eering Inc.
AL LEKNALE	AL IERNAIE SCHEDULE ZA	The state of the s			Corona, CA 928/8-2229	6777	Corona, CA 928/9	
ITEM NO.	ITEM CODE	CONTRACT ITEM	STIND	QUANTITY	BID UNIT PRICE	BID ESTIMATE	BID UNIT PRICE	BID ESTIMATE
92	120100	TRAFFIC CONTROL SYSTEM	r.s	-	00'000'09	00.000,00	83,000.00	83,000,00
96	066578	PORTABLE CHANGEABLE MESSAGE SIGNS	EA	ဖ	4,600.00	27,600.00	3,000.00	18,000.00
97	074020	WATER POLLUTION CONTROL	rs	,	20,000.00	20,000.00	21,000.00	21,000.00
86	170101	DEVELOP WATER SUPPLY	rs	+	3,000.00	3,000.00	3,500.00	3,500.00
66	066102	DUST ABATEMENT	S _T	-	10,000.00	10,000.00	5,000.00	5,000.00
100	160101	CLEARING AND GRUBBING	rs	-	48,259.80	48,259.80	115,000.00	115,000.00
101	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)[WARPED WINGWALL][CALTRANS STD D-868]	EA	-	14,800.00	14,800.00	15,300.00	15,300.00
102	510126	CLASS 2 CONCRETE (MINOR STRUCTURE) WINGWALL) (CALTRANS STD D-90)	E A	_	16,200.00	16,200.00	16,500.00	16,500.00
103	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)CONCRETE DROP INLET (RCFC & WCDS CB 110)	EA	-	4,300.00	4,300.00	4,500.00	4,500.00
104	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)[TRANSITION STRUCTURE NO.3]	Æ	-	3,000.00	3,000.00	3,200.00	3,200.00
105	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)[PCC FOREBAY]	Ā	,- -	7,700.00	7,700.00	7,800.00	7,800.00
106	510126	CLASS 2 CONCRETE (MINOR STRUCTURE) [CONCRETE COLLAR]	Æ		1,100.00	1,100.00	1,100.00	1,100.00
107	000003	CLASS 2 CONCRETE (MINOR STRUCTURE) [JUNCTION STRUCTURE]	щ	F	3,100.00	3,100.00	3,300,00	3,300.00
108	510126	CLASS 2 CONCRETE (MINOR STRUCTURE) [CATCH BASIN (COMBINATION INLET) (CRS 301)]	Ā	τ-	6,400.00	6,400.00	6,500.00	6,500.00
109	510126	CLASS 2 CONCRETE (MINOR STRUCTURE) [CATCH BASIN (CURB INLET) (CRS 300)]	щ	7	5,600.00	39,200.00	5,600.00	39,200.00
110	510126	CLASS 2 CONCRETE (MINOR STRUCTURE) [MANHOLE (RCFC&WCDS MH 251)]	Ę	က	4,000.00	20,000.00	4,100.00	20,500.00
111	510138	CLASS 2 CONCRETE (MINOR STRUCTURE) (WINGWALL (TYPE D)]CALTRANS STD 095)	БА	4	3,000,00	12,000.00	3,100.00	12,400.00
112	721007	ROCK SLOPE PROTECTION (1/4 TON, METHOD B)	Շ	58	155.00	8,990.00	155.00	8,990.00
113	729010	ROCK SLOPE PROTECTION FABRIC	SQFT	350	4.00	1,400.00	3.30	1,155.00
114	198021	IMPORTED ROCKY MATERIAL	Շ	ю	150.00	450.00	110.00	330.00
115	394002	PLACE ASPHALT CONCRETE (MISCELLANEOUS AREA)	SQFT	1,900	3.50	00.059,9	2.00	13,300.00
116	800300	CHAIN LINK FENCE [INCLUDING 14' DOUBLE DRIVE GATE]	느	620	18.50	11,470.00	19.00	11,780.00
117	641107	18" PLASTIC PIPE [HDPE - TYPE S]	<u>"</u>	730	215.00	156,950.00	220.00	160,600.00
118	641113	24" PLASTIC PIPE [HDPE - TYPE S]	щ.	867	220.00	190,740.00	220.00	190,740.00
119	641119	30" PLASTIC PIPE [HDPE - TYPE S]	ㅂ	4	260.00	1,040.00	250.00	1,000.00
120	641125	36 PLASTIC PIPE [HDPE - TYPE S]	<u>5</u>	17	260.00	4,420.00	255.00	4,335.00
121	000003 (F)	EXCAVATE BASIN TO GRADE, AND CONSTRUCT BERM INCLUDING EMBANKMENT	Շ	2,075	28,00	58,100.00	24.00	49,800.00
122	190101 (F)	ROADWAY EXCAVATION	ბ	4,500	28.00	126,000.00	32.00	144,000,00
123	000003	PRECAST REINFORCED CONCRETE BOX (3'X2')	5	116	515.00	59,740.00	230,00	61,480.00
124	000003	PRECAST REINFORCED CONCRETE BOX (4'X2')	느	253	580.00	146,740.00	595.00	150,535.00
125	705011	18" STEEL FLARED END SECTION	EA	<u>-</u>	00.009	00.009	250.00	220.00
126	013903	PLACE ASPHALT CONCRETE DIKE (CRS 212) (6")	片	230	13.00	2,990.00	11.00	2,530.00
127	013902	ASPHALT CONCRETE OVERSIDE DRAIN (CRS 306)	EA	9	1,000.00	6,000.00	2,500.00	15,000.00
128	260201	CLASS 2 AGGREGATE BASE	გ	3,990	36.00	143,640.00	27.00	107,730.00
129	390102	ASPHALT CONCRETE (TYPE A)	NOL	2,795	70.00	195,650.00	71.00	198,445.00
130	000003	COLOR STAMPED PORTLAND CEMENT CONCRETE PAVEMENT FOR TRUCK APRON (HIGH EARLY STRENGTH CONCRETE)	Շ	105	660.00	69,300.00	375.00	39,375.00
						7		

Rancho. Calif. Roundabout. Rebid: Summary Web Updated: 11/02/11

Riverside County Transportation Department Summary of Bids

Advertised: October 04, 2011 (Agenda Item: 3.25) Addenda: 1 (10/24/2011) Bids Open: 2 pm Date: Tuesday, November 01, 2011

PROJECT: Rancho California Road at Anza Road Roundabout Project

PROJECT No. B9-0957

					4		ا	
		OPTION 2			All American Asphalt	ii.	EBS General Engineering Inc.	eering Inc.
ALTERNATE	ALTERNATE SCHEDULE 2A				Corona, CA 92878-2229	2229	Corona, CA 92879	
ITEM NO.	ITEM CODE	CONTRACT ITEM	UNITS	QUANTITY	BID UNIT PRICE	BID ESTIMATE	BID UNIT PRICE	BID ESTIMATE
131	600000	MINOR CONCRETE (COLORED STAMPED CONCRETE SPLITTER ISLANDS)	SQFT	10,196	9:00	61,176.00	7.50	76,470.00
132	017304	MINOR CONCRETE (CURB AND GUTTER) (CRS 200)	<u>"</u>	3,550	17.00	60,350.00	14.00	49,700.00
133	731501	MINOR CONCRETE (CURB) [TYPE A1-6, CALTRANS STD A87A]	<u>"</u>	2,530	14.00	35,420.00	8.00	20,240.00
134	731501	MINOR CONCRETE (CURB) [TYPE A3-6, CALTRANS STD A87A]	H	300	14.00	4,200.00	12.00	3,600.00
135	017307	MINOR CONCRETE (TYPE C CURB) (CRS 202)	7	230	17.00	3,910.00	12.00	2,760.00
136	000003	MINOR CONCRETE CURB TRANSITION (CRS 212)	느	140	17.00	2,380.00	15.00	2,100.00
137	731623	MINOR CONCRETE (CURB RAMP) [CASE A WITH SIDEWALK APPROACH]	Ę	-	2,700.00	2,700.00	2,600.00	2,600.00
138	731623	MINOR CONCRETE (CURB RAMP) [CASE C WITH SIDEWALK APPROACH]	EA	-	2,700.00	2,700.00	2,600.00	2,600.00
139	731623	MINOR CONCRETE (CURB RAMP) [CASE F-1a WITH SIDEWALK APPROACH]	EA	9	2,700.00	16,200.00	2,600.00	15,600.00
140	000003	MINOR CONCRETE (SPLITTER ISLAND RAMP)	ËÀ	4	2,700.00	10,800.00	3,500.00	14,000.00
141	000003	MINOR CONCRETE (BIKE RAMP IINCLUDING SPILL GUTTER)	EA	9	2,700.00	16,200.00	2,600.00	15,600.00
142	000003	MINOR CONCRETE (CONCRETE RAMP INCLUDING SPILL GUTTER)	ËĀ	8	2,700,00	5,400.00	3,500,00	7,000.00
143	840504	4" THERMOPLASTIC TRAFFIC STRIPE	4	5,310	1.00	5,310.00	0.50	2,655.00
144	840505	6" THERMOPLASTIC TRAFFIC STRIPE	<u>"</u>	2,770	1.10	3,047.00	0.70	1,939.00
145	840506	8" THERMOPLASTIC TRAFFIC STRIPE	<u>L</u>	160	2.00	320.00	1.30	208.00
146	000003	6" THERMOPLASTIC TRAFFIC STRIPE (BROKEN 8FT-4FT)	<u>"</u>	200	1,50	300.00	09:0	120.00
147	000003	8" THERMOPLASTIC TRAFFIC STRIPE (BROKEN 4FT-2FT)	5	110	2.00	220.00	1.30	143.00
148	840519	THERMOPLASTIC CROSSWALK AND PAVEMENT MARKING	SQFT	815	4.00	3,260.00	4.50	3,667.50
149	850102	PAVEMENT MARKER (REFLECTIVE)	Ë	200	3.00	00'009	4,00	800.00
150	566011	ROADSIDE SIGN - ONE POST	Æ	. 22	215.00	11,825.00	240.00	13,200.00
151	000003	LANDSCAPE LIGHTING SYSTEM	۲S	-	15,000.00	15,000.00	20,000.00	20,000,00
152	000003	STREET LIGHTING SYSTEM	rs	-	5,000.00	5,000.00	7,500.00	7,500.00
153	000003	GROUND PREPARATION (INCLUDING: FINE GRADING, SOIL PREPARATION (AMENDMENTS, FERTILIZERS, & WEED PREP.), MULCHING (RECYCLED ORGANIC) 3" THICK LAYER, AND TOPSOIL IMPORT- UP TO 2")	SQFT	6,362	0.30	1,908.60	1.65	10,497.30
154	000003	48" BOX TREES [INCLUDING: GUYING, 4" PERF. PVC TREE DRAIN TUBES [W/DRAIN CAP, ROOT BARRIERS]	EA	က	1,800.00	5,400.00	2,000.00	6,000.00
155	000003	1 GALLON SHRUBS / GROUNDCOVER	EA	59	10.00	590.00	10.00	290.00
156	000003	5 GALLON SHRUBS / GROUNDCOVER	Α̈́	337	13.00	4,381.00	22.00	7,414.00
157	000003	BOWSMITH SL200SERIES EMITTER W/ SALCO SLV-PVD-ACLXX FLEX RISER	EA	396	20.00	7,920.00	12.00	4,752.00
158	000003	HUNTER RZWS-36-50-CV DEEP TUBE BUBBLER	Ā	9	100.00	00.009	85.00	510.00
159	000003	HUNTER IC-3600-M 36 STATION CONTROLLER	Ā	-	2,300.00	2,300.00	4,400.00	4,400.00
160	000003	NIBCO T-113-K GATE VALVE - 2" / FITTINGS	ĘĄ	-	375.00	375.00		220.00
161	000003	TRUE UNION BALL VALVE AT ECV - 2"	Æ	7	375.00	750.00	185.00	370.00
162	000003	ELECTRIC CONTROL VALVE W/ PRESSREG/FITTINGS - 1"	EA	-	375.00	375,00		385.00
163	000003	DRIP VALVE ASSEMBLY - BALL VALVE, AC SOLENOID, FILTER, FITTINGS	EA	2	400.00	800'00		220.00
164	000003	QUICK COUPLING VALVE	EA	-	375.00	375.00	155.00	155.00
165	000003	MANUAL FLUSH VALVE ASSEMBLY	EA	80	20.00	400.00	45.00	360.00
166	000003	NON- PRESSURE LATERAL LINE- SCH 40 - 3/4"	5	783	7.00	5,481.00		2,583.90
167	000003	PRESSURE SUPPLY LINE - SCH 40 - 2"	느	461	00.6	4,149.00	8.00	3,688,00
168	000003	GREEN PLASTIC STANDARD 10" ROUND VALVE BOX W/ SUMP/FILTER FAB.	EA	13	75.00	975.00	12.00	156.00

Riverside County Transportation Department Summary of Bids

Advertised: October 04, 2011 (Agenda Item: 3.25) Addenda: 1 (10/24/2011) Bids Open: 2 pm Date: Tuesday, November 01, 2011

PROJECT: Rancho California Road at Anza Road Roundabout Project

PROJECT No. B9-0957

					4		2	
		OPTION 2			All American Asphalt	±	EBS General Engineering Inc.	eering Inc.
ALTERNATE	ALTERNATE SCHEDULE 2A				Corona, CA 92878-2229	2229	Corona, CA 92879	
ITEM NO.	ITEM NO. ITEM CODE	CONTRACT ITEM	STINO	QUANTITY	BID UNIT PRICE	BID ESTIMATE	BID UNIT PRICE	· BID ESTIMATE
169	000003	GREEN PLASTIC STANDARD RECTILINEAR VALVE BOX W/ SUMP/FILTER FAB.	EA	8	100.00	300.00	27.00	81.00
170	000003	PVC SLEEVING - SCH40 - 2"	4	160	21.00	3,360.00	11.00	1,760.00
171	000003	PVC SLEEVING - SCH40 - 4"	4	200	15.00	3,000.00	22.00	4,400.00
172	000003	PVC SCH 40 CONDUIT - 1 1/2"	屿	200	11.00	2,200.00	44.00	8,800.00
173	000003	14 GUAGE DIRECT BURIAL WIRE	۳,	14,544	0.40	5,817.60	0.45	6,544.80
174	000003	90 DAY MAINTENANCE PERIOD	rs	-	200.00	500.00	1,600.00	1,600.00
175	000003	MISCELLANEOUS DIRECTED WORK	FA	1	100,000.00	100,000.00	100,000.00	100,000.00
		ALTERNATE SCHEDULE 2A SUBTOTAL						
		ITEMS 95-175				1,905,805.00		1,965,464.50

ALTERNATE 2B - RANCHO CALIFORNIA WATER DISTRICT

BID ESTIMATE	40,000,00	4,000.00	3,500.00	7,000.00		54,500.00
BID UNIT PRICE B	10,000.00	4,000.00	3,500.00	1,000.00		
BID ESTIMATE	39,400.00	3,900.00	3,100.00	5,600.00		52,000.00
UNITS QUANTITY BID UNIT PRICE	9,850.00	3,900.00	3,100.00	800.00		
QUANTITY	4	-	-	7		
UNITS	EA	ЕĄ	БĀ	E		
ITEM NO. ITEM CODE CONTRACT ITEM	REMOVE AND RECONSTRUCT FIRE HYDRANT ASSEMBLY	RELOCATE CP TEST STATION	REMOVE AND RECONSTRUCT WATER QUALITY SAMPLE STATION ASSEMBLY	RECONSTRUCT AND RAISE VALVE RISER AND CAP ASSEMBLY TO GRADE	ALTERNATE SCHEDULE 2B SUBTOTAL	ITEMS 176-179
ITEM NO. ITEM CODE	000003	000003	000003	000003		
ITEM NO.	176	177	178	179		

ALTERNATE 2C - RANCHO CALIFORNÍA WATER DISTRICT

ITEM NO.	TEM NO. ITEM CODE	CONTRACT ITÉM	STIND	QUANTITY	BID UNIT PRICE	BID ESTIMATE	BID UNIT PRICE	BID ESTIMATE
180	000003	FURNISH AND INSTALL BOX CULVERT LINING	ӈ	226	125.00	28,250.00	130.00	29,380.00
		ALTERNATE SCHEDULE 2C SUBTOTAL						
		ITEM 180				28,250.00		29,380.00

ALTERNATE 2D - RANCHO CALIFORNIA WATER DISTRICT

ITEM NO.	ITEM NO. ITEM CODE	CONTRACT ITEM	STINO	QUANTITY	BID UNIT PRICE	BID ESTIMATE	BID UNIT PRICE	BID ESTIMATE
181	000003	FURNISH AND INSTALL MANHOLE / CATCH BASIN LINING	SQFT	722	20.00	14,440.00	20.00	14,440.00
		ALTERNATE SCHEDULE 2D SUBTOTAL						
		ITEM 181				14,440.00		14,440.00

ALTERNATE 2E - RANCHO CALIFORNIA WATER DISTRICT

ITEM NO.	ITEM NO. ITEM CODE	CONTRACT ITEM	UNITS	UNITS QUANTITY F	BID UNIT PRICE	BID ESTIMATE	BID UNIT PRICE	BID ESTIMATE
182	000003	FURNISH AND INSTALL BOX CULVERT OUTSIDE LINING	4	171	155.00	26,505.00	165.00	28,215.00
		ALTERNATE SCHEDULE 2E SUBTOTAL						
		ITEM 182				26,505.00		28,215.00

Į							
-1		Ų,	Š,			Ö	
1			Ø				
ı			×		S		
-1		g:				á	
1		9			è		
1	8	£	S		۵		
1				8	8	ă	
ı						ĸ	
Į		я	М		S		
1	b	,-	4	i,			
1	B	•	۳	į.		8	
1	B	•	7				Ē
1	Ø	-	3	B		8	
Į	E	=	3				
1	F	***	ď		ĕ	8	
Į	B	*	۹	ĸ,			
ı	ď	7	1				
1	ø	٠	٠	B			
Į	Ŕ	_	_	1		á	
1	ø	4	J			ø	
Į	۲	~	1		Ø		
ı	Ľ	-	3			×	
١	30	98	۹				
1	8	*	9				
1	B		П		ä		
1	D		1	Ċ,			
1	Ľ		2			ă	
4	K	4	1				
1	Ľ	:	2				
	H	_	7				
	B	٩	1				
	8	-	1				
1	ä	7	٦	ā			
	H	٠	ч				
	B		ч			ä	
	g		1				
	ĕ	٠	4				
	n	н	ч			g	
	Ų	B	ø		ø		
	á	2	띡	á	ľ	r,	١
	ø	4	ń	d		4	1
	ø	*	1	ø	į.	_	ć
1	ä		7	ě	٠.	-	ł
ı	В	*	1	ŧ	3	8	Į
ı	ŝ	-	ï	2	ę,	8	
1	۲	×	٩		۲	-	ţ
1	Ľ	=	Z		L	:	è
4		М	×		Ľ	ų	ĕ
ŀ	ã	۷.	d	á	۲	á	ė
j	b		٠,		ř	÷	j
1	ť	2	1		Ĺ	ı.	ì
1	K	1	'n		ľ		ł
	И	4	9		Ĺ	=	1
- 3	Ŕ	1	П		ľ		ł
	ĺ	:	4		Ĕ.	*	1
	β	•	4		ř		1
	ľ	ď	2	ď	7	7	١
	L		2	Á	ú	Ĺ	i

Advertised: October 04, 2011 (Agenda Item: 3.25) Addenda: 1 (10/24/2011) Bids Open: 2 pm Date: Tuesday, November 01, 2011

PROJECT: Rancho California Road at Anza Road Roundabout Project

PROJECT No. B9-0957

					4		\$	
		OPTION 2			All American Asphalt	Ħ	EBS General Engineering Inc.	eering Inc.
ALTERNATE	SCHEDULE 2F - F	ALTERNATE SCHEDULE 2F - RCP&OSD (EQUESTRIAN CROSSWALK PER EXHIBIT A)			Corona, CA 92878-2229	2229	Corona, CA 92879	
ITEM NO.	ITEM NO. ITEM CODE	CONTRACT ITEM	UNITS	UNITS QUANTITY	BID UNIT PRICE	BID ESTIMATE	BID UNIT PRICE	BID ESTIMATE
183	000003	SOLAR POWERED PEDESTRIAN CROSSWALK FLASHING BEACON SYSTEM WITH EQUESTRIAN AND PEDESTRIAN PUSH BUTTONS	EA	2	3,100.00	6,200.00	3,200.00	6,400.00
184	000003	TYPE 1-A STANDARD (14" ALUMINUM)	EA	2	00'006	1,800.00	800.00	1,600.00
		ALTERNATE SCHEDULE 2F SUBTOTAL						
		ITEMS 183-184				8,000.00		8,000.00

ALTERNATE 2G - METROPOLITAN WATER DISTRICT

ITEM NO.	ITEM NO. ITEM CODE	CONTRACT ITEM	UNITS	JNITS QUANTITY	BID UNIT PRICE	BID ESTIMATE	BID UNIT PRICE	BID ESTIMATE
185	000003	FURNISH AND INSTALL BOX CULVERT OUTSIDE LINING	5	45	185.00	8,325.00	195.00	8,775.00
186	000003	FURNISH AND INSTALL MANHOLE/ CATCH BASIN OUTSIDE LINING	Ε¥	2	1,587.50	3,175.00	1,650.00	3,300.00
187	000003	FURNISH AND INSTALL OUTSIDE LINING [HDPE PIPE JOINTS]	Ę	10	550.00	5,500.00	00.009	6,000.00
		ALTERNATE SCHEDULE 2G SUBTOTAL						
		ITEMS 185-187				17,000.00		18,075.00

4,269,149.00	4,137,000.00	TEMS 1-187
		PROJECT TOTAL (OPTION 1 TOTAL + OPTION 2 TOTAL)

2,118,074.50

2,052,000.00

OPTION 2 (ALTERNATE SCHEDULES 2A THROUGH 2G) ITEMS 95-187

ORIGINAL

CONTRACTOR'S PROPOSAL

10:	COUNTY OF RIVERSIDE	DATE: 11/01/2011
	hereafter called "County":	
BIDD	ER: Mamco, Inc.	
	(hereafter called "Con	tractor")
the cor PROJ	UNDERSIGNED, Contractor, having carefully examinatruction of RANCHO CALIFORNIA ROAD AT UECT IN THE COUNTY OF RIVERSIDE, PROJECT the work in accordance with the Contract Document for the amount stated in this Propo	ANZA ROAD ROUNDABOUT CCT No. B9-0957 hereby proposes to ents, including Addenda

By submitting this Proposal, Contractor agrees with County:

- 1. That unless withdrawn in person by Contractor or some person authorized in writing by Contractor not by telephone or telegram before the time specified in the Notice Inviting Bids for the public opening of bids, this Proposal constitutes an irrevocable offer for 90 calendar days after that date.
- 2. County has the right to reject any or all Proposals and to waive any irregularities or informalities contained in a Proposal.
- 3. To execute the Agreement and deliver the Faithful Performance Bond, Payment Bond and Insurance Certificate with endorsements, which comply with the requirements set forth in the Instructions to Bidders and General Conditions, within ten (10) working days of the date of the Notice of Acceptance of Proposal and Intent to Award as issued by the County of Riverside.
- 4: That the contract shall be awarded upon a resolution or minute order to that effect duly adopted by the governing body of County; and that execution of the Contract Documents shall constitute a written memorial thereof.
- 5. To submit to County such information as County may require to determine whether a particular Proposal is the lowest responsible bid submitted.

- 6. That the accompanying certified or cashier's check or Bid Bond is in an amount not less than 10% of the total bid submitted and constitutes a guarantee that if awarded the contract, Contractor will execute the Agreement and deliver the required bonds within ten (10) days after notice of award. If Contractor fails to execute and deliver said documents, the check or bond is to be charged with the costs of the resultant damages to County, including but not limited to publication costs, the difference in money between the amount bid and the amount in excess of the bid which it costs County to do or cause to be done the work involved, lease and rental costs, additional salaries and overhead, increased interest and costs of funding the project, attorney expense, additional engineering and architectural expense and cost of maintaining or constructing alternate facilities occasioned by the failure to execute and deliver said documents.
- 7. By signing this proposal the Contractor certifies that the representations made therein are made under penalty of perjury.

BIDDER DATA:

Name of Bidder Mamco, Inc.
Type of Organization Corporation
Person(s) Authorized to Sign for Bidder Rumzi AlAbbasi, Marwan AlAbbasi, Elizabeth
Alabbasi. Please see attached corporate resolution.
Address16810 Van Buren Blvd. #200
Riverside, CA 92504 Phone 951.776.9300
Contractor's License 883649- Type A & B
Type & Number Expiration Date 09/30/2012
8. DESIGNATION OF SUBCONTRACTORS: Contractor submits the following complete list of each subcontractor who will perform work or labor or render service in or about the construction in an amount in excess of 1/2 of 1% of the total bid. ITEM SUBCONTRACTOR 21,32,35,56,115,126,127,129 Havdy the per 1312 E. warner the Saha Fray CH 218962 22,116 Hemet Frage 125959 Juni per Rd Hereland, CH 218962 23,116 Hemet Frage 125959 Juni per Rd Hereland, CH 218962 25959 Juni per Rd Hereland, CH 2189
IN WITNESS WHEREOF Contractor executed this Proposal as of the date set forth on Page 1 of this proposal. Rumzi AlAbbasi TITLE Vice President "Contractor"

RANCHO CALIFORNIA ROAD AT ANZA ROAD ROUNDABOUT PROJECT

PROJECT No. B9-0957

PROPOSAL-OPTION 1

	RNATE SCHE	DULE 1A				
ITEM No.	CODE	ITEM	UNIT	ESTIMATED QUANTITY	ITEM PRICE (IN FIGURES)	TOTAL (IN FIGURES)
	400400			, 	1 25	·
1	120100	TRAFFIC CONTROL SYSTEM	LS	1	35,000	35,000
2	066578	PORTABLE CHANGEABLE MESSAGE SIGNS	EA	6	\$2,000.00	\$12,000.00
3	074020	WATER POLLUTION CONTROL	LS	1	\$14,300.00	\$14,300.00
4	170101	DEVELOP WATER SUPPLY	LS	1	\$18,500.00	\$18,500.00
5	066102	DUST ABATEMENT .	LS	1	\$5,000.00	\$5,000.00
6	160101	CLEARING AND GRUBBING	LS	1	\$47,200.00	\$47,200.00
7	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)(WARPED WINGWALL)[CALTRANS STD D-86B]	EA	1	\$5,200.00	\$5,200.00
8	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)(WINGWALL)(CALTRANS STD D-90)	EA	1	\$5,700.00	\$5,700.00
9	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)CONCRETE DROP INLET (RCFC & WCDS CB 110)	EA	1	\$2,400.00	\$2,400.00
10	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)[TRANSITION STRUCTURE NO.3]	EA	1	\$2,800.00	\$2,800.00
11	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)(PCC FOREBAY)	EA	1	\$5,100.00	\$5,100.00
12	510126	CLASS 2 CONCRETE (MINOR STRUCTURE) [CONCRETE COLLAR]	EA	1	\$2,300.00	\$2,300.00
13	000003	CLASS 2 CONCRETE (MINOR STRUCTURE) (JUNCTION STRUCTURE)	EA	1	\$1,500.00	\$1,500.00
14	510126	CLASS 2 CONCRETE (MINOR STRUCTURE) [CATCH BASIN (COMBINATION INLET) (CRS 301)]	EA	1	\$4,000.00	\$4,000.00
15	510126	CLASS 2 CONCRETE (MINOR STRUCTURE) [CATCH BASIN (CURB INLET) (CRS 300)]	EA	7	\$3,700.00	\$3,700.00
18	510126	CLASS 2 CONCRETE (MINOR STRUCTURE) [MANHOLE (RCFC&WCDS MH 251)]	EA	5	\$3,000.00	\$3,000.00
17	510138	CLASS 2 CONCRETE (MINOR STRUCTURE) [WINGWALL (TYPE D)][CALTRANS STD D85]	EA	4	\$1,800.00	\$7,200.00
18	721007	ROCK SLOPE PROTECTION (1/4 TON, METHOD B)	CY	58	\$100.00	\$5,800.00
19	729010	ROCK SLOPE PROTECTION FABRIC	SQFT	350	\$3.00	\$1,050.00
20	198021	IMPORTED ROCKY MATERIAL	CY	3	\$550.00	\$1,650.00
21	394002	· · · · · · · · · · · · · · · · · · ·	SQFT	1,900	4	7,600
22	800300	CHAIN LINK FENCE [INCLUDING 14' DOUBLE DRIVE GATE]	LF	620	18	11,160
23	641107	18" PLASTIC PIPE [HDPE - TYPE S]	LF	730	\$65.00	\$47,450.00
24	641113	24" PLASTIC PIPE [HDPE - TYPE S]	LF	867	\$70.00	\$60,690.00

Note: See 'instructions to Bidders' item 11, Bids, (Page A3-A4). "Like Bid Item" bidding requirement does not apply to this project.

	NATE SCHED	ULE 1A		-	;	
ITEM No.	CODE	ITĘM	UNIT	ESTIMATED QUANTITY	ITEM PRICE (IN FIGURES)	TOTAL (IN FIGURES)
25	04440				I	1 40 000 00
20	641119	30" PLASTIC PIPE [HDPE - TYPE S]	LF	.4	\$500.00	\$2,000.00
26	641125	36" PLASTIC PIPE [HDPE - TYPE S]	LF	17	\$125.00	\$2,125.00
27	000003 (F)	EXCAVATE BASIN TO GRADE, AND CONSTRUCT BERM INCLUDING EMBANKMENT	CY	2,075	\$18.00	\$37,350.00
28	190101 (F)	ROADWAY EXCAVATION	CY	4,500	\$25.00	\$112,500.00
29	000003	PRECAST REINFORCED CONCRETE BOX (3'X2')	LF	116	\$390.00	\$45,240.00
30	000003	PRECAST REINFORCED CONCRETE BOX (4'X2')	LF	253	\$390.00	\$98,670.00
31	705011	18" STEEL FLARED END SECTION	EA	1	\$750.00	\$750.00
32	013903	PLACE ASPHALT CONCRETE DIKE (CRS 212) (6")	LF	230	14	3,220
33	013902	ASPHALT CONCRETE OVERSIDE DRAIN (CRS 306)	EA	6	160	960
34	260201	CLASS 2 AGGREGATE BASE	CY	3,990	\$30.00	\$119,700.00
35	390102	ASPHALT CONCRETE (TYPE A)	TON	2,795	76	212,420
36	000003	COLOR STAMPED PORTLAND CEMENT CONCRETE PAVEMENT FOR TRUCK APRON (HIGH EARLY STRENGTH CONCRETE)	CY	105	\$400.00	\$42,000.00
37	000003	MINOR CONCRETE (COLORED STAMPED CONCRETE SPLITTER ISLANDS)	SQFT	10,196	\$4.20	\$42,823.20
38	017304	MINOR CONCRETE (CURB AND GUTTER) (CRS 200)	LF	3,550	\$15.00	\$53,250.00
39	731501	MINOR CONCRETE (CURB) [TYPE A1-6, CALTRANS STD A67A]	LF	2,530	\$12.00	\$30,360.00
40	731501	MINOR CONCRETE (CURB) (TYPE A3-6, CALTRANS STD A87A)	LF	300	\$15.00	\$4,500.00
41	017307	MINOR CONCRETE (TYPE C CURB) (CRS 202)	LF	230	\$14.50	\$3,335.00
42	000003	MINOR CONCRETE CURB TRANSITION (CRS 212)	ĻF	140	\$16.00	\$2,240.00
43	731623	MINOR CONCRETE (CURB RAMP) [CASE A WITH SIDEWALK APPROACH]	EA	1	\$2,000.00	\$2,000.00
44	731023	MINOR CONCRETE (CURB RAMP) [CASE C WITH SIDEWALK APPROACH]	EA	1	\$1,750.00	\$1,750.00
45		MINOR CONCRETE (CURB RAMP) [CASE F-1a WITH SIDEWALK APPROACH]	EA	6	\$1,750.00	\$1,750.00
46	000003	MINOR CONCRETE (SPLITTER ISLAND RAMP)	EA	4	\$2,000.00	\$8,000.00
47	000003	MINOR CONCRETE (BIKE RAMP IINCLUDING SPILL GUTTER)	EA	6	\$600.00	\$3,600.00
48		MINOR CONCRETE (CONCRETE RAMP INCLUDING SPILL GUTTER)	EA	2	\$800.00	\$1,600.00
49	840504	4" THERMOPLASTIC TRAFFIC STRIPE	LF	5,310	\$0.50	\$2,655.00
50	840505	6" THERMOPLASTIC TRAFFIC STRIPE	LF	2,770	\$0.72	\$1,944.40
51	840506	8" THERMOPLASTIC TRAFFIC STRIPE	LF	160	\$1.40	\$224.00
52	000003	6" THERMOPLASTIC TRAFFIC STRIPE (BROKEN 8FT- 4FT)	LF	200	\$0.60	\$120.00
						<u> </u>

ALTERNATE SCHEDULE 1A

ITEM No.	ITEM CODE	ITEM	UNIT	ESTIMATED QUANTITY	ITEM PRICE (IN FIGURES)	TOTAL (IN FIGURES)
53	000003	8" THERMOPLASTIC TRAFFIC STRIPE (BROKEN 4FT- 2FT)	LF	110	\$1.35	\$ 148.50
54	840519	THERMOPLASTIC CROSSWALK AND PAVEMENT MARKING	SQFT	815	4.70	3,830.50
55	850102	PAVEMENT MARKER (REFLECTIVE)	EA	200	4.20	840
56	000003	TEMPORARY ASPHALT CONCRETE	TON	300	87	26,100
57	566011	ROADSIDE SIGN - ONE POST	EA	55	250	13,750
58	000003	LANDSCAPING LIGHTING SYSTEM	LS	1	15,000	15,000
59	000003	STREET LIGHTING SYSTEM	LS	1	9,500	9,500
60	000003	GROUND PREPARATION [INCLUDING: FINE GRADING, SOIL PREPARATION (AMENDMENTS, FERTILIZERS, & WEED PREP.), MULCHING (RECYCLED ORGANIC) 3" THICK LAYER, AND TOPSOIL IMPORT- UP TO 2"]	SQFT	6,362	2.20	13,996.40
61	000003	48" BOX TREES [INCLUDING: GUYING, 4" PERF. PVC TREE DRAIN TUBES W/DRAIN CAP, ROOT BARRIERS]	EA	3	1,900.00	\$5,700,00
62	000003	1 GALLON SHRUBS / GROUNDCOVER	EA	59	11	649
63	000003	5 GALLON SHRUBS / GROUNDCOVER	EA	337	117	39,429.00
64	000003	BOWSMITH SL200SERIES EMITTER W/ SALCO SLV- PVD-ACLXX FLEX RISER	EA	396	10	3,960
65	000003	HUNTER RZWS-36-50-CV DEEP TUBE BUBBLER	EA	6	. 77	462
66	000003	HUNTER IC-3600-M 36 STATION CONTROLLER	EA	1	1,450	1,450
67	000003	NIBCO T-113-K GATE VALVE - 2" / FITTINGS	EΑ	1	265	265
68	000003	TRUE UNION BALL VALVE AT ECV - 2"	EA	2	200	400
69	000003	ELECTRIC CONTROL VALVE W/ PRESSREG/FITTINGS - 1"	EA	1	255	255
70	000003	DRIP VALVE ASSEMBLY - BALL VALVE, AC SOLENOID, FILTER, FITTINGS	EA	2	300	600
71	000003	QUICK COUPLING VALVE	EΑ	1	Z80	280
72	000003	MANUAL FLUSH VALVE ASSEMBLY	EA	8	65	520
73	000003	NON- PRESSURE LATERAL LINE- SCH 40 - 3/4"	LF	783	5.30	4,149.90
74	000003	PRESSURE SUPPLY LINE - SCH 40 - 2"	LF	461	8	3,688
75	000003	GREEN PLASTIC STANDARD 10" ROUND VALVE BOX W/ SUMP/FILTER FAB.	EA	13	55	7/5
76	000003	GREEN PLASTIC STANDARD RECTILINEAR VALVE BOX W/ SUMP/FILTER FAB.	EA	3	90	270
77	000003	PVC SLEEVING - SCH40 - 2"	LF	160	7. 25	1,160

	NATE SCHE	DULE 1A				
TEM No.	CODE	ITEM	UNIT	ESTIMATED QUANTITY	ITEM PRICE (IN FIGURES)	TOTAL (IN FIGURES)
78	000003	PVC SLEEVING - SCH40 - 4"	LF	200	12	2,400
79	000003	PVC SCH 40 CONDUIT - 1 1/2"	LF	200	7	1,400
80	000003	14 GAUGE DIRECT BURIAL WIRE	LF	14,544	.45	6,544.80
81	000003	90 DAY MAINTENANCE PERIOD	LS	1	Z,000	z,000
82	000003	MISCELLANEOUS DIRECTED WORK	FA	1	\$100,000.00	\$100,000.0
	NATE 1A	,				\$ 1,449,8
SUBT(TEMS		"WORDS"				\$ 1, 11,0
				·	•	
LTER	NATE 1B- RA ITEM	NCHO CALIFORNIA WATER DISTRICT:	Г	ESTIMATED	ITEM PRICE	TOTAL
No.	CODE	ITEM	UNIT	QUANTITY	(IN FIGURES)	(IN FIGURES)
83	000003	REMOVE AND RECONSTRUCT FIRE HYDRANT ASSEMBLY	EA	4	4,700	18,800
84	000003	RELOCATE CP TEST STATION	EA	1	1,200	1,200
85	000003	REMOVE AND RECONSTRUCT WATER QUALITY SAMPLE STATION ASSEMBLY	EA	1	2,000	2,000
86	000003	RECONSTRUCT AND RAISE VALVE RISER AND CAP ASSEMBLY TO GRADE	'EA	7	350	2,450
	NATE 1B					\$ 74,45
UBTO FEMS	83-86	"WORDS"				\$ -7190
LTERI	ATIVE 1C-R	ANCHO CALIFORNIA WATER DISTRICT:				
TEM No.	CODE	ITEM	TINU	ESTIMATED QUANTITY	ITEM PRICE (IN FIGURES)	TOTAL (IN FIGURES)
87	000003	FURNISH AND INSTALL BOX CULVERT LINING	LF	226	125	28,250
	NATE 1C					\$ 28, 25 C
UBTO EM 8		"WORDS"				\$ 20, 4)
TERN.	IATIVE 1D- R	ANCHO CALIFORNIA WATER DISTRICT:				
TEM No.	CODE	ITEM	UNIT	ESTIMATED QUANTITY	ITEM PRICE (IN FIGURES)	TOTAL (IN FIGURES)
88	000003	FURNISH AND INSTALL MANHOLE / CATCH BASIN LINING	SQFT	722		
TED	JATE 4D	<u></u>	<u> </u>			8,664 \$ 8,664
UBTO			<u>-</u>			\$ 8,669
EM 88	3	"WORDS"				•

ITEM		RANCHO CALIFORNIA WATER DISTRICT:				
No.	CODE	ITEM	UNIT	ESTIMATED QUANTITY	ITEM PRICE (IN FIGURES)	TOTAL (IN FIGURES)
89	000003	FURNISH AND INSTALL BOX CULVERT OUTSIDE LINING	LF	171	130	22,230
	RNATE 1E OTAL:	•				\$ 22, 23
EMS	89	"WORDS"				_ \$
TEM No.	ITEM CODE	CP&OSD (EQUESTRIAN CROSSWALK PER EXHIBIT A):	UNIT	ESTIMATED QUANTITY	ITEM PRICE (IN FIGURES)	TOTAL (IN FIGURES)
90	000003	INSTALL COUNTY FURNISHED SOLAR POWERED PEDESTRIAN CROSSWALK FLASHING BEACON SYSTEM WITH EQUESTRIAN AND PEDESTRIAN PUSH BUTTONS	EA	2	1,350	2,700
91	000003	INSTALL COUNTY FURNISHED TYPE 1-A STANDARD (14' ALUMINUM) POLE	EA	2	1,450	2,900
UBTO	RNATE 1F OTAL:					\$5,600
EM5	90-91	"WORDS"				_ \$ <u>0,000</u>
		"WORDS"				\$ <u>0,000</u>
LTER TEM		"WORDS" IETROPOLITAN WATER DISTRICT ITEM	UNIT	ESTIMATED QUANTITY	ITEM PRICE (IN FIGURES)	TOTAL (IN FIGURES)
LTER TEM	NATIVE 1G- A	IETROPOLITAN WATER DISTRICT	UNIT			TOTAL
LTER TEM No.	NATIVE 1G- N ITEM CODE	IETROPOLITAN WATER DISTRICT ITEM FURNISH AND INSTALL BOX CULVERT OUTSIDE		QUANTITY	(IN FIGURES)	TOTAL (IN FIGURES)
LTER TEM No.	NATIVE 1G- N ITEM CODE 000003	IETROPOLITAN WATER DISTRICT ITEM FURNISH AND INSTALL BOX CULVERT OUTSIDE LINING FURNISH AND INSTALL MANHOLE/ CATCH BASIN	LF	QUANTITY 45	(IN FIGURES)	total (in figures)
NO. 92 93 94	NATIVE 1G- N ITEM CODE 000003 000003	FURNISH AND INSTALL MANHOLE/ CATCH BASIN OUTSIDE LINING FURNISH AND INSTALL MANHOLE/ CATCH BASIN OUTSIDE LINING FURNISH AND INSTALL OUTSIDE LINING [HDPE PIPE	LF EA	QUANTITY 45 2	(IN FIGURES) 140 3,000	TOTAL (IN FIGURES) 6,300 6,000 4,350
LTER No. 92 93 94 LTER UBTO	NATIVE 1G- N ITEM CODE 000003 000003	FURNISH AND INSTALL MANHOLE/ CATCH BASIN OUTSIDE LINING FURNISH AND INSTALL MANHOLE/ CATCH BASIN OUTSIDE LINING FURNISH AND INSTALL OUTSIDE LINING [HDPE PIPE	LF EA	QUANTITY 45 2	(IN FIGURES) 140 3,000	total (in figures)
No. 92 93 94 ALTER SUBTO	NATIVE 1G- 8	ITEM FURNISH AND INSTALL BOX CULVERT OUTSIDE LINING FURNISH AND INSTALL MANHOLE/ CATCH BASIN OUTSIDE LINING FURNISH AND INSTALL OUTSIDE LINING [HDPE PIPE JOINTS]	LF EA	QUANTITY 45 2	(IN FIGURES) 140 3,000	TOTAL (IN FIGURES) 6,300 6,000 4,350 \$16,650
No. 92 93 94 ALTER BUBTC	NATIVE 1G- N ITEM CODE 000003 000003 000003 NATE 1G DTAL: 92-94	ITEM FURNISH AND INSTALL BOX CULVERT OUTSIDE LINING FURNISH AND INSTALL MANHOLE/ CATCH BASIN OUTSIDE LINING FURNISH AND INSTALL OUTSIDE LINING [HDPE PIPE JOINTS] "WORDS"	LF EA	QUANTITY 45 2	(IN FIGURES) 140 3,000	TOTAL (IN FIGURES) 6,300 6,000 4,350

RANCHO CALIFORNIA ROAD AT ANZA ROAD ROUNDABOUT PROJECT

PROJECT No. B9-0957

PROPOSAL-OPTION 2

No.	ITEM CODE	ITEM	UNIT	ESTIMATED QUANTITY	ITEM PRICE (IN FIGURES)	TOTAL (IN FIGURES)
95	120100	TRAFFIC CONTROL SYSTEM	LS	1	9.000	9,000
96	066578	PORTABLE CHANGEABLE MESSAGE SIGNS	EA	6	2,000	12,000
97	074020	WATER POLLUTION CONTROL	LS	1	12,500	12,500
98	170101	DEVELOP WATER SUPPLY	LS	1	15,000	15,000
99	066102	DUST ABATEMENT	LS	1	4,500	4,500
100	160101	CLEARING AND GRUBBING	LS	1	35,000	35,000
101	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)(WARPED WINGWALL](CALTRANS STD D-86B)	EA	1	5,200	5,200
102	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)[WINGWALL][CALTRANS STD D-90]	EA	1	5,700	5,700
103	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)CONCRETE DROP INLET (RCFC & WCDS CB 110)	EA	1	2,400	2,400
104	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)[TRANSITION STRUCTURE NO.3]	EA	1	2,800	2,800
105	510126	CLASS 2 CONCRETE (MINOR STRUCTURE)[PCC FOREBAY]	EA	1	5.100	5,100
106	5101 26	CLASS 2 CONCRETE (MINOR STRUCTURE) [CONCRETE COLLAR]	EA	1	2 300	2,300
107	000003	CLASS 2 CONCRETE (MINOR STRUCTURE) [JUNCTION STRUCTURE]	EA	1	1,500	1,500
108	510126	CLASS 2 CONCRETE (MINOR STRUCTURE) [CATCH BASIN (COMBINATION INLET) (CRS 301)]	EA	1	4,000	4,000
109	510126	CLASS 2 CONCRETE (MINOR STRUCTURE) [CATCH BASIN (CURB INLET) (CRS 300)]	EA	7	3,700	25:900
110	510126	CLASS 2 CONCRETE (MINOR STRUCTURE) [MANHOLE (RCFC&WCDS MH 251)]	EA	5	3,000	15,000
111	510138	CLASS 2 CONCRETE (MINOR STRUCTURE) [WINGWALL (TYPE D)][CALTRANS STD D85]	EA	4	1,800	7,200
112	721007	ROCK SLOPE PROTECTION (1/4 TON, METHOD B)	CY	58	100	5,800
113	729010	ROCK SLOPE PROTECTION FABRIC	SQFT	350	3	1,050
114	198021	IMPORTED ROCKY MATERIAL	CY	3	550	1,650
115	394002	PLACE ASPHALT CONCRETE (MISCELLANEOUS AREA)	SQFT	1,900	4	7,600
116	800300	CHAIN LINK FENCE [INCLUDING 14' DOUBLE DRIVE GATE]	LF	620	18	11,160
117	641107	18" PLASTIC PIPE [HDPE - TYPE S]	LF	730	62	45,260
118	641113	24" PLASTIC PIPE [HDPE - TYPE S]	LF	867	68	58 956

Note: See 'Instructions to Bidders' item 11, Bids, (Page A3-A4). "Like Bid Item" bidding requirement does not apply to this project.

No.	CODE	ITEM	UNIT	ESTIMATED QUANTITY	ITEM PRICE (IN FIGURES)	TOTAL (IN FIGURES)
						
119	641119	30" PLASTIC PIPE (HDPE - TYPE S)	LF	4	450	1,800
120	641125	36" PLASTIC PIPE [HDPE - TYPE S]	LF	17	120	2,040
121	000003 (F)	EXCAVATE BASIN TO GRADE, AND CONSTRUCT BERM INCLUDING EMBANKMENT	CY	2,075	18	37.356
122	190101 (F)	ROADWAY EXCAVATION	CY	4,500	23	103,500
123	000003	PRECAST REINFORCED CONCRETE BOX (3'X2')	LF	116	370	42,920
124	000003	PRECAST REINFORCED CONCRETE BOX (4'X2')	LF	253	360	91,080
125	705011	18" STEEL FLARED END SECTION	. EA	1	600	600
126	013903	PLACE ASPHALT CONCRETE DIKE (CRS 212) (6")	LF	230	14	3,220
127	013902	ASPHALT CONCRETE OVERSIDE DRAIN (CRS 306)	EA	6	160	960
128	260201	CLASS 2 AGGREGATE BASE	CY	3,990	29	115,710
129	390102	ASPHALT CONCRETE (TYPE A)	TON	2,795	75	209.629
130	000003	COLOR STAMPED PORTLAND CEMENT CONCRETE PAVEMENT FOR TRUCK APRON (HIGH EARLY STRENGTH CONCRETE)	CY	105	380	39 900
131	000003	MINOR CONCRETE (COLORED STAMPED CONCRETE' SPLITTER ISLANDS)	SQFT	10,196	4.10	41,803.
132	017304	MINOR CONCRETE (CURB AND GUTTER) (CRS 200)	LF	3,550	14.50	5 1475
133	731501	MINOR CONCRETE (CURB) TYPE A1-6, CALTRANS STD A87A]	LF	2,530	11.50	29.095
134	731501	MINOR CONCRETE (CURB) [TYPE A3-6, CALTRANS STD A87A]	LF	300	14,50	4,350
135	017307	MINOR CONCRETE (TYPE C CURB) (CRS 202)	LF	230	14,00	3,220
136	000003	MINOR CONCRETE CURB TRANSITION (CRS 212)	LF	140	15.50	2,170
137	731623	MINOR CONCRETE (CURB RAMP) [CASE A WITH SIDEWALK APPROACH]	EA	. 1	1,800	1,800
138	731623	MINOR CONCRETE (CURB RAMP) [CASE C WITH SIDEWALK APPROACH]	ÉA	1	1,650	1,650
139	731623	MINOR CONCRETE (CURB RAMP) [CASE F-1a WITH SIDEWALK APPROACH]	EA	6	1,650	9,900
140	000003	MINOR CONCRETE (SPLITTER ISLAND RAMP)	EA	4	1,800	7,200
141	000003	MINOR CONCRETE (BIKE RAMP IINCLUDING SPILL GUTTER)	EA	6	450	2,700
142	000003	MINOR CONCRETE (CONCRETE RAMP INCLUDING SPILL GUTTER)	EA	2	700	1,400
143	840504	4" THERMOPLASTIC TRAFFIC STRIPE	LF	5,310	0.50	2,655
144	840505	6" THERMOPLASTIC TRAFFIC STRIPE	LF	2,770	0.72	1,994.40
145	840506	8" THERMOPLASTIC TRAFFIC STRIPE	LF	160	1,40	224
146		6" THERMOPLASTIC TRAFFIC STRIPE (BROKEN 8FT- 4FT)	LF	200	0,60	120

Note: See 'Instructions to Bidders' item 11, Bids, (Page A3-A4). "Like Bid Item" bidding requirement does not apply to this project.

ITEM	ITEM	ITEM	UNIT	ESTIMATED	ITEM PRICE	TOTAL
No.	CODE			QUANTITY	(IN FIGURES)	(IN FIGURES)
147	000003	8" THERMOPLASTIC TRAFFIC STRIPE (BROKEN 4FT- 2FT)	LF	110	1,35	148.50
148	840519	THERMOPLASTIC CROSSWALK AND PAVEMENT MARKING	SQFT	815	4.70	3,830.50
149	850102	PAVEMENT MARKER (REFLECTIVE)	EA	200	4.20	840
150	566011	ROADSIDE SIGN - ONE POST	EA	55	250	13,750
151	000003	LANDSCAPING LIGHTING SYSTEM	LS	1	16,000	16,000
152	000003	STREET LIGHTING SYSTEM	LS	1	11,000	11,000
153	000003	GROUND PREPARATION [INCLUDING: FINE GRADING, SOIL PREPARATION (AMENDMENTS, FERTILIZERS, & WEED PREP.), MULCHING (RECYCLED ORGANIC) 3" THICK LAYER, AND TOPSOIL IMPORT- UP TO 2"]	SQFT	6,362	2.20	13,996.40
154	000003	48" BOX TREES [INCLUDING: GUYING, 4" PERF. PVC TREE DRAIN TUBES W/DRAIN CAP, ROOT BARRIERS]	EA	3	1900	5,700
155	000003	1 GALLON SHRUBS / GROUNDCOVER	ĒΑ	59	11.00	649
156	000003	5 GALLON SHRUBS / GROUNDCOVER	EA	337	117	39,429
157	000003	BOWSMITH SL200SERIES EMITTER W/ SALCO SLV- PVD-ACLXX FLEX RISER	EA	396	10	3960
158	000003	HUNTER RZWS-36-50-CV DEEP TUBE BUBBLER	EA	6	77	462
159	000003	HUNTER IC-3600-M 36 STATION CONTROLLER	EA	1	1,450	1,450
160	000003	NIBCO T-113-K GATE VALVE - 2" / FITTINGS	EA	1	765	265
161	000003	TRUE UNION BALL VALVE AT ECV - 2"	EA	2	200	400
162	000003	ELECTRIC CONTROL VALVE W/ PRESSREG/FITTINGS - 1"	EA	1	255	255
163	000003	DRIP VALVE ASSEMBLY - BALL VALVE, AC SOLENOID, FILTER, FITTINGS	EA	2	300	600
164	000003	QUICK COUPLING VALVE	EA	1	280	780
165	000003	MANUAL FLUSH VALVE ASSEMBLY	EA	8	65	520
166	000003	NON- PRESSURE LATERAL LINE- SCH 40 - 3/4"	LF	783	5.30	4,149.90
167	000003	PRESSURE SUPPLY LINE - SCH 40 - 2"	LF	461	8	3.688
168	000003	GREEN PLASTIC STANDARD 10" ROUND VALVE BOX W/ SUMP/FILTER FAB.	EA	13	55	715
169	000003	GREEN PLASTIC STANDARD RECTILINEAR VALVE BOX W/ SUMP/FILTER FAB.	EA	3	90	270
170	000003	PVC SLEEVING - SCH40 - 2"	LF	160	7.25	1,160

TEM No.	CODE	ITEM	TINU	ESTIMATED QUANTITY	ITEM PRICE (IN FIGURES)	TOTAL (IN FIGURES)
71	000003	PVC SLEEVING - SCH40 - 4"	LF	200	12	2,400
72	000003	PVC SCH 40 CONDUIT - 1 1/2"	.LF	200	7	1.400
73	000003	14 GUAGE DIRECT BURIAL WIRE	LF	14,544	.45	6,544.8
174	000003	90 DAY MAINTENANCE PERIOD	LS	1	2,000	2,000
75	000003	MISCELLANEOUS DIRECTED WORK	FA	1	\$100,000.00	\$100,000.00
BTO MS	NATE 2A TAL: 95-175	"WORD\$"				\$ 1015 /, 3
EM	ITEM	NCHO CALIFORNIA WATER DISTRICT: ITEM	148.107	ESTIMATED	ITEM PRICE	TOTAL
lo.	CODE	REMOVE AND RECONSTRUCT FIRE HYDRANT	UNIT	QUANTITY	(IN FIGURES)	(IN FIGURES)
76	000003	ASSEMBLY	EA	4	4,550	18,200
77	000003	RELOCATE CP TEST STATION REMOVE AND RECONSTRUCT WATER QUALITY	EA	1	115	115
78	000003	SAMPLE STATION ASSEMBLY RECONSTRUCT AND RAISE VALVE RISER AND CAP	EA	1	1,900	1,900
79	000003	ASSEMBLY TO GRADE	EA	7	330	2,310
TERN JBTO	NATE 2B TAL:					\$ 18,525
MS '	176-179	"WORDS"	•			,
		NCHO CALIFORNIA WATER DISTRICT:				,
EM lo.	CODE	ITEM	UNIT	ESTIMATED QUANTITY	ITEM PRICE (IN FIGURES)	TOTAL (IN FIGURES)
180	000003	FURNISH AND INSTALL BOX CULVERT LINING	LF	226	125	28,250
TERN	IATE 2C					\$ 28, 25°
EM 18		"WORDS"				\$ <u>= -) =</u>
EM	ITEM	ICHO CALIFORNIA WATER DISTRICT:	T	ESTIMATED	ITEM PRICE	TOTAL
io.	CODE	ITEM FURNISH AND INSTALL MANHOLE / CATCH BASIN	UNIT	QUANTITY	(IN FIGURES)	(IN FIGURES)
31	000003	LINING	SQFT	722	12	8,664 \$ 8,664

No. CODE	ITEM	UNIT	ESTIMATED QUANTITY	ITEM PRICE (IN FIGURES)	TOTAL (IN FIGURES)
182 000003	FURNISH AND INSTALL BOX CULVERT OUTSIDE LINING	LF	171	130	22,230
LTERNATE 2E UBTOTAL:		·-			\$ 22,230
TEMS 182	"WORDS"				\$ <u> </u>
TEM ITEM No. CODE	CP&OSD (EQUESTRIAN CROSSWALK PER EXHIBIT A): ITEM	UNIT	ESTIMATED QUANTITY	ITEM PRICE (IN FIGURES)	TOTAL (IN FIGURES)
183 000003	INSTALL COUNTY FURNISHED SOLAR POWERED PEDESTRIAN CROSSWALK FLASHING BEACON SYSTEM WITH EQUESTRIAN AND PEDESTRIAN PUSH BUTTONS	EA	2	1,750	3,500
184 000003	INSTALL COUNTY FURNISHED TYPE 1-A STANDARD (14' ALUMINUM) POLE	EA	2	1,650	3,300
BTOTAL:	"WORDS"				\$ 6,800
UBTOTAL: TEMS 183-184 LTERNATIVE 2G- TEM ITEM	"WORDS" METROPOLITAN WATER DISTRICT ITEM	UNIT	ESTIMATED QUANTITY	ITEM PRICE (IN FIGURES)	\$ (U, SO (
JBTOTAL: EMS 183-184 TERNATIVE 2G- EM ITEM Io. CODE	METROPOLITAN WATER DISTRICT	UNIT			TOTAL
UBTOTAL: EMS 183-184 TERNATIVE 2G- EM ITEM No. CODE 85 000003	METROPOLITAN WATER DISTRICT ITEM FURNISH AND INSTALL BOX CULVERT OUTSIDE LINING FURNISH AND INSTALL MANHOLE/ CATCH BASIN OUTSIDE LINING		QUANTITY	(IN FIGURES)	TOTAL (IN FIGURES)
UBTOTAL: EMS 183-184	METROPOLITAN WATER DISTRICT ITEM FURNISH AND INSTALL BOX CULVERT OUTSIDE LINING FURNISH AND INSTALL MANHOLE/ CATCH BASIN OUTSIDE LINING FURNISH AND INSTALL OUTSIDE LINING [HDPE PIPE LIDINTS]	LF EA	45 2 10	(IN FIGURES)	TOTAL (IN FIGURES)
UBTOTAL: TEMS 183-184 LTERNATIVE 2G- TEM	METROPOLITAN WATER DISTRICT ITEM FURNISH AND INSTALL BOX CULVERT OUTSIDE LINING FURNISH AND INSTALL MANHOLE/ CATCH BASIN OUTSIDE LINING FURNISH AND INSTALL OUTSIDE LINING [HDPE PIPE LIDINTS]	LF EA	QUANTITY 45 2 10 four her	(IN FIGURES) 140 3,000 435	TOTAL (IN FIGURES)
UBTOTAL: EMS 183-184	METROPOLITAN WATER DISTRICT ITEM FURNISH AND INSTALL BOX CULVERT OUTSIDE LINING FURNISH AND INSTALL MANHOLE/ CATCH BASIN OUTSIDE LINING FURNISH AND INSTALL OUTSIDE LINING [HDPE PIPE	LF EA	45 2 10	(IN FIGURES) 140 3,000 435 -decl	TOTAL (IN FIGURES) 6,300 6,000 4,350 \$23,45
UBTOTAL: TEMS 183-184 LTERNATIVE 2G- TEM	FURNISH AND INSTALL BOX CULVERT OUTSIDE LINING FURNISH AND INSTALL MANHOLE/CATCH BASIN OUTSIDE LINING FURNISH AND INSTALL OUTSIDE LINING [HDPE PIPE JOINTS] FURNISH AND INSTALL OUTSIDE LINING [HDPE PIPE WORDS"	LF EA EA	QUANTITY 45 2 10 Four her ACL	(IN FIGURES) 140 3,000 435 -decl	TOTAL (IN FIGURES) 6,300 6,000 4,350 \$23,45
LIBTOTAL: TEMS 183-184 LIERNATIVE 2G- TEM ITEM No. CODE 185 000003 186 000003 187 000003 LIERNATE 2G UBTOTAL: EMS 185-187 PTION 2 (ALTER OTAL: EMS 95-187	METROPOLITAN WATER DISTRICT ITEM FURNISH AND INSTALL BOX CULVERT OUTSIDE LINING FURNISH AND INSTALL MANHOLE CATCH BASIN OUTSIDE LINING FURNISH AND INSTALL OUTSIDE LINING [HDPE PIPE JOINTS] Leventy—three fear through "WORDS" NATE SCHEDULES 2A THROUGH 2G) The million for hundred fit "WORDS"	LF EA EA	QUANTITY 45 2 10 Four her ACL	(IN FIGURES) 140 3,000 435 -decl	TOTAL (IN FIGURES) 6,300 6,000 4,350 \$23,45
TEM No. CODE 185 000003 186 000003 187 000003 LTERNATE 2G UBTOTAL: EMS 185-187 PTION 2 (ALTER OTAL: EMS 95-187 ROJECT (OPTION	FURNISH AND INSTALL BOX CULVERT OUTSIDE LINING FURNISH AND INSTALL MANHOLE/CATCH BASIN OUTSIDE LINING FURNISH AND INSTALL OUTSIDE LINING [HDPE PIPE JOINTS] FURNISH AND INSTALL OUTSIDE LINING [HDPE PIPE WORDS"	LF EA EA	QUANTITY 45 2 10 Four her ACL	(IN FIGURES) 140 3,000 435 -decl	TOTAL (IN FIGURES) 6,300 6,000 4,350

In addition to 'Instructions to Bidders' item 19 (Page A6), the County may award Option 1 or Option 2 items of work. If Option 1 is selected, any related Option 1 alternate bid schedules may also be awarded to Contractors. Option 1 sub-alternate schedules will not be mixed with Option 2 sub-alternate schedules.

AFFIDAVIT FOR INDIVIDUAL CONTRACTORS

	declares as follo	ws:
that the bid is not made undisclosed person, par zation, or corporation; or sham; that the bidde or solicited any other has not directly or indiagreed with any bidder that anyone shall refrain any manner, directl communication, or confer the bidder or any other or cost element of the bor to secure any advant anyone interested in the contained in the bid are not, directly or indirectly or indirectly or indirectly breakdown thereof, information or data relation of the total any fee to any corporation.	erty making the foregoing proposal or in the interest of, or on behalf of, thership, company, association, orgithat the bid is genuine and not collur has not directly or indirectly induced to put in a false or sham bid, irectly colluded, conspired, connived or anyone else to put in a sham bid in from bidding; that the bidder has yor indirectly, sought by agreem ence with anyone to fix the bid price bidder, or to fix any overhead, provided price, or of that of any other bid age against the County of Riversides proposed contract; that all statem true; and, further, that the bidder ctly, submitted his or her bid price or the contents thereof, or divutive thereto, or paid, and will not tion, partnership, company association, or to any member or agent the or sham bid.	any ani- sive luced and , or ent, ent, ents ents ents ents ents ents ents ents ents ents
true and correct.	enalty of perjury, that the foregoing	j is
Dated this	(day) of (mon-	th),
(year) at	, California	
Signature of a	fiant:	
Note: Notarizat	tion of signature required	

AFFIDAVIT FOR JOINT VENTURE OR COPARTNERSHIP CONTRACTOR

Declares as Iollows:
That he or she is a member of the joint venture or copartnershi firm designated as
firm designated as which is the party making the foregoing proposal or bid; that the bid is not made in the party making the foregoing proposal or bid; that the bid is not made in the party making the foregoing proposal or bid; that the bid is not made in the party making the foregoing proposal or bid; that the bid is not made in the party making the foregoing proposal or bid; that the bid is not made in the party making the foregoing proposal or bid; that the bid is not made in the party making the foregoing proposal or bid; that the bid is not made in the party making the foregoing proposal or bid; that the bid is not made in the party making the foregoing proposal or bid; that the bid is not made in the party making the foregoing proposal or bid; that the bid is not made in the party making the foregoing proposal or bid; that the bid is not made in the party making the foregoing proposal or bid; that the bid is not made in the party making the foregoing proposal or bid; that the bid is not made in the party making the party
is not made in the interest of, or on behalf of, any undisclose
person, partnership, company, association, organization, o
corporation; that the bid is genuine and not collusive or sham
that the bidder has not directly or indirectly induced o
solicited any other bidder to put in a false or sham bid, and ha
not directly or indirectly colluded, conspired, connived, o
agreed with any bidder or anyone else to put in a sham bid, of that anyone shall refrain from bidding; that the bidder has no
in any manner, directly or indirectly, sought by agreement
communication, or conference with anyone to fix the bid price of
the bidder or any other bidder, or to fix any overhead, profit
or cost element of the bid price, or of that of any other bidder
or to secure any advantage against the County of Riverside o
anyone interested in the proposed contract; that all statement
contained in the bid are true; and, further, that the bidder ha
not, directly or indirectly, submitted his or her bid price o
any breakdown thereof, or the contents thereof, or divulge
information or data relative thereto, or paid, and will not pay any fee to any corporation, partnership, company association
organization, bid depository or to any member or agent thereof t
effectuate a collusive or sham bid.
That he has been and is duly vested with authority to make an
sign instruments for the joint venture or copartnership b
constitute the other members of the joint venture o
copartnership.
I declare, under penalty of perjury, that the foregoing i
true and correct.
Dated this (day) of (month)
at(year) , California
Signature of affiant:
Note: Notarigation of gignature required

AFFIDAVIT FOR CORPORATE CONTRACTOR

Rumzi AlAbbasi declares as follows:
That he or she is Vice President of Mamco, Inc.
corporation which is the party making the foregoing proposal or bid; that the bid is not made in the interest of, or on behalf of, any undisclosed person, partnership, company, association, organization, or corporation; that the bid is genuine and not collusive or sham; that the bidder has not directly or indirectly induced or solicited any other bidder to put in a false or sham bid, and has not directly or indirectly colluded, conspired, connived, or agreed with any bidder or anyone else to put in a sham bid, or that anyone shall refrain from bidding; that the bidder has not in any manner, directly or indirectly, sought by agreement, communication, or conference with anyone to fix the bid price of the bidder or any other bidder, or to fix any overhead, profit, or cost element of the bid price, or of that of any other bidder, or to secure any advantage against the County of Riverside or anyone interested in the proposed contract; that all statements contained in the bid are true; and, further, that the bidder has not, directly or indirectly, submitted his or her bid price or any breakdown thereof, or the contents thereof, or divulged information or data relative thereto, or paid, and will not pay, any fee to any corporation, partnership, company association, organization, bid depository, or to any member or agent thereof to effectuate a collusive or sham bid.
I declare, under penalty of perjury, that the foregoing is true and correct.
Dated this 1st (day) of November (month), 2011 (year) at Riverside , California
Signature of affiant: Note: Notarization of signature required

CALIFORNIA ALL-PURPOSE CERTIFICATE OF ACKNOWLEDGMENT

	CKNOWEEDGMENT
State of California	
County of Riverside	
On 11/1/Zo// before me, Rami M. Alabba	si, Notary Public (Here insert name and title of the officer)
personally appeared Rumzi Alabbasi	
the within instrument and acknowledged to me that	te to be the person(s) whose name(s)(is)are subscribed to ne/she/they executed the same in his)her/their authorized the instrument the person(s), or the entity upon behalf of
I certify under PENALTY OF PERJURY under the lais true and correct.	ws of the State of California that the foregoing paragraph
WITNESS my hand and official seal. Signature of Notary Public	RAMI M. ALABBASI COMM. # 1859461 NOTARY PUBLIC - CALIFORNIA RIVERSIDE COUNTY My Comm. Expires July 30, 2013
ADDITIONAL OPTI	ONAL INFORMATION
DESCRIPTION OF THE ATTACHED DOCUMENT (Title or description of attached document)	INSTRUCTIONS FOR COMPLETING THIS FORM Any acknowledgment completed in California must contain verbiage exactly a appears above in the notary section or a separate acknowledgment form must be properly completed and attached to that document. The only exception is if document is to be recorded outside of California. In such instances, any alternative acknowledgment verbiage as may be printed on such a document so long as the verbiage does not require the notary to do something that is illegal for a notary is

DESCRIPTI	ION OF THE ATTACHED DOCUMENT		
(T)	itle or description of attached document)		
(Title or	r description of attached document continued)		
Number of F	Pages Document Date		
(Additional information)			

 CITY CLAIMED BY THE SIGNER
Individual (s)
Corporate Officer
(Title)
Partner(s)
Attorney-in-Fact
Trustee(s)
Other

document carefully for proper notarial wording and attach this form if required.

- State and County information must be the State and County where the document signer(s) personally appeared before the notary public for acknowledgment.
- Date of notarization must be the date that the signer(s) personally appeared which must also be the same date the acknowledgment is completed.
- The notary public must print his or her name as it appears within his or her commission followed by a comma and then your title (notary public).
- Print the name(s) of document signer(s) who personally appear at the time of notarization.
- Indicate the correct singular or plural forms by crossing off incorrect forms (i.e. he/she/they, is /are) or circling the correct forms. Failure to correctly indicate this information may lead to rejection of document recording.
- The notary seal impression must be clear and photographically reproducible. Impression must not cover text or lines. If seal impression smudges, re-seal if a sufficient area permits, otherwise complete a different acknowledgment form.
- Signature of the notary public must match the signature on file with the office of the county clerk.
 - Additional information is not required but could help to ensure this acknowledgment is not misused or attached to a different document.
 - Indicate title or type of attached document, number of pages and date.
 - Indicate the capacity claimed by the signer. If the claimed capacity is a corporate officer, indicate the title (i.e. CEO, CFO, Secretary).
- · Securely attach this document to the signed document

Addendum No. 1 Rancho California Road at Anza Road Roundabout Project Project No. B9-0957 October 24, 2011 Page 16 of 16

Recommended by:

Cindi Wachi, PE

County Project Manager

Oude a. Wachi

Concurrence:

Khalid Nasim, PE

Engineering Division Manager

Acknowledged:

Rumzi AlAbbasi- Vice President

10/24/2011

November 1, 2011

Date:

(Contractor)

MM:JRJ:jrj:rr



Corporate Resolution to Execute Contracts

At a meeting of the corporation today, after considerable discussion, the following resolution was moved, seconded, and unanimously adopted;

Resolved that any of the following persons, Marwan AlAbbasi, Elizabeth AlAbbasi, or Rumzi M. AlAbbasi be; and they hereby are, authorized without further authorization of the board of directors to enter into and execute on behalf of the corporation any and all contracts to do corporate business for Mamco, Inc.

In witness whereof, I have hereunto set my hand as such secretary and affixed the corporate seal of said corporation this 8th day of March, 2011.

AUTHORIZED SIGNATURES

Marwan S. AlAbbasi

Elizabeth AlAbbasi

Rumzi M. AlAbbasi

Marwan S. Alabbasi- Secretary



References

Project:

Ramona Blvd. Waterline Replacement

Scope:

Installation of high-line temporary waterline, removal and replacement of 500

LF of 10" PVC, connections, pavement repairs and appurtenant work.

Location:

Ramona Blvd. and Main Street, San Jacinto, CA

Owner:

City of San Jacinto

595 S. San Jacinto Ave. San Jacinto, CA 92583

(951) 487-7330

Contact:

Chuck Peebles- Inspector- Tri Lake Consultants (951) 634-2162

Project Engineer:

Joe Van Sickle- Tri Lake Consultants (951) 378-6147

Project value: Start Date:

\$95,000 7/5/11

End Date:

8/5/11

Project:

Hemet Missing Link Sidewalk and ADA Improvement Project

Scope:

Widening of approx. 3,000 LF of roadway, construction of curbs/ curbs and

gutters, sidewalks, curb ramps, and appurtenant work.

Location:

Soboba and Lake Street, Hemet, CA

Owner:

City of Hemet

445 E. Florida Ave. Hemet, CA 92543 (951) 765-3847

Contact:

Victor Monz- City Engineer- (951) 765-3847

Project Engineer: Project value:

Victor Monz- City Engineer- (951) 765-3847 \$520,000

Start Date: End Date:

5/24/11 8/24/11

Project:

Lemon Street Trail Improvements

Scope:

Narrowing of approx. 3,500 LF of existing roadway, construction of curbs/ curbs and gutters, ramps, driveways, decomposed granite trail and appurtenant work.

Location:

Lemon Street and Santiago Blvd. Villa Park, CA City of Villa Park

Owner:

17855 Santiago Blvd. Villa Park, CA 92861

(714) 998-1500

Contact:

Bill Tarin- Inspector- (909) 263-6988

Project Engineer:

WM Joe O'Neil- City Engineer- (714) 998-1500

Project value: Start Date:

\$375,000 5/15/11

End Date:

8/15/11

Project:

Laurel Avenue Storm Drain Improvements

Scope:

Installation of 250 LF of 18" Storm Drain, construction of curbs/ curb and gutter,

spandrels, cross walks, inlet structures, and appurtenant work.

Location:

Laurel Ave. and Seville Ave, Fontana, CA

Owner:

City of Fontana 8353 Sierra Ave. Fontana, CA 92335 (909) 350-6640

Contact:

Noel Castillo-Senior Engineer- (909) 350-7632

Project Engineer:

Noel Castillo- (909) 350-7632

Project value:

\$50,000 8/1/11 8/16/11

Start Date: End Date:

Project:

Fontana City Hall Parking Project

Scope:

Removal of 5,000 CY of concrete and asphalt, installation of 500 LF of 24" RCP, construction of all site utilities, construction of curbs/ curbs and gutters, sidewalks, curb ramps, driveways, fencing, landscaping, AC Paving, and all

appurtenant work.

Location:

Sierra Ave. and Upland Ave, Fontana, CA

Owner:

City of Fontana 8353 Sierra Ave. Fontana, CA 92335 (909) 350-6640

Contact:

Grace Martinez- Project Manager- (909) 350-6522

Project Engineer:

Noel Castillo- (909) 350-7632

Project value: Start Date:

\$2,500,000 2/15/11 8/15/11

End Date: Project:

Sidewalk Improvements at Redlands Blvd. and California St.

Scope:

Widening of approximately 1,000 LF of existing roadway, construction of curbs/curb and gutter, sidewalks, curb ramps, driveways and appurtenant work at

Mission Elementary School.

Location:

Redlands Blvd. and California ST, Loma Linda, CA

Owner:

City of Loma Linda 25541 Barton Road Loma Linda, CA 92354 (909) 799-4400

Contact:

Eleazar Rubalcava- Inspector- (909) 799-4400

Project Engineer:

T. Jarb Thaipejr (909) 799-4401

Project value: Start Date:

\$150,000 6/1/11 8/1/11

End Date: Project:

Greenspot Rd. "S" Curve Realignment

Scope:

Pulverization of existing AC Roadway, mass grading, and realignment of existing

road

Location:

Greenspot Rd. and Santa Paula St, Highland, CA

Owner:

City of Highland 27215 Base Line Highland, CA 92346 (909) 864-6861

Contact:

Harvey Levin-Inspector- (909) 234-1001

Project Engineer:

Etta R. Pulce- (909) 890-1255

Project value: Start Date:

\$650,000 3/15/11 6/15/11

End Date: Project:

Colton Avenue Street Improvements

Scope:

Pulverization of existing roadway, construction of 500 LF of 24" HDPE storm

drain, construction of curbs, sidewalks, curb ramps, driveways, reconstruction of

new road, and all appurtenant work.

Location: Owner:

Colton Avenue and Wabash Avenue, Redlands, CA County of San Bernardino Department of Public Works

825 East Third Street San Bernardino, CA 92415

(909) 387-7920

Contact:

Sri Srirajan- Project Manager- (909) 387-7935

Project Engineer:

Sri Srirajan- (909) 387-7935

Project value: Start Date:

\$600,000 3/1/11 5/1/11

End Date: Project:

Indiana Avenue Street Improvements

Scope:

Construction of masonry retaining walls, utility relocations, construction of curb

and gutters, sidewalks, driveways, curb ramps, reconstruction of existing AC

pavement and all appurtenant work.

Indiana Ave. and Grant St., Riverside, CA

Location: Owner:

County of Riverside Economic Development Agency

3403 Tenth St. Suite 500 Riverside, CA 92501 (951) 955-0911

Contact:

Erik Sydow- Project Manager- (951) 955-8274 Phil Lemoine- Webb Associates- (951) 686-1070

Project Engineer: Project value:

\$625,000 1/15/11

Start Date: End Date:

1/15/11 4/15/11

Project:

Pomona Sewer Replacement Project "B"

Scope:

Complete removal and reconstruction of 10,000 LF of 8", 10", 12", 15", and 24",

ESVCP, sewer lateral repairs, manhole connections, pavement repairs, and

appurtenant work at various locations throughout city.

Location:

Various locations bound by SR 60, Interstate 10, SR 71, and Interstate 15.

Owner:

City of Pomona

505 South Garey Avenue

Pomona, CA 91766 (909) 620-3783

Contact:

Paul Mochel- Valley CM- Project Manager- (858) 444-6804

Project Engineer:

Timotheus Hampton- (909) 620-3783

Project value: Start Date:

\$1,250,000 2/15/11 8/15/11

End Date: Project:

Oak Valley Parkway Drainage Improvements

Scope:

Construction of 500 LF of new median, drainage structures, and AC pavement

overlay

Location:

Oak Valley Parkway and Interstate 10

Owner:

City of Beaumont 550 East 6th Street Beaumont, CA 92223 (951) 769-8520

Contact:

Rob Owen- Project Manager- Urban Logic Corporation- (951) 769-6999

Project Engineer:

Ponce Yambot- (951) 769-6999

Project value:

\$100,000 11/15/10

Start Date:

End Date: 3/15/11

Project: Scope:

Construction of perimeter masonry walls, PCC pavement parking lot, curbs/

curbs and gutters, and appurtenant work.

Location:

5498 Mission Boulevard

Owner:

Butchko Land Management Trust

West Riverside Veterinary Hospital

5498 Mission Blvd. Riverside, CA 92509

Contact:

Gary Knight- Knight Builders-(909) 210-8807

Project Engineer:

 Project value:
 \$350,000

 Start Date:
 6/15/10

 End Date:
 1/15/11

Project:

Citywide Sidewalk Improvements

Scope:

Installation of approximately 2,500 LF of sidewalks, curbs, gutters, and other

appurtenant work.

Location:

Various Location throughout Loma Linda

Owner:

City of Loma Linda 25541 Barton Road Loma Linda, CA 92354

(909) 799-4400

Contact:

Eleazar Rubalcava- Inspector- (909) 799-4400

Project Engineer:

T. Jarb Thaipeir (909) 799-4401

Project value: Start Date:

\$150,000 10/10/10 12/1/10

End Date: Project:

Krameria and Mayberry Street Improvements

Scope:

Widening of approx. 3,000 LF of roadway, construction of sidewalks, curbs,

gutters, and other appurtenant work.

Location:

Krameria Street and Mayberry Street in Riverside County, CA

Owner:

County of Riverside, Dept. of Transportation

2950 Washington Street Riverside, CA 92504 (951) 955-7929

Contact:

Keith Barnett-Inspector- (951) 955-7929

Project Engineer:

Project value:

\$350,000 **Start Date:** 10/30/10 **End Date:**

Project:

Verde St. and Orchard St. Sidewalk Improvements

Scope:

Installation of approximately 3,000 LF of sidewalks, curbs, gutters, and other

appurtenant work.

12/15/10

Location:

Verde St. and Orchard St. in Riverside, CA

Owner:

City of Riverside 3900 Main Street

Riverside, CA 92522city of riverside

(951) 826-5341

Contact:

Jack Lynn- Inspector- (951) 712-2321 Daniel J. Simmons (951) 826-5591

Project value:

Project Engineer:

\$150,000 7/15/10

Start Date: End Date:

8/15/10

Project:

Beaumont Sidewalk Phase III

Scope:

Construction of approximately 10,000 LF of curbs/ curbs and gutters, sidewalks,

driveways, handicap ramps and all appurtenant work.

Location:

Various Locations throughout Beaumont

Owner:

City of Beaumont 550 East 6th Street Beaumont, CA 92223 (951) 769-8520

Contact:

Rob Owen- Project Manager- Urban Logic Corporation- (951) 769-6999

Project Engineer:

Ponce Yambot- (951) 769-6999

Project value: Start Date:

\$300,000 6/1/10 8/15/10

End Date: Project:

Beaumont Sidewalk Phase II

Scope:

Construction of approximately 10,000 LF of curbs/ curbs and gutters, sidewalks,

driveways, handicap ramps and all appurtenant work.

Location:

Various Locations throughout Beaumont

Owner:

City of Beaumont 550 East 6th Street Beaumont, CA 92223

(951) 769-8520

Contact:

Rob Owen- Project Manager- Urban Logic Corporation- (951) 769-6999

Project Engineer:

Ponce Yambot- (951) 769-6999

Project value: Start Date:

\$230,000 7/1/10

End Date:

9/1/10

Project:

Route 38 Drainage Improvements

Scope:

Construction of approximately 3,000 LF of curbs/ curbs and gutters, sidewalks,

driveways, handicap ramps and all appurtenant work.

Location:

Highway 38 and Sun Lugonia Ave, Redlands, CA

Owner:

Caltrans District 8

Construction Division- Corona

Contact:

Chad Yang- Project Engineer- (951) 232-7638

Project Engineer:

Chad Yang- (951) 232-7638

Project value: Start Date:

\$200,000 6/1/10 8/1/10

End Date: Project:

Ramona Blvd. Sidewalk Project

Scope:

Construction of approximately 7,000 LF of sidewalks, curbs/curbs and gutters,

driveways, handicap ramps, and all appurtenant work.

Location:

Ramona Blvd. and Main Street, San Jacinto, CA

Owner:

City of San Jacinto 595 S. San Jacinto Ave. San Jacinto, CA 92583

(951) 487-7330

Contact:

Chuck Peebles- Inspector- Tri Lake Consultants (951) 634-2162

Project Engineer:

Joe Van Sickle- Tri Lake Consultants (951) 378-6147 \$150,000

Project value: Start Date:

3/5/10 4/5/10

End Date: Project:

East Valley Pipeline Replacement Project

Scope:

Installation of approx. 3,500 LF of 12" potable PVC water main, approximately 20 connections to existing water lines, abandonments of existing facilities, Open cut installation 24 inch steel casing across HWY 74, removal of 20" irrigation line

and road repairs.

Location:

Santa Fe St. and Esplanade Ave in the City of San Jacinto, and Hemet

Owner:

Eastern Municipal Water District

2270 Trumble Road Perris, CA 92572 (951) 928-3777

Contact:

Boyd Ferrel-Inspector (951) 750-8990

Project Engineer:

Bruce Ross (951) 928-3777

Project value:

\$675,000 1/15/10

Start Date: **End Date:**

8/13/10

Project:

Hemet Stimulus Sidewalk Project

Scope:

Construction of approximately 3,000 LF of sidewalks, curbs/curbs and gutters,

driveways, handicap ramps, and all appurtenant work.

Location:

Several Locations throughout Hemet

Owner:

City of Hemet 445 E. Florida Ave. Hemet, CA 92543 (951) 765-3847

Contact:

Victor Monz- City Engineer- (951) 765-3847 Victor Monz- City Engineer- (951) 765-3847

Project value: Start Date:

Project Engineer:

\$520,000 3/1/10 6/1/10

Project:

End Date:

Evans and Alamitos Street Improvements

Scope:

Complete street reconstruction of two residential streets, construction of approximately 3,000 LF of sidewalks, curbs/ curbs and gutters and all

appurtenant work.

Location:

Evans and Alamitos Street

Owner:

City of Loma Linda 25541 Barton Road Loma Linda, CA 92354 (909) 799-4400

Contact:

Eleazar Rubalcava- Inspector- (909) 799-4400

Project Engineer:

T. Jarb Thaipejr (909) 799-4401

Project value:

\$350,000 12/15/09

Start Date: End Date:

3/15/10

Project:

Water Main Relocations for I-215 Segment 5 and SR-210 Segment 11 freeway

widening contract 3. Specification No. 1472

Scope:

Installation of approximately 10,000 LF of 12" and 24" DIP water main, 100

house service connections, CDF abandonments and road repairs

Location:

Various locations in the City of San Bernardino near 215 and 210 freeway

interchange.

Owner:

San Bernardino Municipal Water Department

P.O. Box 710

San Bernardino, CA 92402

(909) 384-5377

Contact:

Danny Robinson-Inspector (858) 583-6403

Project Engineer:

Infrastructure Engineering Corporation (858) 413-2400

Project value:

Start Date:

\$1,125,000 10/15/09 4/16/10

End Date: Project:

6th Street Emergency Storm Drain Repair Project

Scope:

Emergency replacement of 150 LF of 18" collapsed CMP pipe with new 18" RCP pipe across 6th street, construction of drainage structures, and appurtenant

work.

Location:

6th Street, Corona, CA

Owner:

City of Corona 400 S. Vicentia Ave. Corona, CA 92882

(951) 736-2266

Contact:

Brian Ladnier- Inspector (951) 232-3762

Project Engineer:

Clint Herrera (951) 736-2266

Project value:

\$75,000 10/01/09

Start Date: End Date:

10/15/09

Project:

Bedford Canyon Rd. Reclaimed Waterline

Scope:

Installation of approx. 3,300 LF of 16" DIP recycled water main, open cut installation 100 LF of 40" steel casing, cathodic welding, and road repairs.

Location:

El Cerrito Rd. and Bedford Canyon Parkway, Corona CA

Owner:

City of Corona 400 S. Vicentia Ave. Corona, CA 92882 (951) 736-2266

Contact:

Brian Ladnier-Inspector (951) 232-3762

Project Engineer:

Linda Bazmi (951) 736-2266

Project value: Start Date:

\$651,000 9/01/09 10/15/09

End Date: Project:

Harry's Cafe

Scope:

Construction of 7,000 SF standalone fast food restaurant, all site work, and all

utilities.

Location:

Ramona Expressway, Perris, CA

Owner:

Ramona Expressway LLC 796 W. Ramona Expy. Perris, CA 92571

Contact:

Kim Pietch- Owners Representative- (909) 896-6922

Project Engineer:

Project value: Start Date:

\$850,000 11/30/09 5/30/10

End Date: Project:

Citywide Sidewalk and Curb Cut Improvements

Scope:

Construction of approx.. 40,000 SF of sidewalk, 100 handicap ramps, 175

driveways, and appurtenant work.

Location:

Various Location in Redlands, CA

Owner:

City of Redlands 35 Cajon Street #15A Redlands, CA 92373 (909) 798-7584

Contact:

Erick Weck- Project Manager- (909) 798-7584

Project Engineer:

Erick Weck- (909) 798-7584

Project value: Start Date:

\$650,000 8/10/09 11/15/09

End Date:

Farmerboys Highland

Project: Scope:

Construction of 5,000 SF standalone fast-food restaurant, construction of 86"

CMP retention system, widening of adjacent roadways, and all related site work.

Location:

Highland, CA

Owner:

Havadjia Holdings

3452 University Avenue

Riverside, CA 92501

Contact:

Joe Mineo- (909) 816-9081

Project Engineer:

Joe Mineo- (909) 816-9081

Project value:

\$1,350,000 12/10/08

Start Date: End Date:

4/15/09

Project:

Yazen Marketplace

Scope:

Construction of 15,000 SF of retail space, fuel service station, car wash,

widening of Van Buren Blvd, construction of 1,000 LF of new median, site

utilities, and all appurtenant work.

Location:

Van Buren Blvd.

Owner:

Yazen LP

Contact:

Dr. Dee Elias- Owner- (951) 318-3100

Project Engineer:

-

Project value:

\$8,500,000

Start Date:

3/30/08 12/15/08

End Date: Project:

Ramona Marketplace

Scope:

Construction of 20,000 SF or retail space, 15,000 SF of office space, fuel service

station, widening of Ramona Expressway, site utilities, and all site work.

Location:

Ramona Expressway, Perris, CA

Owner:

Ramona Expressway LLC

796 W. Ramona Expy.

Perris, CA 92571

Contact:

Kim Pietch- Owners Representative- (909) 896-6922

Project Engineer:

Project value:

\$10,000,000

Start Date:

1/10/08

End Date:

7/30/08



BID BOND

Recitals: 1. MAMCO, INC.	"Contractor", has submitted his
Contractor's Proposal to County of Riverside, "C RIVERSIDE COUNTY TRANSPORTATION DEPERT	county", for the construction of public work for mENT in accordance with a
Notice Inviting Bids of County dated OCTOBER	26, 2011
2, FIRST NATIONAL INSURANCE COMPANY OF AMERICA	a WASHINGTON corporation,
hereafter called "Surety", is the surety of this Bo	ond.
Agreement: We, Contractor as principal and Surety as surety, jo	ointly and severally agree and state as follows:
 The amount of the obligation of this bond is 10^o including bid alternates, and inures to the bene 	% of the amount of the Contractor's Proposal, lit of County.
2. This Bond is exonerated by (1) County rejection Proposal is accepted, Contractor executes the A to in its Proposal, otherwise it remains in full for and expense of County resulting from failure of Some types of possible loss, damage and expense.	ce and effect for the recovery of loss, damage Contractor to act as agreed to in its Proposal.
 Surety, for value received, stipulates and agree be impaired or affected by any extension of time and waives notice of any such extension. 	Within Which County may accept the Frepositi
4. This Bond is binding on our heirs, executors, a	dministrators, successors and assigns.
Dated: OCTOBER 12, 2011	11/1/2011
FIRST NATIONAL INSURANCE COMPANY OF AMERICA	MAMCO, INC.
By KEVIN E. VEGA	Ву
Title: Attorney in Fact	Title: Vice Wesiden+ "Contractor"
"Surety"	Contactor
STATE OF CALIFORNIA COUNTY OF } ss.	SURETY'S ACKNOWLEDGEMENT
Onbefore me,known	personally appeared, to me, or proved to me on the basis of satisfactory
evidence, to be the person whose name is subscribe that he/she executed the same in his/her authorize instrument the person, or the entity upon behalf of w	ed capacities, and that by his/her signature on the
WITNESS my hand and official seal.	
Signature of Notary Public	Notary Public (Seal)
Note: All signatures must be notarized	

This Power of Attorney limits the acts of those named herein, and they have no authority to bind the Company except in the manner and to the extent herein stated.

FIRST NATIONAL INSURANCE COMPANY OF AMERICA SEATTLE, WASHINGTON POWER OF ATTORNEY

KNOW ALL PERSONS BY THESE PRESENTS: That First National Insurance Company of America (the "Company"), a Washington stock insurance company, pursuant to and by authority of the By-law and Authorization hereinafter set forth, does hereby name, constitute and appoint. PHILIP E. VEGA, FRANK MORONES, KEVIN E. VEGA, BRITTON CHRISTIANSEN, JADON H. SMITH, MYRNA SMITH, ALL OF THE CITY OF COVINA, STATE OF CALIFORNIA
, each individually if there be more than one named, its true and lawful attorney-in-fact to make, execute, seal, acknowledge and deliver, for and on its behalf as

undertakings, bonds, recognizances and other surety obligations, in pursuance of these presents, shall be as binding upon the Company as if they had been duly signed by the president and attested by the secretary of the Company in their own proper persons.

That this power is made and executed pursuant to and by authority of the following By-law and Authorization:

ARTICLE IV - Execution of Contracts; Section 12, Surety Bonds and Undertakings.

Any officer or other official of the Corporation authorized for that purpose in writing by the Chairman or the President, and subject to such limitations as the Chairman or the President may prescribe, shall appoint such attorneys-in-fact, as may be necessary to act in behalf of the Corporation to make, execute, seal, acknowledge and deliver as surety any and all undertakings, bonds, recognizances and other surety obligations. Such attorneys-infact, subject to the limitations set forth in their respective powers of attorney, shall have full power to bind the Corporation by their signature and executed, such instruments shall be as binding as if signed by the president and attested by the secretary.

By the following instrument the chairman or the president has authorized the officer or other official named therein to appoint attorneys-in-fact:

Pursuant to Article IV, Section 12 of the By-laws, Garnet W. Elliott, Assistant Secretary of First National Insurance Company of America, is authorized to appoint such attorneys in-fact as may be necessary to act in behalf of the Corporation to make, execute, seal, acknowledge and deliver as surety any and all undertakings, bonds, recognizances and other surety obligations.

That the By-law and the Authorization set forth above are true copies thereof and are now in full force and effect.

IN WITNESS WHEREOF, this Power of Attorney has been subscribed by an authorized officer or official of the Company and the corporate seal of First National Insurance Company of America has been affixed thereto in Plymouth Meeting, Pennsylvania this 28th day of February

5

ווובובאו ומוב

כחוובוורא ומובי



FIRST NATIONAL INSURANCE COMPANY OF AMERICA

COMMONWEALTH OF PENNSYLVANIA COUNTY OF MONTGOMERY:

, before me, a Notary Public, personally came Garnet W. Elliott, to me known, and On this 28th acknowledged that he is an Assistant Secretary of First National Insurance Company of America; that he knows the seal of said corporation; and that he executed the above Power of Attorney and affixed the corporate seal of First National Insurance Company of America thereto with the authority and at the direction of said corporation.

I have hereunto subscribed my name and affixed my notarial seal at Plymouth Meeting, Pennsylvania, on the day and year IN TESTIMONY WHEREOF,

> Notarial Seal Teresa Pastella, Notary Public Plymouth Twp., Montgomery County My Commission Expires Mar. 28, 2013

first above written.

CERTIFICATE

I, the undersigned, Assistant Secretary of First National Insurance Company of America, do hereby certify that the original power of attorney of which the foregoing is a full, true and correct copy, is in full force and effect on the date of this certificate; and I do further certify that the officer or official who executed the said power of attorney is an Assistant Secretary specially authorized by the chairman or the president to appoint attorneys-in-fact as provided in Article IV, Section 12 of the By-laws of First National Insurance Company of America.

This certificate and the above power of attorney may be signed by facsimile or mechanically reproduced signatures under and by authority of the following vote of the board of directors of First National Insurance Company of America at a meeting duly called and held on the 18th day of September,

VOTED that the facsimile or mechanically reproduced signature of any assistant secretary of the company, wherever appearing upon a certified copy of any power of attorney issued by the company in connection with surety bonds, shall be valid and binding upon the company with the same force and effect as though manually affixed.

			2 32	AND DESCRIPTION AND DESCRIPTIO	3 SE F	E 11.5	" 538 T	10TH	4.00
IN TESTIMONY	WHEREOF, I have	hereunto subs	scribed my na	me and affixed	the corporat	e seal of the sa	id company,	this 12111	aay c
OCTOBER	2011			10000			구도 내는 걸 건 전		40 . 50 . 145
OUTOBER	- ZUII •			3/00			Section 1991		- S - S

David M. Carey, Assistant Secretary

CALIFORNIA ALL-PURPOSE ACKNOWLEDGMENT

State of California	
County of Los Angeles	
On 10/12/11 before me,	Philip Vega, Notary public Here Insert Name and Titto of the Officer
personally appeared KEVIN E. VEGA	Namo(z) of Signor(s)
PHILIP VEGA Commission # 1799866 Notary Public - California Los Angeles County My Comm. Expires May 31, 2012	who proved to me on the basis of satisfactory evidence to be the person(s) whose name(s) is/dre subscribed to the within instrument and acknowledged to me that he/she/they executed the same in his/her/their authorized capacity(les), and that by his/her/their signature(s) on the instrument the person(s), or the entity upon behalf of which the person(s) acted, executed the instrument. I certify under PENALTY OF PERJURY under the laws of the State of California that the foregoing paragraph is true and correct.
Place Notary Seal Above	WITNESS my hand and official seal. Signature
Though the information below is not required by law	PTIONAL w, It may prove valuable to persons relying on the occument d reattachment of this form to another document,
Description of Attached Document	
Title or Type of Document:	
	Number of Pages:
Signer(s) Other Than Named Above:	
Capacity(ies) Claimed by Signer(s)	e e
SIgner's Name: Individual Corporate Officer — Title(s): Partner — Limited General Top of thumb Top of thumb Other: Signer Is Representing:	☐ Individual ☐ Corporate Officer — Title(s): ☐ Partner — ☐ Limited ☐ General ☐ Attorney in Fact ☐ Attorney in Fact

© 2007 National Notary Association - 9350 Do Soio Avo., P.O. Box 2402 • Chausworth, CA 81313-2402 • www.NationalNotary.org Illem #5907 Roorder: Call Yoll-Free 1-800-878-8827

CALIFORNIA ALL-PURPOSE CEDTIFICATE OF ACKNOWLED CMENT

CERTIFICATE OF	ACKNOWLEDGMENT
State of California	
County of Riverside	
On ////Z011 before me, Rami M. Alab	obasi, Notary Public
	(Here insert name and title of the officer)
personally appeared Rumzi Alabbasi	
the within instrument and acknowledged to me that	ence to be the person(s) whose name(s)(is) are subscribed to at he/she/they executed the same in his/her/their authorized on the instrument the person(s), or the entity upon behalf of it.
I certify under PENALTY OF PERJURY under the is true and correct.	e laws of the State of California that the foregoing paragraph
WITNESS my hand and official seal.	RAMI M. ALABBASI COMM. # 1859461 NOTARY PUBLIC - CALIFORNIA RIVERSIDE COUNTY My Comm. Expires July 30, 2013
•	
ADDITIONAL OF	PTIONAL INFORMATION
DESCRIPTION OF THE ATTACHED DOCUMENT	INSTRUCTIONS FOR COMPLETING THIS FORM Any acknowledgment completed in California must contain verbiage exactly as appears above in the notary section or a separate acknowledgment form must be properly completed and attached to that document. The only exception is if a document is to be recorded outside of California. In such instances, any alternative
(Title or description of attached document)	acknowledgment verbiage as may be printed on such a document so long as the verbiage does not require the notary to do something that is illegal for a notary in California (i.e. certifying the authorized capacity of the signer). Please check the document carefully for proper notarial wording and attach this form if required.
(Title or description of attached document continued)	
Number of Pages Document Date	 State and County information must be the State and County where the documen signer(s) personally appeared before the notary public for acknowledgment.

CAPACITY CLAIMED BY THE SIGNER ☐ Individual (s) ☐ Corporate Officer (Title) ☐ Partner(s) ☐ Attorney-in-Fact \square Trustee(s) ☐ Other

(Additional information)

- Date of notarization must be the date that the signer(s) personally appeared which must also be the same date the acknowledgment is completed.
- The notary public must print his or her name as it appears within his or her commission followed by a comma and then your title (notary public).
- Print the name(s) of document signer(s) who personally appear at the time of notarization.
- Indicate the correct singular or plural forms by crossing off incorrect forms (i.e. he/she/they, is /are) or circling the correct forms. Failure to correctly indicate this information may lead to rejection of document recording.
- The notary seal impression must be clear and photographically reproducible. Impression must not cover text or lines. If seal impression smudges, re-seal if a sufficient area permits, otherwise complete a different acknowledgment form.
- Signature of the notary public must match the signature on file with the office of the county clerk.
 - Additional information is not required but could help to ensure this acknowledgment is not misused or attached to a different document.
 - Indicate title or type of attached document, number of pages and date.
 - Indicate the capacity claimed by the signer. If the claimed capacity is a corporate officer, indicate the title (i.e. CEO, CFO, Secretary).
- · Securely attach this document to the signed document

Company Profile

BOSTON, MA 02116

Company Profile

Company Profile

FIRST NATIONAL INSURANCE COMPANY OF AMI Bond Agreement

175 BERKELEY STREET

Paercage

Agent for Service of Process

KAREN HARRIS, C/O CORPORATION SERVICE COMPANY 2730 GATEWAY OAKS DRIVE, SUITE 100 SACRAMENTO,

CA 95833

Unable to Locate the Agent for Service of Process?

Reference Information

NAIC#:

24724

NAIC Group #:

0111

California Company ID #:

0978-7

Date authorized in California:

January 03, 1929

License Status:

UNLIMITED-NORMAL

Company Type:

Property & Casualty

State of Domicile:

WASHINGTON

Lines of Insurance Authorized to Transact

The company is authorized to transact business within these lines of insurance. For an explanation of any of these terms, please refer to the glossary.

AIRCRAFT

AUTOMOBILE

BOILER AND MACHINERY

BURGLARY

COMMON CARRIER LIABILITY

CREDIT

FIRE

LIABILITY

MARINE

MISCELLANEOUS

PLATE GLASS

SPRINKLER

SURETY

TEAM AND VEHICLE

WORKERS' COMPENSATION

Company Complaint Information

Company Enforcement Action Documents

Company Performance & Comparison Data

Composite Complaint Studies

Want More?

Help Me Find a Company Representative in My Area

Last Revised - May 26, 2011 01:14 PM Copyright © California Department of Insurance